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مقدمه
قدمت و دىرىنگى سرامىک بر کسى پوشىده نىست، آخرىن کاوش هاى باستان شناسى وجود بقاىاى 
سفالىنه ها با قدمت 7000 سال پىش از مىلاد مسىح را تأىىد مى کند. سرامىک ها در طى سالىان متمادى 
داراى تغىىرات فراوان بوده و در سال هاى اخىر رشد چشمگىرى در تمام زمىنه ها، از قبىل فراورى مواد 
مصرفى، چگونگى آماده سازى، تجهىزات و ابزارآلات تولىد، کىفىت محصول و … داشته اند. به گونه اى 
که سرامىک هاى مدرن امروزى در تمام علوم پىشرفته از جمله الکترونىک، هسته اى، نسوزهاى وىژه، 
مواد نانو و … نقش کلىدى دارند و اىن امر را مدىون خلوص بالاى مواد اولىه، محاسبات دقىق، عملىات 

خاص آماده سازى و تکنولوژى تولىد پىشرفتهٔ خود هستند.
ساخت محصولات سرامىکى با کىفىت مطلوب، مراحلى دارد که اولىن قدم آن انتخاب صحىح 
نوع مواد اولىه و مىزان مصرف آن هاست. در اىن کتاب، محاسبهٔ موارد ذکر شده براساس فرمولاسىون 
محصول مورد نظر، در کنار ساىر محاسبات لازم جهت تعىىن انقباض، وزن مخصوص، ضرىب انبساط 
حرارتى، محاسبات وىژهٔ لعاب و محاسبات فرمولاسىون بدنه و … تشرىح شده است. همچنىن آنالىز 
شىمىاىى و مىنرالى مواد اولىه و تبدىل اىن دو آنالىز به ىکدىگر از موارد دىگرى است که در اىن کتاب 

روى آن ها بحث شده است.
کمىسىون تخصصى رشته سرامىک تلاش کرده است محاسبات مورد نىاز در صنعت سرامىک 
را به طور خلاصه و با بىان ساده جهت استفادهٔ بهىنه و کارآمد هنرجوىان رشته به گونه اى گرد هم آورد 

که هنرجوىان عزىز بتوانند دانش علمى خود را به خوبى در عرصهٔ عمل به کار گىرند. 
کمىسىون تخصصى رشتۀ سرامىک
بهار 1387  

قرارداد: در محاسبات مربوط به فصل دوم کتاب )مفهوم درصد و کاربردهاى آن(، اعداد تا دو 
رقم بعد از اعشار رُند مى شوند. در مورد فصل هفتم )محاسبه فرمول زگرلعاب( تا سه رقم بعد از اعشار 

و در مورد فصل هشتم )محاسبه ضرىب انبساط حرارتى( تا چهار رقم بعد از اعشار را رُند مى کنىم.

هدف کلى

آشناىى با محاسبات معمول در صنعت سرامىک و طرىقه حساب کردن پارامترهاى 
مطلوب
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≤‡‡± ÁU~²Ýœ —œ U¼bŠ«Ë b�uAOÄ UÐ v¹UMý¬ ‡‡SI

 r²'OÝ U¹ ÁU~²Ýœ ÈU¼ÅvÖó¹Ë “« vJ¹SIs¹« ÆXÝ« Ê¬ ÈU¼bŠ«Ë —œ v¼œÅÁœ  ULO'Ið s²ý«œ ¨

 “« vÐdC� UÐ ‘œuš fMłÅr¼ dðÅpÇu0 U¹ Ë dðÅ¯—eÐ ÈU¼bŠ«Ë UÐ bŠ«Ë d¼ t0 XÝ« vMF� Ê¬ tÐ  10U¹ 

  

1

10
ÂU� uKł —œ b�uAOÄ  —u^ÅtÐ t0 XÝ« È«ÅÁó¹Ë ÂU� È«—«œ U¼Å»dC� s¹« “« p¹d¼ ÆXÝ« ◊U³ð—« —œ 

® ‰Ëbł —œ U¼b�uAOÄ s¹« ÆœuýÅv� t�U{« U¼bŠ«Ë±‡‡±Æb�«ÅÁbý Áœ«œ `O{uð ©

±łuð b¹UÐ ‡‡Òö¦� b�«ÅÁœu³� —«œ—ušdÐ v�«bMÇ X[œ “« t0 b�«Åt²ý«œ œułË v¹U¼Å”UOI� ÊU�“ “« È«Åt¼dÐ —œ t0 œd0 tÎv�U�“ 

sOMÇ —œ ‰uÞ —«bI� t0 XÝ« hYA� ÆXÝ« ÁœuÐ r¼ “« ©ÁbOA0 X>UŠ —œ® XÝœ Ëœ ÊU²A~�« „u� tK^U� U¹ VłË ‰uÞ œ—«b�U²Ý«

ÆXÝ« dOÖÅÁ“«b�« œd� “« vFÐUð vÝUOI�

≤‡‡ Systeme internationale  ©Èu'�«d� ÊUÐ“ tÐ® 



≥

ö¦�Î® ‰Ëbł tÐ tłuð UÐ ±‡‡±® d?²�Åv²�UÝ ¨©cm® ÂdÖÅvKO� ¨d²� Âb^ p¹ vMF¹ ©mgp¹ vMF¹ ©

® tO�UŁËdJO� ¨ÂdÖ Â—«e¼. s® d²�u�U� Ë tO�UŁ rO�uOKO� p¹ vMF¹ ©nmÆ ì Ë d²� r¹œ—UOKO� p¹ vMF¹ ©

 r²'OÝ —œ U¼bŠ«Ë “« všdÐ ¨U¼b�uAOÄ s¹« dÐÅÁËöŽSIÂU� “« t0 bM²'¼ v�UF{« Ë «eł« È«—«œ 

® ‰Ëbł tÐ Æb�—«œ—ušdÐ eO� vBYA�≤‡‡±ÆbOM0 tłuð ¨XÝ« È«ÅtDÐ«— sOMÇ d~�UOÐ t0 ©

® ‰Ëb?ł —œ Áb?ýÅÅÅÅÅd0– ÈU¼b�uAOÄ “« ÁœUH²Ý« UÐ±‡‡±t?Ð «— b?Š«Ë d¼ t0 œuÐ rO¼«uš —œU[ U� ¨©

ÆrOM0 rO'Ið ÈdðÅ¯—eÐ U¹ Ë dðÅpÇu0 È«eł«

∫s¹dLðÆbO'¹uMÐ «— ©tO�UŁ® ÊU�“ bŠ«Ë ·UF{« Ë «eł« 

b�uAOÄ ÂU�b�uAOÄ vMF�È—UB²š« X�öŽ  

u�U�r¹œ—UOKO� p¹n

ËdJO�rO�uOKO�Åp¹.

vKO�Â—«e¼Åp¹m

v²�UÝÂb^Åp¹c

vÝœr¼œÅp¹d

U0œÁœda

u²J¼b^h

uKO0—«e¼k

U~�ÊuOKO� M

U~OÖœ—UOKO�g

 ‰Ëbł±‡‡±ÈU¼bŠ«Ë ÈuKł —œ tA v¹U¼b�uAOÄ ‡‡

 r².OÝSIb�Ë—Åv� —UAÅtÐ 

·UF{«bŠ«Ë«eł«

  . 1000m ±d²�uKO0d²�® d²�Åv²�UÝ

  

1

100
d²� ©® d²�ÅvKO�ÅÅÅÅ¨

  

1

1000
d²�©

  . 1000kg ±sðÅÂdÖuKO0® ÂdÖ

  

1

1000
ÂdÖuKO0 ©

 ‰Ëbł≤‡‡± r².OÝ ÈU¼bŠ«Ë ·UF{« Ë «eł« ‡‡SI



¥

≥‡‡± r².OÝ —œ vŽd� Ë vKE« ÈU¼bŠ«Ë ‡‡SI

 ÁU~²Ýœ —œSIÈU?¼b?Š«Ë Æb�uýÅv� rO'Ið vŽd� Ë vK^« t²Ýœ Ëœ tÐ ÈdOÖÅÁ“«b�« ÈU¼bŠ«Ë ¨

O?L?0 tÐ ◊uÐd�Ò—u?ÞÅt?Ð U?¼ÅÊ¬ “« p?¹d?¼ «d?¹“ Æb?M?�U�Åv� vK^« ÈU¼bŠ«Ë «— ÊU�“ Ë Âdł ¨‰uÞ ÈU¼ÅX

bŠ«Ë p¹ ¨XŽdÝ bŠ«Ë q¦� v¹U¼bŠ«Ë ÆbM²'O� t²'Ð«Ë d~¹œ ÈU¼bŠ«Ë tÐ Ë b�«ÅÁbý »UY²�« qI²'�

ÈdOÖÅÁ“«b�« «— Ábý vÞ X�U'� Ë ÊU�“ t�UÖ«bł —uÞÅtÐ b¹UÐ U¼ÅÊ¬ ÈdOÖÅÁ“«b�« È«dÐ ÊuÇ ÆbM²'¼ vŽd�

Æœ—Ë¬ XÝœÅtÐ «— XŽdÝ ¨ÊU�“ dÐ X�U'� rO'Ið UÐ fáÝ Ë Áœd0

¥‡‡±‰uÞ ÈdOÖÅÁ“«b�« ‡‡

 Èd?O?ÖÅÁ“«b?�« ÁU?~?²?Ýœ —œ ‰uÞ bŠ«Ë ¨bO�«œÅv� t0—uÞÅÅÊUL¼SI)b?Š«Ë p?¹ ¨d?²� ÆXÝ« d²� ©

U¼Å”UOI� Ë Ê«“Ë« vKKL>«ÅsOÐ f�«dHM0 sOL¼bH¼ —œ Áb�¬ÅqLŽÅtÐ n¹dFð s¹dš¬ o³Þ Ë XÝ« œ—«b�U²Ý«

 ÁU�dN� —œ±≥∂≤ d³²0«® ±π∏≥  b� —œ —u� t0 XÝ« v>uÞ UÐ dÐ«dÐ ©ÈœöO� 

  

1
300,000,000

—œ tO�UŁ 

ÅeO� Åd²�Å—«e¼ d¼ÅË œuýÅv� rO'Ið d²�ÅvKO� —«e¼ U¹ Ë d²�Åv²�UÝ b^ tÐ d²� d¼ t0 rO²HÖÅÆbM0Åv�Å vÞ úšp¹ 

OL0 —«bI� tÐ ̈ ÅÈdOÖÅÁ“«b�« —œ U¼bŠ«Ë s¹« “« p¹d¼ “« ÁœUH²Ý« ÆXÝ« d²�uKO0
Ò

—U0ÅtÐ X[œ Ë dE� œ—u� X

ÈdOÖÅÁ“«b�« «— v>uÞ ̈ g0Åjš “« ÁœUH²Ý« UÐ rO¼«uYÐ dÖ« ‰U¦� —uÞÅtÐ Æœ—«œ v~²'Ð ÈdOÖÅÁ“«b�« —œ t²�—

‰uÞ dÐ t0 È«Åtł—œ qÐUI� “« XÝ—œ œuš rAÇ UÐ Ë Áœ«œ —«d[ dE� œ—u� ‰uÞ —UM0 —œ «— g0Åjš ̈ rOM0

® qJý ÆrO�«ušÅv� ¨XÝ« o³DM� dE� œ—u� ¡vý±‡‡±Æb¼œÅv� ÊUA� «— v²>UŠ sOMÇ ¨©

28/3cm
28/35cm

28/45cm

2928

 qJý±‡‡±Á“«b�« XÝ—œ Êb�«uš “dÞ ‡‡

     jKž b¹œ

     XÝ—œ b¹œ

vI�« 

     jKž b¹œ

ÈÅtł—œ s¹dðÅpÇu0 “« U¹ dðÅ¯—eÐ vKOš Ã—b� g0Åjš ‰uÞ “« t0 «— v¹U¼Å‰uÞ XÝ« vN¹bÐ

d?²?� U?Ð «—Å¯—e?Ð v?KOš ÈU¼Å‰uÞÆrOM0 ÈdOÖÅÁ“«b�« tKOÝË s¹« UÐ rO�«uðÅvL� ¨bMýUÐ dðÅpÇu0 Ê¬ ÈË—

 sOÐ ̈ v>uLF� ÈU¼Åg0Åjš ÈË— Ábý Ã—b� ‰uÞ d¦0«bŠ «d¹“ ̈ rOM0Åv� ÈdOÖÅÁ“«b�«±∞∞‡‡µ∞d²�Åv²�UÝ 



µ

ÈÅt?K?^U?� r?O?�«u?ðÅv?� v?M?F?¹ÆX?Ý« d?²?�Åv?K?O?� p?¹ Áb?ýÅ ÈbMÐÅÅrO'Ið ÈÅtK^U� q[«bŠ sOMâL¼ ÆXÝ«

p¹ ‰uÞ dÖ« ‰U¦� —uÞÅtÐ ÆrOM0 ÈdOÖÅÁ“«b�« ¨d²�ÅvKO� X[œ UÐ d¦0«bŠ «— g0Åjš ÈË— ÁbýÅÅÅÅÅhYA�

 ¡vý ±≥[∑∏ «— Ê¬ ‰u?Þ r?O?²'¼ —œU[ UNMð ¨g0Åjš UÐ U� ¨býUÐ d²�Åv²�UÝ ±≥[∏ U?¹ d²�Åv²�UÝ ±≥∏

Ær¹dO~Ð Á“«b�« d²�ÅvKO�

  p¹ ‰uÞ rO¼«uYÐ dÖ« ¡vý X[œ UÐ «—Å∞[±® d²�ÅvKO� 

  

1

100
d²�Åv²�UÝ ©rOM0 X³Ł Ë ÈdOÖÅÁ“«b�« 

Ë rOM0 ÁœUH²Ý« g0Åjš “« rO�«uðÅvL� d~¹œ ¨rOM0 ÈdOÖÅÁ“«b�« «— t>u> p¹ vł—Uš Ë vKš«œ dD[ U¹ Ë

p¹ Ë Èœôu� Ã—b� g0Åjš p¹ VO0dð “« fO>u0 Ær¹d³Ð —U0ÅtÐ «— fO>u0 ÂU� tÐ Èd~¹œ tKOÝË b¹UÐ

 qJý® XÝ« Ábý XÝ—œ „d×²� tO�—Ë≤‡‡±Æ©

0 1 2 3 4 5 6 10

 qJý≤‡‡±fOMuA ‡‡

vKš«œ ÈÅt�U¼œ 

vł—Uš ÈÅt�U¼œ  

V'ŠdÐ Èœôu� g0Åjš ÆXÝ« Ábý t²�dÖ Èu'�«d� tO�—Ë d¹ÅÅvÄ Ê¬ Ÿd²Y� ÂU� “« ̈ tO�—Ë tLK0

vJÇu0 ÈbMÐÅtł—œ tO�—Ë ÈË— ÆXÝ« qB²� XÐUŁ pšUý p¹ tÐ Ê¬ dÝ p¹ Ë Ábý ÅÃ—b� d²�ÅvKO�

 q�Uý t0 XÝ« Ábý pŠ±∞ ‰œUF� Ë XL'[ π vMF¹ ÆXÝ« d²�ÅvKO� π tÐ ̈ tO�—Ë ÈË— —œ d²�ÅvKO�Å±∞

¨VOðdð s¹bÐ ÆXÝ« Ábý rO'Ið ÈËU'� XL'[

 Á“«b?�« t?Ð t?O?�—Ë t?ł—œ d¼

  

1

10
d?¼ “« d?²?�Åv?K?O� 

t?0 v?F?[u� ÆXÝ« dðÅpÇu0 g0Åjš ÈÅtł—œ

ÈdOÖÅÁ“«b�« tKOÝË Ê«uMŽÅtÐ fO>u0 “« rO¼«ušÅv�

p?šUý ÊUO� «— dE� œ—u� r'ł ¨rOM0 ÁœUH²Ý«

È—u?ÞÅt?Ð rO¼œÅv� —«d[ ©tO�—Ë® „d×²� Ë XÐUŁ

UÐ fáÝ ¨bMýUÐ ”ULð —œ r'ł UÐ U¼ÅpšUý t0

r'ł ‰uÞ d²�ÅvKO� §eł«b²Ð« g0Åjš “« ÁœUH²Ý«

® qJý ÆrO�«ušÅv� «— Ê¬ d²�ÅvKO� r¼œ §eł ̈ tO�—Ë ÈË— “« bFÐ Ë Áb�«uš «—≥‡‡±Ã—b� g0Åjš p¹ ©

 œbŽ t0 b¼œÅv� ÊUA� «— tO�—Ë p¹ Ë±≤[≥ÆœuýÅv� Áb�«uš Ê¬ ÈË— “« d²�ÅvKO� 

.      gAÅjš

tO�—Ë

.

 qJý≥‡‡±ørO�«ušÅv� «— tO�—Ë t�u~Ç ‡‡



∂

® UłÅs¹« —œ Ábý Áœ«œ g¹UL� qJý —œ t0 d²�ÅvKO� d'0∞[≥t0 œuýÅv� sOF� o¹dÞÅÅÅs¹bÐ Ë XÝ« ©

t?Ð j?š s¹« “« dÖ« ÆXÝ« o³DM� g0Åjš ÈU¼Åjš “« vJ¹ tÐ ©Ê¬ dH^ tÐ X³'�® tO�—Ë jš sO�uÝ

U?³ðd� ¨g0Åjš Ë tO�—Ë tł—œ d¼ sOÐ ·ö²š« t0 œuýÅv� Áb¼UA� ¨rOM0 tłuð tO�—Ë dH^ ·dÞÎ ∞[±

 tÐ Uð bÐU¹Åv� g¼U0 d²�ÅvKO�∞[≥ÆbÝdÐ d²�ÅvKO� 

t?�u?L� Êœ«œÅÅÅÅ—«d[ UÐ UNMð t0 XÝ« Ábý t²šUÝÅ v>U²O−¹œ ÈU¼ÅfO>u0 ÊuM0« t0 XÝ« d0– ÊU¹Uý

Áœ«œ ÊU?A?� ©d?²?�Åv?KO� Âb^ œËbŠ —œ v²[œ UÐ® v>U²O−¹œ  —u^ÅtÐ tÞuÐd� ‰uÞ ¨Ê¬ ÈU¼ÅpšUý sOÐ

ÆœuýÅv�

Â—«e?¼ U?ð Èd?O?ÖÅÁ“«b?�« X?[œ È«—«œ t?0 œ—«œ œu?łË Z?M?Ýe?¹— ÂU?�ÅtÐ Èd~¹œ ÈdOÖÅÁ“«b�« tKOÝË

® qJý—œ XÝ« d²�ÅvKO�¥‡‡±ÆbOMOÐÅv� «— ZMÝe¹— p¹ d¹uBð ©

±„d×²� —u×� ‡‡

≤q?×?�®v?�ËdOÐ ·öž ‡‡

©ZMÝe¹— s²�dÖ XÝœ —œ

≥œdÖ “d¼ ‡‡

 qJý¥‡‡±ZMÝe¹— d¹uBð ‡‡

¥rOEMð êOÄ ‡‡

µÁdOÖ ‡‡

∂¡vý s²�dÖ —«dZ q×� ‡‡

µ‡‡ÅÅ±`DÝ t³ÝU×� ‡‡

® lÐd�d²� ̀ DÝ bŠ«Ë ÆbM²'¼ ‰uÞ bŠ«Ë “« o²A� r−Š Ë ̀ DÝ ÈdOÖÅÁ“«b�« ÈU¼bŠ«Ë  m2
©XÝ« 

d²�ÅvKO� Ë d²�Åv²�UÝ V'ŠdÐ «— lÐd� s¹« lK{ ‰uÞ U� dÖ« ÆXÝ« d²� p¹ gFK{ d¼ ‰uÞ t0 vFÐd� vMF¹

® lÐd�d²�Åv²�UÝ ÈU¼bŠ«Ë tÐ «— `DÝ ÁUÖÅÊ¬ ¨rO¼œ g¹UL�  cm2
©® lÐd�d²�ÅvKO� Ë   mm2

©ÆbMM0Åv� ÊUOÐ 

∫s¹dLðøXÝ« lÐd�d²�ÅvKO� bMÇ U¹ Ë lÐd�d²�Åv²�UÝ bMÇ lÐd�d²� p¹ 

 «—u?²Ýœ “« ÁœUH²Ý« UÐ Ê«uðÅv� ¨bM²'¼ vÝbM¼ rEM� ‰UJý« È«—«œ t0 «— vŠuDÝ XŠU'�

‰UJý« “« všdÐ `DÝ t³ÝU×� tÐ ◊uÐd� v{U¹—  «—u²Ýœ ¨t�«œ« —œ Æœd0 t³ÝU×� hYA� v{U¹—

ÆrOM0Åv� d0– ¨È—Ë¬œU¹ —uEM� tÐ «— rEM�

®a©lÐd� lK{ ‰uÞ   . a . a . a2
lÐd� XŠU'� 

®a Ë ‰uÞ b©qOD²'� ÷dŽ . a . bqOD²'� XŠU'� 

≥

¥

≤

µ±

∂



∑

®a Ë ÁbŽU[ ‰uÞ h©ÁbŽU[ dÐ œ—«Ë ŸUHð—« ‰uÞ 

  
.

a . h
2

YK¦� XŠU'� 

®a¨lK{ ‰uÞ h  lK{ dÐ œ—«Ë ŸUHð—« ‰uÞ a©. a . hŸö{ô«ÅÈ“«u²� XŠU'� 

®r ¨Ád¹«œ ŸUFý    . 3 /14©  .  . r2
Ád¹«œ XŠU'� 

t²ý«œ vÝbM¼ rEM�ÅdOž qJý p¹ t0 vð—u^—œ

ÈU¼ÅqJý tÐ Ê¬ rO'Ið UÐ ÊUJ�«  —u^—œ rO�«uðÅv� ̈ rOýUÐ

 «—u?²?Ýœ “« ÁœU?H?²?Ý« U?Ð «— g?Y?Ð d?¼ X?ŠU'� ¨rEM�

qJý q0 XŠU'� t−O²�—œ Ë Áœd0 t³ÝU×� tÞuÐd� v{U¹—

® qJý ̈ ‰U¦� Ê«uMŽÅtÐ Ær¹—Ë¬ XÝœÅtÐ «—µ‡‡Å±dE� —œ «— ©

v?{U¹— —u²Ýœ vKJý sOMÇ ÈÅt³ÝU×� È«dÐ U� Æb¹dO~Ð

s?O?ÇÅj?š “« ÁœUH²Ý« UÐ «— Ê¬ dÖ« U�« Ær¹—«b� vBYA�

 qJý —œ t0µ‡‡±ÆœuýÅv� r¼«d�ÅÅ `DÝ t³ÝU×� ÊUJ�« ¨rOM0 rO'Ið vÝbM¼ ÈU¼ÅqJý tÐ rOMOÐÅv� 

∂‡‡ÅÅ±r−Š t³ÝU×� ‡‡

 ÁU~²Ýœ —œ r−Š ÈdOÖÅÁ“«b�« bŠ«ËMKS® VFJ�d²� ¨  m3
©d?¼ ‰uÞ t0 v³FJ� vMF¹ ÆXÝ« 

® VFJ�d²�Åv²�UÝ ∫“« bMð—U³Ž VFJ�d²� bŠ«Ë È«eł« ÆbýUÐ d²� p¹ Ê¬ lK{  cm3
©VFJ�d²�ÅvKO� Ë  

®  mm3
©Æ

 «—u?²?Ýœ “« ÁœU?H?²?Ý« U?Ð r?O?�«u?ðÅv?� ¨b?M?²'¼ vÝbM¼ rEM� qJý È«—«œ t0 «— v>UJý« r−Š

ÐÅtÝ ‰UJý« ¨d~¹œ ÈuÝ “« ÆrOM0 t³ÝU×� v{U¹—
Ô

Èd~¹œ hšUý È«—«œ r−Š dÐÅÁËöŽ ¨vÝbM¼ ÈbF

t?Ð ◊u?Ðd?� v?{U?¹— ‰u?�d� ¨È—Ë¬œU¹ —uEM�ÅtÐ ÆbM�U�Åv� q0 `DÝ U¹ v³�Uł `DÝ «— Ê¬ t0 bM²'¼ eO�

ÐÅtÝ rEM� ‰UJý« “« vCFÐ q0 `DÝ Ë r−Š t³ÝU×�
Ô

ÆrOM0Åv� d0– «— vÝbM¼ ÈbF

∫s¹dLðøXÝ« VFJ�d²�Åv²�UÝ bMÇ U¹ VFJ�d²�ÅvKO� bMÇ VFJ�d²� d¼ 

                                                                     

  . a3
r−Š 

aVFJ� ‰U¹ ‰uÞ 

 

.

.

.

.

. 

ÅÅÅÅÅÅÅVFJ�

                                                               
  . 6a2

Åq0 `DÝ 

a Ë b Ë cÈU¼Å‰U¹ ‰uÞ 

                       

       . a . b . cr−Š .

.

.

.

.
 

ÅÅÅVFJ�ÅÅ 

qOD²'�ÅVFJ�

ÅÅ                   
          . 2(ab . ac . bc)   q0 `DÝ 

 
qOD²'�

4cm

4cm

3cm

3cm

3cm

3cm

 qJýµ‡‡ÅÅ±



∏

                                                             .  . r2 . hr−Š 

r  ¨ÁbŽU[ ŸUFý hŸUHð—« 

.

.

.

.

.
 

t�«u²Ý«

                          . 2 . r . h . 2 r2 . 2 r(h . r)q0 `DÝ 

                                                                   
.

4

3
 r3

r−Š 

rŸUFý 

 

ÅÅÅ
Ád0

                                                              

  . 4 r2
q0 `DÝ 

Ë dðÅÁœUÝ ÈU¼ÅqJý tÐ U¼ÅqJý s¹« rO'Ið “« rO�«uðÅv� eO� ÁbOâOÄ ÈU¼ÅqJý r−Š œ—u� —œ

tÐÆrOM0 ÁœUH²Ý« XL'[ d¼ r−Š Êœ—Ë¬ÅXÝœ 

s¹dLð

±b?Š«Ë ŸUHð—« UÐ È«Åt�«u²Ý« ÁbŽU[ ŸUFý UÐ È«ÅÁd0 ŸUFý t0 vð—u^—œ ‡‡Å  (h . 1)¨b?ýUÐ dÐ«dÐÅ

∫X'ÐuKD�

t�«u²Ý« r−Š tÐ Ád0 r−Š X³'� ∫n>«t�«u²Ý« q0 `DÝ tÐ Ád0 q0 `DÝ X³'� ∫»         

≤ lK{ UÐ v³FJ� r−Š t0Ås¹« È«dÐ bOM0 »U'Š ‡‡a ŸUFý UÐ È«ÅÁd0 r−Š dÐ«dÐ gý ¨r¨býUÐ 

a Ë røbMýUÐ t²ý«œ r¼ UÐ b¹UÐ v²³'� tÇ 

≥ ‡‡≤∞∞øXÝ« d²�ËdJO� bMÇ Ë d²�ÅvKO� bMÇ d²�Åv²�UÝ 

¥ ŸU?H?ð—« U?Ð t?�«u?²Ý« p¹ r−Š ‡‡µ[± d?D[ Ë d²� ∏∞ V?'?Šd?Ð «— d?²�Åv²�UÝ   mm 3
 Ë   m 3

Æb¹—Ë¬ XÝœÅtÐ

µÆbOM0 »U'Š «— d¹“ qJý `DÝ ‡‡ÅÅ

10
15

35

15

10

4
0

17

.

.

.

.

.



π

ÂËœ qB�

Ê¬ ÈU¼œdÐ—U� Ë b�—œ ÂuNH�

∫È—U²�— ÈU¼Å·b¼∫Åb�«u²Ð qB
 s¹« ÊU¹UÄ “« fÄ ułÅdM¼ œË—Åv� —UE²�« 

±ÆbM! t#¹UI� r¼ UÐ «— ÊU#J¹ bŠ«Ë È«—«œ ÈU¼ÅXOL! ‡‡

≤ÆbM! t³ÝU×� «— eO�¬ p¹ —œ ¡eł p¹ b5—œ ‡‡

≥ÆbM! t³ÝU×� «— U¼ÅÊ¬ —«bI� ¨eO�¬ ¡«eł« b5—œ “« ÁœUH²Ý« UÐ ‡‡

¥Æb¼œ `O{uð ‰U¦� p¹ UÐ eO�¬ ¡«eł« t³ÝU×� —œ «— b5—œ œdÐ—U! ‡‡

U¼ÅXOL� ÈÅt�¹UI�

d?~?¹b?J?¹ U?Ð o?¹dÞ Ëœ tÐ Ê«uðÅv� ¨ÅbMýUÐ nK²G� d¹œUI� Ë ÊU#J¹ bŠ«Ë È«—«œ t!Å«—Å XOL! Ëœ

∫Å“« bMð—U³Ž o¹dÞ Ëœ s¹« ÆÅœd! t#¹UI�

±U¼ÅÊ¬ ·ö²š« ÈË— “« ‡‡ 

≤Èd~¹œ “« U¼ÅXOL! s¹« “« vJ¹ t! vðUF
œ œ«bFð d~¹œ  —U³Ž tÐ U¹ Ë U¼ÅÊ¬ X³#� ÈË— “« ‡‡ 

ÆÅXÝ« dðÅ¯—eÐ U¹ Ë dðÅpÇu!

ö?¦�Îr?#?ł Ëœ t!Åvð—u5 —œ ∫ÅA Ë B ÈU?¼ÅÊ“Ë UÐ±≤kgË≥kgt?#?¹U?I?� ¨År?¹dO~Ð dE� —œ «— 

ÆÅœuý ÊUOÐ d¹“ ÈU¼Å —u5ÅtÐ b�«uðÅv� r#ł ËœÅs¹«

sOÐ Ê“Ë ·ö²š« ‡‡ nQ«AË B UÐ dÐ«dÐ πkg r#ł vMF¹ ÆÅXÝ« A ÈÅÁ“«b�« tÐ πkgr#ł “« 

BÆÅXÝ« dðÅsO~MÝ 

ÂU#ł« Ê“Ë sOÐ X³#� ‡‡ » AË B∫Å“« bMð—U³Ž

Ê“Ë Ê“Ë

   

B           
A            

= 3

12
= 1

4
  

U¹
  

  

A            
B            

=
12

3
=

4

1 Ê“Ë Ê“Ë

r#ł Ê“Ë vMF¹Ar#ł dÐ«dÐ —UNÇ B r#ł Ê“Ë U¹ Ë Br#ł Ê“Ë Â—UNÇ p¹ AÆÅXÝ« 

b�—œ n¹dFð

r?#ł dÖ« XHÖ Ê«uðÅv�Ar?#?ł —«b?I� ¨ÅrOM! rO#Ið ÈËU#� XL#V b5 tÐ «—  B ‰œU?F�≤µ



±∞

∫ÅXý«œ ÊUOÐ d¹“  —u5ÅtÐ Ê«uðÅv� «—  —U³Ž s¹« ÆÅXÝ« XL#V

  25 - r#ł Ê“ËÅA r#ł Ê“Ë Ω ÅB

r#ł ∫t! vMF�Ås¹bÐB    25 - ®Å≤µr#ł “« ©Åb5—œ A∫bOM! tłuð d¹“ ÈU¼Å‰U¦� tÐ ÆÅXÝ« 

  3 -ð p¹ Ô∫ÅUÐ XÝ« dÐ«dÐ s

  

3

100
× (1 × 1000) = 30kg

  63 - “« ±πm∫ÅUÐ XÝ« dÐ«dÐ

63

100
× 19 =11/ 97m

  6 -∫ÅUÐÅ XÝ« dÐ«dÐ ‰U¹— bB�UÄ Ë —«e¼ÅXH¼ “« 

 ‰U¹—¥µ∞Å  7500=
  

6

100
×

ö¦� ÆÅrOM!Åv� ÁœUH²Ý« b5—œ ÂuNH� “« Áœd²#Ö —uÞÅtÐ ¨ pO�«dÝ l¹UM5 —œÎp¹ eO�¬ ÊUOÐ —œ 

U?¼—U?Ð t?LK! s¹« ÆÆÆËÅ ÷U³I�« ÈÅt³ÝU×� È«dÐ ¨Å»UžËœ tÐ “U#�«Ë— —«bI� ÊœËe
« È«dÐ ¨Å»UFQ U¹ t�bÐ

 È«—«œ v?J?O?�«d?Ý e?O?�¬ p?¹ r?O?¹u?ÖÅv� v²VË ¨Å‰U¦� —uÞÅtÐ ÆÅœË—Åv� —U!ÅtÐ  28 / 7 -Ë X?Ý« s?OQuzU!ÅÅ

 —œ t! rO�«bÐ rO¼«ušÅv�  3/6ð ÔøÅr?O?M! ·dB� ÂdÖuKO! V#ŠdÐ sOQuzU! —«bI� tÇ b¹UÐ eO�¬ s¹« “« s

∫ÅrOM!Åv� qLŽ qJý s¹bÐ

3 / 6 × 1000= 3600kg

28 / 7 - × 3600=
28 / 7

100
× 3600=1033kg =1/033ton

dÖ«¥∞kgÈ«eł« q�Uý ◊uKG� p¹ “«  AË Beł —«bI� Ë¡


 A◊uKG� s¹« —œ ≤µkg¨ÅbýUÐ

§eł rNÝ t! XÝ« vN¹bÐ  —u5 Ê¬ —œA eO� ◊uKG� s¹« —œ   62 / 5 -v{U¹— t³ÝU×� È«dÐ ÆÅXÝ« 

∫ÅrOM! qLŽ sOMÇ rO�«uðÅv� ¨Åt−O²� s¹«

25

40
× 100=62 / 5 -

«— e?O�¬ p¹ —œ ¡eł p¹ b5—œ rO¼«ušÅv� t!Åv�U~M¼ ¨ÅÁbý ÂU−�«  UOKLŽ v�uLŽ ÊUOÐ È«dÐ

q5UŠ Ë rO#Ið ”UOI� ÊUL¼ UÐ ◊uKG� q! —«bI� tÐ «— hGA� bŠ«Ë UÐ ¡eł Ê¬ —«bI� ̈  rOM! t³ÝU×�

 œbŽ —œ «—±∞∞∫ÅrOM!Åv� »d{ 

©sOF� bŠ«Ë UÐ® §eł —«bI�

Å® tDÐ«—± ‡‡Å≤   ©Å

  
=                                                  × 100 b5—œ łe¡

©bŠ«Ë ÊUL¼ UÐ® q! —«bI�

∫e¹eŽ ÊU¹ułdM¼ tłuð qÐUV

“« bFÐ œ«bŽ« t! v¹Uł —œ ÆXÝ« —UAŽ« “« bFÐ rV— Ëœ Uð »U²! qB
 s¹« —œ  U³ÝU×� ÈUM³�



±±

  —u5Ås¹bÐ ¨býUÐ rV— Ëœ “« gOÐ —UAŽ« —
Ô

 ÈËU#� U¹ dðÅpÇu! Â—«e¼ dÖ« ∫œuýÅv� b�µrV— Ëœ Uð ¨œuÐ 

 ÈËU#� U¹ dðÅ¯—eÐ Â—«e¼ dÖ« U�« ̈ œuýÅv� t²ýu� —UAŽ« “« bFÐµÆœuýÅv� dðÅgOÐ bŠ«Ë p¹ Âb5 rV— œuÐ 

∫År?N� d�cðÅ® t?D?Ð«— —œ t?! Èd¹œUI� ¨Åb5—œ ÈÅt³ÝU×� —œ ±Å‡‡Å≤È«—«œ b?¹U?Ð ¨Åb�dOÖÅv� —«dV ©Å

ÆÅbMýUÐ ÊU#J¹ bŠ«Ë

l?¹U?M?5 —œ b?5—œ ÈU?¼œd?Ð—U?! “« È«ÅtŽuL−� U−M¹« —œ ¨ÅVKD� d²NÐ rN
 Ë Êbý sýË— È«dÐ

ÆÅrO¼œÅv� ÊUA� «— pO�«dÝ

 ‰U¦�± ∫Å≥ð Ô È«—«œ vJO�«dÝ eO�¬ p¹ “« sπ∞∞fOKOÝ b5—œ bMÇ ÆÅXÝ« fOKOÝ ÂdÖuKO! 

øÅXÝ« Ábý ·dB� eO�¬ s¹« —œ

∫ÅqŠŠ È«dÐ qÒ∫ÅfÄ ÆÅœd! ÊU#J¹ «— U¼bŠ«Ë «b²Ð« b¹UÐ tQQ#� s¹« 

3ton = 3 × 1000= 3000kg
                                                                        

¡eł —«bI�

=
                   

× 100§eł b5—œ 

                                       
q! —«bI�                                  

=
900

3000
× 100= 30-

 ‰U¦�≤∫Å¨Åv?JO�«dÝ »UžËœ p¹ tONð È«dÐ ∂∞∞ t?Ð «— v?JO�«dÝ pAš —œuÄ ÂdÖuKO! ≥∞∞

dÐ«dÐ »¬ d²OQ d¼ Ê“ËÅ® ÆÅbOM! t³ÝU×� «— »UžËœ s¹« b�Uł œ«u� Ë »¬ b5—œ ÆÅr¹«ÅÁœd! t
U{« »¬ d²OQ

 UÐ±kgÆ©ÅXÝ«

∫ÅqŠ∫ÅrOM!Åv� ÊU#J¹ «— U¼bŠ«Ë «b²Ð« —œ 

  kg Å≥∞∞Ê“Ë Ω ≥∞∞ »¬d²OQ ⇒ ±kg»¬ d²OQ p¹ Ê“Ë ÅΩÅ

  π∞∞kgΩ ≥∞∞kg ´ »¬ ∂∞∞kg»UžËœ q! Ê“Ë Ω b�Uł œ«u� 

       ∫fÄ  

  
=

300

900
× 100= 33 / 33 -  »U‡žËœ —œ œu‡łu� »¬ b5—œ ⇒

       

  
=

600

900
× 100=66 / 67 -»UžËœ —œ œułu� b�Uł œ«u� b5—œ 

  = 33 / 33 +66 / 67 =100¡«eł« ŸuL−� 

 dÐ«dÐ «eł« ŸuL−� t! bOM! tłuð  100/00-ÆXÝ« 

 ‰U¦�≥∫Å ÈbMÐÅt�«œ ≤∫XÝ« d¹“  —u5ÅtÐ vJO�«dÝ —œuÄ p¹ “« ÂdÖ

‡‡ nQ«≤∏¥[± ÈËU#� U¹ dðÅpÇu! Ê¬ “« ÂdÖ 
  
1µ mÆÅXÝ« 



±≤

 ‡‡ »¥∏¥[∞ “« dðÅ¯—eÐ Ê¬ “« ÂdÖ 
  
1µ m “« dðÅpÇu! Ë 

  
5 µ mÆÅXÝ« 

 ‡‡ Ã≤≥≤[∞ ÈËU#� U¹ dðÅ¯—eÐ Ê¬ “« ÂdÖ 
  
5 µ mÆÅXÝ« 

ÆÅbOM! t³ÝU×� «—  «—– Á“«b�« “« p¹ d¼ b5—œ

∫ qŠ 

  
=

1/ 284

2
× 100= 64 / 2- “« dðÅpÇu!  «—– b5—œ 

  
1µ m

    

  
=

0/ 484

2
× 100= 24 / 2- “« dðÅ¯—eÐ  «—– b5—œ 

  
1µ m “« dðÅpÇu! Ë 

  
5 µ m

 =
0/ 232

2
× 100=11/ 6 - “« dðÅ¯—eÐ  «—– b5—œ 

  
5 µ m

 ‰U¦�¥∫  ÈËUŠ vJO�«dÝ ÈÅt�bÐ p¹ ≤±µÂdÖuKO! ¨ÅvK!Å‰UÐ≤±∞¨ÅsOQuzU! ÂdÖuKO!≤∑µÂdÖuKO!

 Ë fOKOÝ±µ∞ÂdÖuKO!Æ bOM! «bOÄ b5—œ V#Š dÐ «— —u!c� eO�¬ ÆÅXÝ«  UáÝbK


∫ÅqŠ∫ÅrOM!Åv� »U#Š «— q! Ê“Ë «b²Ð« 

  
215 kg +210kg +275 kg +150kg = 850kg

                                   ∫Xý«œ rO¼«uš ‰UŠ=
215

850
× 100= 25 / 29-vK!Å‰UÐ b5—œÅ

   =
210

850
× 100= 24 / 71-sOQuzU! b5—œÅ

   =
275

850
× 100= 32 / 35 -fOKOÝ b5—œÅ

                

  
=

150

850
× 100=17 / 65 - UáÝbK
 b5—œÅ

¡«eł« ŸuL−�  25 / 29 +24 / 71+ 32 / 35 +17 / 65 =100

ÈËU?#?� b?5—œ V?#?Šd?Ð «e?ł« Ÿu?L?−?� t?! X?Ý« s?JL�  UVË« v¼UÖ t! bOýUÐ t²ý«œ tłuð

  100/00ö¦� Ë œuA� Î ÊuâL¼ Èd¹œUI� UÐ   99 / 98 U¹   100/10 U¹   100/06ÆÅr¹uý tł«u� ÆÆÆU¹ Ë 

“« f?Ä rV— Ëœ Uð «— œ«bŽ« ÊuÇ®ÅÅÅr¹dÐÅv� —U!ÅtÐ  U³ÝU×� —œ U� t! XÝ« v³¹dIð qOQœÅtÐ ¨XOF{Ë s¹«

 —UAŽ«—
Ô

Æ©rOM!Åv� b�

 ‰U¦�µ∫ÅÅ Ê“Ë tÐ ÈeO�¬ rO¼«ušÅv� ±≤µ∞Ë« œ«u� “« ÁœUH²Ý« UÐ «— ÂdÖuKO!Ò»UFQ È«dÐ ¨Åd¹“ tOQ

  V#ŠdÐ «— Â“ô È«eł« “« p¹ d¼ —«bI� ÆrOM! ÁœU�¬ vJO�«dÝ t�bÐ p¹kgÆÅbOM! t³ÝU×�

   33 / 39XL#Veð—«u!

  36/35XL#VsOQuzU!

   1/9XL#VXO�uQËœ



±≥

  10/ 28XL#Vp¼¬ @MÝ     

  26/73XL#V tð«—bO¼ÅÈœ f!«—uÐ            

  3/37XL#V  UMÐd! r¹bÝ

∫qŠ«— ¡eł d¼ b5—œ «b²Ð« b¹UÐ fÄ X#O� b5—œ V#Š dÐ Ábý tz«—« eO�¬ t! rOM!Åv� Áb¼UA� 

 UÐ XÝ« dÐ«dÐ —«bI� s¹« t! r¹—«œ ÃUO²Š« ôUÐ È«eł« ŸuL−� tÐ «b²Ð« ÆÅrOM! t³ÝU×�  112/02ÆÅ

ÆÅrOM!Åv� t³ÝU×� «— ¡eł d¼ b5—œ ‰UŠ

 

  
=

33 / 39

112 /02
× 100= 29 / 81-eð—«u! b5—œÅ

   

  
=

36 / 35

112 /02
× 100= 32 / 45 -sOQuzU! b5—œÅ

    

  
=

1/ 9

112 /02
× 100=1/ 70-XO�uQËœ b5—œÅ

 

  
=

10/ 28

112 /02
× 100=9 /18 -p¼¬ @MÝ b5—œÅ

  
=

26 / 73

112 /02
× 100=23 / 86 -tð«—bO¼ÅÈœÅÅÅÅf!«—uÐ b5—œÅ

  
=

3 / 37

112 /02
× 100= 3 /00- UMÐd! r¹bÝ b5—œÅ

b5—œ Êœd! »d{ UÐ ‰UŠ ÆÅr¹œ—Ë¬ XÝœÅtÐ tOQË« œ«u� b5—œ V#Š dÐ «— »UFQ eO�¬ VOðdð s¹« tÐ

 V#ŠdÐ «— «eł« s¹« “« p¹ d¼ “UO� œ—u� —«bI� ¨Åq! Ê“Ë —œ ¡«eł« “« p¹ d¼kgÆr¹—Ë¬Åv� XÝœ tÐ 

  
ÅÅÅÅÅ           ÅÅ                 

 
ÅÅÅÅÅÅÅ                

 q! —«bI�

  

             
 100 

× ¡eł —«bI� ΩÅÅÅÅÅ

  

                                          
  

× 100 ⇒¡eł b5—œΩ

                                                                   ©bŠ«Ë ÊUL¼ UÐ® q! —«bI�ÅÅÅÅÅÅÅÅÅÅ
Å

ÅÅ                  

   =0/ 2981 × 1250kg = 372 / 62kg“UO� œ—u� eð—«u!ÅÅ

=0/ 3245 × 1250kg = 405 / 63kg“UO� œ—u� sOQuzU!ÅÅ

=0/0170 × 1250kg = 21/ 25kg“UO� œ—u� XO�uQËœÅÅ

  
=0/0918 × 1250kg =114 / 75kg“UO� œ—u� p¼¬ @MÝ 

             Å=0/ 2386 × 1250kg = 298 / 25kg“UO� œ—u� tð«—bO¼ÅÈœ f!«—uÐÅÅ

  =0/0300 × 1250kg = 37 / 5kg“UO� œ—u�  UMÐd! r¹bÝÅÅ

 ‰U?¦�∂∫  t?Ð “U?O?� v?â?Ö V?QUV p¹ XšUÝ È«dÐ ±µ—œ ÆÅr?¹—«œ »¬ Ë ê?Ö “« v?ÐU?žËœ ÂdÖuKO!

Å UÐ dÐ«dÐ »¬ tÐ êÖ X³#� t!Åvð—u5

  

4

3
ÆÅbOM! »U#Š «— “UO� œ—u� »¬ Ë êÖ —«bI� ¨ÅbýUÐ 

∫ qŠÆÅrO�«bÐ êÖ Ë »¬ ◊uKG� —œ «— p¹d¼ b5—œ b¹UÐ «b²Ð« ¨Å»¬ Ë êÖ d¹œUI� t³ÝU×� È«dÐ 

Å©sOF� bŠ«Ë UÐ® ¡eł —«bI�  ¡eł b5—œ



±¥

 »¬ tÐ êÖ X³#� t!Ås¹« tÐ tłuð UÐ

  

4

3
 —UNÇ d¼ È«“«ÅtÐ ̈ ÅXÝ« fÄ ÆÅr¹—«œ “UO� »¬ XL#V tÝ êÖ XL#V

UŽuL−�Î    4+ 3 œ«u� XL#V ®∫Åt−O²�—œ Ë r¹—«œ ©Å»¬ Ë êÖ q�UýÅ

      

¡eł —«bI�                                                                    

ÅÅÅÅÅÅÅ             ÅÅ 

               
  

× 100 Ω 
¡eł b5—œ

ÅÅÅÅÅ     Å

              

ÅÅ               

êÖ b5—œÅ 

  
=

3

4+ 3
× 100=42 / 85 -»¬ b5—œ 

  
=

57 /14

100
× 15 =8 / 751kg“UO� œ—u� êÖ —«bI�Å⇒

  
=

42 / 85

100
× 15 =6 / 428kg“UO� œ—u� »¬ —«bI� 

tł«u� VO!dð Ë œUFÐ« ̈ ÅÊ“Ë  «dOOGð UÐ vJO�«dÝ  UFDV XšUÝ bM¹¬d
 ÈU¼ÅXL#V “« vCFÐ —œ

ôuLF� eO�  «dOOGð s¹« ÆÅr¹uýÅv�ÎtÝ b¹UÐ ̈ Å «dOOGð t�uÖ s¹« ÊUOÐ È«dÐ ÆÅb�uýÅv� ÊUOÐ b5—œ V#Š dÐ 

∫ÅX
dÖ dE� —œ «— q5«Å

±OL! p¹  «dOOGð ‡‡
Ò

ÈU¼ÅXQUŠ sOÐ ·ö²š« “« ÁœUH²Ý« UÐ Ê«uðÅv� «— dE� œ—u� XO5Uš U¹ X

O?L! v¹UN� Ë tOQË«
Ò

ö?¦?� ÆÅœd! vÐU¹“—« dE� œ—u� XO5Uš U¹ XÎ t?O?QË« ‰uÞ “« tFDV p¹ dÖ« ∑∞bŠ«Ë 

 t?Ð Ê¬ ‰u?Þ ¨ÅÊbý ÂdÖ dŁ« —œ Ë ÁœuÐ —«œ—ušdÐ∑¥t?! v?Qu?Þ d?OOGð —«bI� ¨XÝ« t²
U¹ g¹«e
« bŠ«Ë 

 UÐ dÐ«dÐ XÝ« t²
d¹cÄ  —u5¥ÆÅXÝ« bŠ«Ë 

≤O5Uš —œ  «dOOGð X³#� ‡‡ÒOL! Ë XÒ∫œuýÅv� ÊUOÐ d¹“ ÈÅtDÐ«— “« ÁœUH²Ý« UÐ ¨ÅdE� œ—u� X

                       «dOOGð —«bI�       tOQË« —«bI�        t¹u�UŁ —«bI�

=
                     

=
                 −                     

 
 «dOOGð X³#�

                                  

tOQË« —«bI�                    tOQË« —«bI�

∫Xý«œ rO¼«uš ôUÐ ‰U¦� È«dÐ t−O²� —œ

  
=

70− 74

70
=

−4

70
ÅÅ‰uÞ  «dOOGð X³#�

≥OL!  «dOOGð b5—œ ‡‡Ò∫Å“« œuÐ b¼«uš  —U³Ž dE� œ—u� X

   =
−4

70
× 100= ‰uÞ  «dOOGð b5—œ   × 100     ⇒  «dOOGð X³#� = «dOOGð b5—œ 

 ©‰uÞ g¹«e
«®  −5 / 71-

ÆXÝ« ◊U#³�« ÈÅÁbM¼œÅÊUA� UłÅs¹« —œ vHM� X�öŽ 

= 4
4 + 3

× 100= 57 /14-

q! —«bI�



±µ

 ‰U¦�∑∫Èe?K?
 t?KO� p¹ ÈÅtOQË« ‰uÞ ¥∞cm U?ð «— tKO� s¹« v²VË ÆÅXÝ«     1200oC —«d?Š 

 Uð Ê¬ ‰uÞ ¨ÅrO¼œÅv�  41/ 2cm ÈU�œ —œ tKO� s¹« vð—«dŠ ◊U#³�« —«bI� ÆbÐU¹Åv‡� g¹«e
«     1200o C

Êbý œdÝ “« fÄ «— ÈeK
 ÈÅtKO� s¹« vð—«dŠ ◊U#³�« b5—œ —«bI� ÆÅbOM! »U#Š b5—œ V#ŠdÐ «—

ÆbOM! t³ÝU×� eO� jO×� ÈU�œ tÐ

∫ qŠ∫ÅXý«œ rO¼«uš ¨Åbý t²HÖ tÇÅÅÊ¬ tÐ tłuð UÐ 

                                                 
t¹u�UŁ ‰uÞ®− tOQË« ‰uÞ©

 Å

  
=

                                       
× 100 «dOOGð b5—œÅ 

                                                           

tOQË« ‰uÞ

  

  
=

40− 41/ 2( )
40

× 100=
−1/ 2

40
× 100

 ÅÅ                                 ÆXÝ« ◊U#³�« t�UA� vHM� X�öŽ          = −3 -ÅÅ

‰uÞ ÊUL¼ tÐ Ë Ábý i³IM� Á—UÐËœ œuý œdÝ jO×� ÈU�œ Uð ÈeK
 tKO� dÖ« XÝ« vN¹bÐcm ¥∞

ÆbOÝ— b¼«uš

=
40− 40

40
× 100=0jO×� ÈU�œ tÐ ÊbOÝ— “« fÄ  «dOOGð b5—œ 

 ‰U¦�∏∫  µgqš«œ ̈ ÅbOÝ« dÐ«dÐ —œ X�ËUI� g¹U�“¬ ÂU−�« È«dÐ «— —Ë Êu²Ý« ÈÅt�bÐ p¹ —œuÄ 

 tÐ t�uL� Ê“Ë g¹U�“¬ ÂULð« “« fÄ Ær¹e¹—Åv� b¹dK! Ê˛Ë—bO¼ bOÝ«   4/99gb5—œ ÆÅXÝ« Åt²
U¹ g¼U!

ÆÅbOM! t³ÝU×� «— Ê“Ë X
«

∫ qŠ

                                              t¹u�UŁ Ê“Ë−tOQË« Ê“Ë 

  
=

                                  
× 100Ê“Ë  «dOOGð b5—œ 

                                                       
tOQË« Ê“Ë

  

  
=

5 /00− 4 / 99

5 /00
× 100

                     =0/ 2-

 ‰U¦�π∫  œuš pAš XQUŠ tÐ X³#� ¨ÅXGÄ  UOKLŽ ÊU¹UÄ “« fÄ vÝ— ÈÅt�bÐ p¹   8-X
« 

 tFDV s¹« XGÄ “« fÄ Ê“Ë t! vð—u5 —œ ÆÅXÝ« Áœd! «bOÄ Ê“Ë±µ∞g«— t�uL� s¹« tOQË« Ê“Ë ¨ÅbýÅUÐ

ÆÅbOM! t³ÝU×� ©ÅpAš XQUŠ —œÅ®



±∂

∫ qŠ

  

t¹u�UŁ Ê“Ë®
ÅÅ− tO�Ë« Ê“Ë©

               

Ê“Ë  «dOOGð —«bI�Å  

  
=

                                    
× 100

  
=

                             
× 100Ê“Ë  «dOOGð b�—œÅ 

∫fÄ

    

tO�Ë« Ê“Ë

                                 

tO�Ë« Ê“Ë

                               
   

t¹u�UŁ Ê“Ë  −tO�Ë« Ê“Ë 

 = 8- =
                                    

× 100v�“Ë  «dOOGð b�—œ 

                                            

tO�Ë« Ê“Ë

 UÐ «— tO�Ë« Ê“Ë ¨Å—U# v²Š«— È«dÐÅ®wi
¿

ÅrO¼œÅv� g¹UL� ©∫Å

  

8

100
=

wi −150( )
wi

  
⇒

8

100
× wi = wi −150   ⇒    wi −

8

100
wi = 150 ⇒   

92

100
wi = 150

  
⇒ wi =

150

0/ 92
= 163g

s¹dLð

± X³.� UÐ rO¼«ušÅv� ‡‡

  

1

200

 tONð È«dÐ ̈ ÅrOM# t3U{« ÈeO�¬ tÐ «— X�U³# t�«b~�— ̈  ∏s¹« “« sð 

øÅœ«œ b¼«uš qOJAð «— eO�¬ q# “« Èb�—œ tÇ X�U³# —«bI� s¹« øÅXÝ« Â“ô X�U³# —«bI� tÇ eO�¬

≤ Á—u# p¹ ©vK# XO3dþ® bOH� r−Š ‡‡  42 / 5m3
—œ —UÖUÝ “« ÁœUH²Ý« UÐ t# v3Ëdþ r−Š Ë ̈

 ¨Åb�uýÅv� ÈdOÖ—UÐ Á—u# s¹«  32 / 3m3
ÆÅXÝ« 

øÅœuýÅv� ‰UGý« ·Ëdþ jÝuð Á—u# r−Š “« Èb�—œ tÇ ‡‡ n�«

—«bI� tÇ Á—u# —œ ©ÅÁœUH²Ý« qÐUP dOž ÈUC3Å® bOH�dOž ÈUC3 Ë ·Ëdþ r−Š sOÐ X³.� ‡‡ »

øÅXÝ«

≥Å® ‰Ëbł  —u�ÅtÐ ©Åf#ö3Å® —Ë¬“«bÖ ÈÅÁœU� p¹ v�“Ë X³.� ‡‡ ±Å‡‡Å≤v�“Ë b�—œ ÆÅXÝ« ©Å

ÆÅbOM# t³ÝU×� «— Ê¬ ÈÅÁbM¼œÅqOJAð œ«u�

¿® f¹b�«  ‡‡ i ÈÅtLK# “« ©initialÆXÝ« Áb�¬ 

ÁœU
 ÂU�bO��« »dÝf�«—uÐ “ö�uð—«ÅÅÅ      eð—«u�©pOÝU²Ä  UáÝbK&®

v�“Ë X³.�∏≤≥±

 ‰Ëbł±‡‡≤—Ë¬“«bÖ ÈÅÁœU
 p¹ v�“Ë X³�� ‡‡



±∑

¥ “u?.?�d?ł¬ p¹ tO�Ë« ‰uÞ ‡‡   14 /187cmÈU?�œ t?Ð Êœd?# œdÝ Ë s²\Ä “« fÄ Ê¬ ‰uÞ Ë 

 UÐ dÐ«dÐ jO×�  14 /12cmÈU�œ tÐ ÊbOÝ— Ë Êb¹œ  —«dŠ “« fÄ «— dł¬ s¹« ‰uÞ dOOGð b�—œ ÆÅXÝ« 

ÆÅbOM# t³ÝU×� jO×�

µ UÐ dÐ«dÐ s²\Ä “« fÄ vÝ— tFDP p¹ Ê“Ë ‡‡ 
  
32 / 41gs¹« v�“Ë X3« t#Åvð—u� —œ ÆÅXÝ« 

 Êœ«œ  —«dŠ t−O²� —œ tFDP  12 / 6 - Ê“Ë ¨ÅbýUÐ ÆÅbOM# t³ÝU×� «— Ê¬ tO�Ë«

∂Å® ‰Ëb?‡?ł —œ ©Å»Å® Ë Å©Ån?�«Å® »U?F?� Ëœ eO�¬ ‡‡ ≤Å‡‡Å≤œ«u?‡?� v?‡?�“Ë b?�—œ ÆÅX?Ý« œu‡łu‡� ©Å

Èd?ðÅg?O?Ð —«b?I?� ÈËUŠ p¹ÅÅÂ«b# t# bOM# h\A� Ë Áœd# t³ÝU×� «— »UF� Ëœ Ås¹« ÈÅÁbM¼œÅÅÅÅqOJAð

ÆÅXÝ«  UJOKOÝ »dÝ

∑b?�—œ t?# b?¼œÅv?� ÊU?A?� ÂU?š v?J?O�«dÝ ÈÅt�bÐ t�uL� p¹ ÈË— Ábý ÂU−�« ÈU¼Åg¹U�“¬ ‡‡ 

 Ê¬ —œ œułu� fOKOÝ  68 / 42- Ê¬ vð—«dŠ X3« Ë   7 / 8 -fÄ «— t�bÐ s¹« fOKOÝ b�—œ ÆÅXÝ« 

ÆÅbOM# t³ÝU×� X\Ä “«

 ‰Ëbł≤‡‡≤©»® Ë ©n5«® ÈU¼Å»UF5 “« eO
¬ Ëœ ‡‡

ÁœU
 Ÿu� UJOKOÝ »dÝvðUJOKOÝ Ë —uÐ X¹d&eð—«u�sO5uzU�

©n�«® »UF�∑∞[µ∞±∏π[π∞µ¥[∞∞¥∏[≤∞

©»® »UF�µ∏[±∞±∏≥[≤∞±π[≥∞±≥[µ∞



±∏

ÂuÝ qB�

÷U³I�« 

∫È—U²�— ÈU¼Å·b¼∫Åb�«u²Ð qB� s¹« ÊU¹UÄ “« fÄ ułdM¼ œË—Åv� —UE²�« 

±Æb¼œ `O{uð «— vL−Š Ë vDš ÷U³I�« ‡‡

≤ÆÅbM/ t³ÝU×� «— pAš ÷U³I�« b5—œ ‡‡

≥ÆÅbM/ «bOÄ «— X8Ä ÷U³I�« b5—œ ‡‡

¥ÆÅbM/ t³ÝU×� «— q/ ÷U³I�« b5—œ ‡‡

µÆb¼œ Õdý U¼ÅpO�«dÝ bO=uð —œ «— ÷U³I�« b5—œ œdÐ—U/ ‡‡ÅÅ

∂ÆbM/ t³ÝU×� «— vL−Š ÷U³I�« b5—œ ‡‡ÅÅ

±‡‡≥vDš  ÷U³I�« ‡‡

±‡‡±‡?‡≥ ∫p?A?š t?Ð dð ÷U³I�« ‡‡“« «— œu?š X?Ðu?Þ— v?Ý—  U?FDC ¨ÅÊbý pAš sOŠ

ÊU?J?�« Ë t?²?�d?Ö —«d?C v?Ý—  «—– s?O?Ð —œ t?/ XÝ« Èœ«“¬ »¬ lC«Ë —œ XÐuÞ— s¹« ÆÅbM¼œÅv� XÝœ

U³=Už ¨ÅÊbý pAš sOŠ XÐuÞ— s¹« Êbý Ã—Uš ÆÅœ—Ë¬Åv� r¼«d� «— t�bÐ v¼œÅqJýÎÁ«dL¼ v{U³I�« UÐ 

U?�u?L?Ž ÆÅb?M¹uÖ pAš ÷U³I�« U¹ pAš tÐ dð ÷U³I�« Ê¬ tÐ t/ ¨XÝ«Ît?K?Šd� ŸËdý —œ t/ vðUFDC 

U?� ÆÅb?M?¼œÅv?� ÊU?A?� œu?š “« «— ÈœU¹“ pAš ÷U³I�« ¨Åb�—«œ—ušdÐ v¹ôUÐ XÐuÞ— “« Êbý pAš

ÆÅrOM/ t³ÝU×� b5—œ VVŠdÐ «— ÷U³I�« s¹« —«bI� rO�«uðÅv�

 Êb?ý p?A?š “« gOÄ «— tFDC ‰uÞ t/ vð—u5 —œLWÅÅÅÊbý pAš “« fÄ Ë LD¨År?O�UMÐ 

Å® tDÐ«— “« ÁœUH²Ý« UÐ rO�«uðÅv� «— pAš ÷U³I�«±Å‡‡Å≥∫ÅrOM/ t³ÝU×� ©Å

 tDÐ«— s¹« —œSDÆÅXÝ« pAš ÷U³I�« ·dF� 

Å® tDÐ«—±Å‡‡Å≥©Å

  

SD =
LW − LD

LW
× 100

± ‡‡ W ÈÅtLK/ nH8� Wet©Ådð vMF� tÐÅ® DÅÈÅtLK/ nH8� DriedÅ¨©ÅÁbý pAš vMF� tÐÅ® LÅÈÅtLK/ÅnH8�ÅÅh LengtvMF�ÅÅÅtÐÅ®

 ËÅÅ©‰uÞ SÈÅtLK/ nH8�ShrinkageÆÅXÝ« ©Å÷U³I�« vMF� tÐÅ® 

±



±π

 ‰U?¦%± ∫X?=U?Š —œ vÝ— tFDC p¹ ‰uÞ


 dð ±µcm Êb?ý pAš “« ÅfÄ ËcmÅ±≥[µÆÅXÝ« 

ÆÅbOM/ t³ÝU×� b5—œ VVŠÅÅdÐ «— tFDC s¹« pAš ÷U³I�« —«bI�

∫ qŠ

  

SD =
LW − LD

LW
× 100

 

  
=

15 −13 / 5

15
× 100=10-

 ‰U¦%≤∫  Êbý pAš “« fÄ È—uC p¹ t�U¼œ dDC t/ vð—u5 —œ   9 / 6cm÷U³I�« —«bI� Ë 

 Ê¬ pAš  4-ÆÅbOM/ t³ÝU×� Êbý pAš “« gOÄ «— Ê¬ ÈÅt�U¼œ dDC ¨ÅbýUÐ 

∫ qŠ

  
SD =

L W − LD

L W
× 100 ⇒ 0/04 =

L W −9 / 6

L W

    ⇒ 0/04  L W − L W = −9 / 6 ⇒ L W =10cm

∫tłuðUIOCœ ¨U¼Å‰U¦� »«uł Êœd/ ÊU×²�« —œ t/ vð—u5—œ bM¹U�d� XCœ e¹eŽ Ê«“u�¬Åg�«œ ÎtÐ 

 VKž« U¼Å‰U¦� »«uł t/ XÝ« s¹« XKŽ ¨bMÝ—ÅvL� t=QV� ÷d� œbŽ—
Ô

ÆXÝ« Ábý ©œdÖ® b�

 ‰U¦%≥∫  dð X=UŠ —œ vMOÇ »UIAÐ p¹ dDC   18/6cmÊ¬ pAš ÷U³I�« Ê«eO� dÖ« ÆÅXÝ« 

  2-Æb¹—Ë¬ XÝœÅtÐ d²�ÅvKO� VVŠdÐ Êbý pAš “« fÄ «— »UIAÐ dDC býUÐ 

∫ qŠ

  18 / 6cm =186mm

  
SD =

LW − LD

LW
× 100 ⇒ 2 =

186 − LD

186
× 100 ⇒ 2 × 186 =18600−100LD

      ⇒ LD =182 / 28mm

≤‡‡±‡‡≥∫©ÅÁbý t²,Ä ÈÅtFD/ Ë pAš tFD/ sOÐ ÷U³I�«Å® X,Ä ÷U³I�« ‡‡t/ —uÞÅÊUL¼ 

“« vCFÐ ̈ ÅX8Ä sOŠ ÆÅb�uýÅv� t²8Ä VÝUM� ÈU�œ —œ vJO�«dÝ  UFDC ̈ ÅÊbý pAš “« bFÐ bO�«œÅv�

qš«œ —œ ”d²Ýœ qÐUC v=Uš ÈU¼UC� Ë Ãd� Ë qKš “« vA8Ð Êbý dÄ YŽUÐ Ë Ábý »Ë– eO�¬ È«eł«

tÐ ◊uÐd�  U³ÝU×� ÆÅXÝ« X8Ä vM×M� Ë eO�¬ tÐ t²VÐ«Ë ÷U³I�« s¹« —«bI� ÆÅb�uýÅv� vJO�«dÝ t�bÐ

œ—u?� —œ Ë vK³C XLVC —œ t/ XÝ« vðU³ÝU×� tÐ tO³ý ¨ÅrO�U�Åv� X8Ä ÷U³I�« «— Ê¬ t/ ÷U³I�« s¹«

ÆÅbý d/– pAš ÷U³I�«



≤∞

 «— Ábý pAš tFDC ‰uÞ t/ vð—u5 —œLD «— Ábý t²8Ä tFDC ‰uÞ Ë LF
 ± 

b5—œ ¨ÅrO�UMÐ

Å® tDÐ«— o¹dÞ “« ¨ÅX8Ä ÷U³I�«≤Å‡‡Å≥ÆÅœuýÅv� t³ÝU×� ©Å

Å® tDÐ«—≤Å‡‡Å≥©Å               
SF =

LD −LF

LD
× 100

∫ÅbOM/ tłuð d¹“ ‰U¦� tÐ ÆÅXÝ« vDš eO� ÷U³I�« s¹« t/ XÝ« vN¹bÐ

 ‰U?¦%¥∫  p?A?š X?=UŠ —œ vMOÇ ÁdI� p¹ ‰uÞ   6 / 53cmÈÅt?K?Šd� ÂULð« “« fÄ ÆÅXÝ« 

 ÈU�œ —œÅ® X8Ä    1300
oCÅ©  tFDC ‰uÞ   6 /18cm «— tFDC s¹« X8Ä ÷U³I�« Ê«eO� ÆÅXÝ« ®VVŠdÐÅ

ÆÅbOM/ t³ÝU×� ©Åb5—œ

∫ qŠ

  
SF =

L D − L F

LD
× 100 ⇒ SF =

6 / 53 −6 /18

6 / 53
× 100

      

  
⇒ SF =

0/ 35

6 / 53
× 100= 5 / 36 -

≥‡‡±‡‡≥ÅÅÅÅÅ∫©ÅÁb?ý t²,Ä tFD/ Ë dð tFD/ sOÐ ÷U³I�«Å® q6 ÷U³I�« ‡‡t?/ v{U³I�« ŸuL−�

pAš ÷U³I�« q�Uý ̈ Åb¼œÅv� ÂU−�« v¹UN� ‰uB×� Ë Êœ«œ qJý qŠ«d� sOÐ —œ vJO�«dÝ tFDC p¹

U?Ð d?Ð«d?Ð Ê«u?ðÅv?L?� «— p?A?š Ë X?8Ä ÈU¼Å÷U³I�« ŸuL−� t/ bOýUÐ t²ý«œ tłuð U�« ÆÅXÝ« X8Ä Ë

s¹« d²NÐ rN� È«dÐ ÆÅXVO� vJ¹ ÷U³I�« Ëœ s¹« œ—u� —œ Ábý ÁœUH²Ý« ÈUM³� «d¹“ ÅX�dÖ q/ ÷U³I�«

 ‰U¦� tÐ ¨Åt=QV�µÆÅbOM/ tłuð 

 ‰U¦%µ∫ ÆÅbýUÐ d¹“  —u5ÅtÐ ¨t�uL� p¹ ÈË— dÐ Ábý È—«cÖÅX�öŽ ‰uÞ t/ bOM/ ÷d� 

  
LW = 50mm

  
LD = 46mm

  
LF = 41mm

ÆÅbOM/ t³ÝU×� «— q/ ÷U³I�« Ê«eO� ‡‡ n=«

t?V?¹U?I� q/ ÷U³I�« UÐ «— t−O²� ¨ÅÁœ—Ë¬ XÝœÅtÐ «— X8Ä Ë pAš ÈU¼Å÷U³I�« ŸuL−� ‡‡ »

ÆÅbOM/

±‡‡FtLK/ nH8� Fired ÆÅXÝ« ©Ábý Åt²8Ä vMF� tÐÅ®



≤±

∫ qŠ

Å® tDÐ«— “« q/ ÷U³I�« Ê«eO� ‡‡ n=«≥Å‡‡Å≥ÆÅb¹¬Åv� XÝœÅtÐ ©Å

Å® tDÐ«—≥Å‡‡Å≥©Å
±

  

St =
LW − LF

LW
× 100

  
⇒ St =

50− 41

50
× 100 ⇒ St =

9

50
× 100=18 -

ÆÅrOM/Åv� t³ÝU×� eO� «— X8Ä Ë pAš ÈU¼Å÷U³I�« ŸuL−� ‰UŠ ‡‡ »

SD =
L W − LD

L W
× 100 ⇒ SD =

50− 46

50
× 100 ⇒ SD = 8 -

  
SF =

L D − L F

LD
× 100 ⇒ SF =

46 − 41

46
× 100 ⇒ SF =10/ 9-

SD + SF = 8 +10/ 9 =18 / 9-

∫ÅrOM/Åv� tV¹UI� r¼ UÐ «— Áb�¬ XÝœÅtÐ Z¹U²� ‰UŠ

∫X8Ä Ë pAš ÷U³I�« ŸuL−�SD + SF =18 / 9-

⇒      St ≠ SD + SF

∫q/ ÷U³I�«         St =18 -

ÈËUV� X8Ä Ë pAš ÷U³I�« ÈU¼b5—œ ŸuL−� UÐ q/ ÷U³I�« b5—œ t/ rOM/Åv� Áb¼UA�

UL²Š U¼ÅV=UC Ë  UFDC vŠ«dÞ ÂU~M¼ —œ t/ bOýUÐ t²ý«œ tłuð ÆÅXVO�ÎÆÅbOM/ ÁœUH²Ý« q/ ÷U³I�« “« 

 ‰U?¦%∂∫  v?M?O?Ç f?M?ł “« vJ³KF� p¹ v¹UN� dDC rO¼«ušÅv� π∞mmt?/ vð—u5 —œ ÆÅbýUÐ

 X?8?Ä ÷U?³I�« Ê«eO�  4 / 62- p?A?š ÷U?³I�« Ë   3 /15 -‘Ë— t?/Ås?¹« s?²?�dÖ dE� —œ UÐ Ë býUÐ 

∫ÅXÝ« »uKD� ¨ÅXÝ« pO²ÝöÄ qÖ  —u5 tÐ Êœ«œÅÅÅÅqJý

Êbý pAš “« fÄ vJ³KF� dDC ‡‡ n=«

vK5« V=UC dDC ‡‡ »

q/ ÷U³I�« ‡‡ Ã

±‡‡Å t tLK/ nH8� total ÆXÝ« ©q/ vMF� tÐ®



≤≤

∫ qŠ

 X8Ä ÷U³I�« Ê«eO� ¨Åœułu�  UŽöÞ« tÐ tłuð UÐ ‡‡ n=«   4 / 62- v¹UN� dDC Ë π∞d?²�ÅvKO� 

∫ÅfÄ ÆÅXÝ«

  

SF =
LD − LF

LD
× 100 ⇒ 4 / 62 =

LD −90

LD
× 100

Êbý pAš “« fÄ vJ³KF� dDC
  
⇒ 4 / 62LD =100LD −9000 ⇒ LD = 94 / 3mm

 U?Ð d?Ð«d?Ð p?Aš tÐ dðÅÅÅ÷U³I�« ‡‡ »  3 /15 - e?O?�  Áb?ý  p?A?š vJ³KF� dDC Ë   94 / 3mm

∫ÅfÄ ÆÅXÝ«

  

SD =
LW − LD

LW
× 100 ⇒ SD =

LW −94 / 3

LW
× 100

©dð ÈÅtFDC ‰uÞ U¹ ËÅ® vK5« V=UC dDC

  
3 /15 =

LW −94 / 3

LW
× 100 ⇒ LW = 97 / 3 mm

¨Åv?K?/ ‰u?Þ dOOGð “« ÁœUH²Ý« UÐ rO�«uðÅv� ¨År¹«ÅÁœd/ t³ÝU×� «— v¹UN� Ë tO=Ë« ‰uÞ t/ ‰UŠ ‡‡ Ã

ÆÅr¹—Ë¬ XÝœÅtÐ «— q/ ÷U³I�«

  
= LW − LF = 97 / 3 −90= 7 / 3mmvK/ ‰uÞ dOOGð

  
⇒ St =

L W − L F

L W
× 100 ⇒ St =

7 / 3

97 / 3
× 100= 7 / 5 -

≤‡‡≥vL−Š ÷U³I�« ‡‡

“« v=uÞ  «dOOGð ÈUł tÐ Ê«uðÅv� ̈ ÅbýUÐ “UO�  UFDC ÷U³I�« “« ÈdðÅoOCœ sOL8ð t/ vð—u5 —œ

ôuLF� vL−Š ÷U³I�« ÈdOÖÅÁ“«b�« t/ Xý«œ tłuð b¹UÐ U�« ÆÅXVł œuÝ vL−Š  «dOOGðÎ“« dð—«uýœ 

eO� vL−Š ÷U³I�« b5—œ ÈÅt³ÝU×� ‘Ë—ÆÅœd/ Ê¬ ·d5 b¹UÐ «— ÈdðÅgOÐ ÊU�“ Ë XÝ« vDš ÷U³I�«

ôuLF� Ær¹œdÐ —U/ÅtÐ vDš ÷U³I�« ÈdOÖÅÁ“«b�« È«dÐ ÊuM/Uð t/ œdOÖÅv�  —u5 v=u5« ÊUL¼ ”UÝ« dÐÎ

—œ Ê¬ v?D?š ÷U³I�« dÐ«dÐ tÝ «— vJO�«dÝ ÁœU� p¹ vL−Š ÷U³I�« —«bI� v¼U~A¹U�“¬ ÈU¼—U/ —œ

ÆÅb�dOÖÅv� dE�



≤≥

r¹dOÖÅv� dE� —œ «— vJO�«dÝ ÁœU� p¹ fMł “« v³FJ� ¨ÅŸu{u� s¹« dðÅoOCœ Ë d²NÐ rN� È«dÐ

tO=Ë« X=UŠ —œ Ê¬ lK{ ‰uÞ t/adÐ«dÐ v=uÞ dOOGð ̈ ÅdE� œ—u� bM¹«d� ÂULð« “« fÄ t/ vð—u5 —œ ÆÅbýUÐ 

′a ÆÅrOV¹uMÐ d¹“ qJý tÐ «— vDš ÷U³I�« b5—œ rO�«uðÅv� ¨ÅrOýUÐ t²ý«œ VFJ� Ÿö{« —œ

  
=

′a
a

× 100vDš ÷U³I�« b5—œ

∫ÅrOM/Åv� qLŽ sOMÇ vL−Š ÷U³I�« s²�U¹ È«dÐ ‰UŠ     

  = a3
tFDC tO=Ë« r−Š

                 =
a 3 − (a − ′a )3

a 3
× 100vL−Š ÷U³I�« b5—œ ⇒

  = (a − ′a )3
tFDC v¹UN� r−Š 

=
a 3 − (a 3 − 3 ′a a2 + 3 ′a 2a − ′a 3 )

a 3
× 100vL−Š ÷U³I�« b5—œ ⇒

    

  
=

3 ′a a2 − 3 ′a 2a + ′a 3

a 3
× 100

   

  

=
3 ′a
a

 − 3
′a

a






2

+
′a

a






3










× 100

t/Ås¹« tÐ tłuð UÐ′a“« dðÅpÇu/ Vð«d� tÐ —«bI� dE� “«  a fÄ ̈ XÝ«

′a
a

dðÅpÇu‡/—«bI� dE� “« 

 œbŽ “«± d‡¹œUI‡� s¹«dÐUMÐ ¨ÅXÝ« 

  

′a
a







2

Ë 

  

′a
a







3

Ê«u‡ðÅv‡� Ë bM²V¼ pÇu/ —UOVÐ eO� —u?????ÞÅt?????Ð

  q?ÐUI� —œ v³¹dIð

′a
a

Èd?ðÅÁœUÝ  —u5ÅtÐ Ê«uðÅv� «— q³C  —U³Ž t−O²� —œ ÆÅœd/ dE� ·d5 U¼ÅÊ¬ “« 

∫ÅXýu�

 vDšÅ÷U³I�«Åb5—œ    ~ 3 × vL−ŠÅ÷U³I�« Åb5—œ

    
~

3 ′a
a

× 100 ⇒vL−ŠÅ÷U³I�«ÅÅ b5—œ 

rO�«uðÅv� ¨rOM/ t³ÝU×� vDš ÷U³I�« “« ÁœUH²Ý« UÐ «— vL−Š ÷U³I�« rO¼«u8� t/ vð—u5 —œ

‰UJý« œ—u� —œ Áó¹ËÅtÐ ÈdOÖÅÁ“«b�« sOMÇ s¹« t²³=« t/ rOM/ ÈdOÖÅÁ“«b�« Èd~¹œ  —u5ÅtÐ «— tFDC r−Š
















≤¥

U?²?³V�  UFDC U¹ Ë vÝbM¼ rEM�U�ÎÎÎÎÎU?Ð ¨Åb?FÐ qB� —œ ÆÅœ—«œ dÐ—œ «— vðöJA� ¨ÅÂUš  UFDC U¹ Ë rO−Š 

ÆÅbý bO¼«uš UMý¬ vÝbM¼ rEM�U�  UFDC r−Š ÈdOÖÅÁ“«b�« ‘Ë—

s¹dLð

±XLVC p¹ ÈË— dÐ ¨Åv�«u8²Ý« vMOÇ fMł “« t�uL� p¹ ÷U³I�« ÈdOÖÅÁ“«b�« —uEM� tÐ ‡‡ 

ÈÅÁ“«b�« tÐ v=uÞ Ê¬µcmÈ—«cÖÅX�öŽ ‰uÞ ¨Åt�uL� Êbý pAš “« bFÐ ¨rOM/Åv� È—«cÖÅX�öŽ «— 

tÐ Ábý  4 / 80cm tÐ s²8Ä “« bFÐ Ë   4 / 35 cmÆÅbÐU¹Åv� g¼U/ 

X8Ä ÷U³I�« b5—œ ‡‡ »                pAš ÷U³I�« b5—œ ‡‡ n=«

ÆÅbOM/ t³ÝU×� «— q/ ÷U³I�« b5—œ ‡‡ Ã

≤ Ábý t²8Ä vJO�«dÝ tFDC p¹ ‰uÞ ‡‡  9 / 2 cmpAš ÷U³I�« —«bI� t/Åvð—u5 —œ ÆÅXÝ« 

  5 / 6 - U?Ð d?Ð«d?Ð Ê¬ X?8?Ä ÷U?³?I?�« —«bI� Ë býUÐ   8 / 5 -d?ð X?=U?Š —œ t?F?D?C ‰u?Þ ‡‡ n=« ¨býUÐÅ 

ÆÅbOM/ t³ÝU×� «— q/ ÷U³I�« b5—œ ‡‡ Ã  ÅpAš X=UŠ —œ tFDC ‰uÞÅ‡‡ÅÅ»Å

≥ÃËd?š “« bFÐ “uV� dł¬ p¹ œUFÐ« ‡‡C “« ”dÄ ÁU~²Ýœ V=U 9/4mm × 3/8mm × 4/2mm

dł¬ s¹« vK/ vL−Š ÷U³I�« t/ vð—u5 —œ ÆÅXÝ«   21/ 5 -q³C dł¬ r−Š ‡‡ÅÅn=« ∫XÝ« »uKD� ̈ ÅbýUÐ 

ÆÁbý t²8Ä dł¬ v³¹dIð œUFÐ« ‡‡ »   X8Ä “«

¥X8ÄÅËÅÅpAš ÷U³I�« ŸuL−� U¹¬ bOM/  U³Ł« q/ Ë X8Ä ̈ pAš ÷U³I�« ÈU¼ÅtDÐ«— “« ÁœUH²Ý« UÐ ‡‡

øbýUÐÅv� q/ ÷U³I�« UÐ dÐ«dÐ



≤µ

Â—UNÇ qB	

v�U~Ç

∫È—U²	— ÈU¼Å·b¼∫b�«u²Ð qB
 s¹« ÊU¹UÄ “« fÄ ułdM¼ œË—Åv� —UE²�« 

±ÆbM" n¹dFð «— v&U~Ç Å‡‡

≤ÆbM" t³ÝU×� «— v&U~Ç ‡‡

≥Æb¼œ `O{uð «— U¼Åq2K2ð Ÿ«u�« ‡‡

¥ÆbM" t³ÝU×� «— vK" Ë vIOIŠ ¨Èd¼Uþ v&U~Ç ‡‡

µœułu� œ«u� v³;� v&U~Ç Ë »UžËœ r−Š s²ý«œ UÐ «— »UžËœ v³;� v&U~Ç ‡‡ÅÅÅ

ÆbM" t³ÝU×� ¨Ê¬ —œ

±‡‡¥v�U~Ç ‡‡Å

U?¹ X?Ý« d?ðÅs?O?~?M?Ý s?¼¬ Âd?Öu?K?O?" p?¹ t?" b?¹«ÅÁbý Ë—ÅtÐË— gÝdÄ s¹« UÐ ÊuM"Uð ULý ÈÅtL¼

UM¾LD� Ë XÝ« sýË— gÝdÄ s¹« aÝUÄ øt³MÄ ÂdÖuKO"Åp¹ÎÆœ«œ bO¼«uš ̀ O×P aÝUÄ Ê¬ tÐ ULý ÈÅtL¼ 

p?¹ t?Ð X?³;� ÈdðÅgOÐ —UO;Ð r−Š t³MÄ ÂdÖuKO" p¹ t" XOFQ«Ë s¹« tÐ tłuð UÐ ÁbMM"Å‰«RÝ lQ«Ë—œ

b?B?Q ¨s?¼¬ v?&U?~?Ç t?Ð X?³?;?� t?³?M?Ä v&U~Ç ÊœuÐ dðÅr" qO&œ tÐ d~¹œ v�UOÐ tÐ U¹ Ë œ—«œ s¼¬ ÂdÖuKO"

t" b¹uýÅv� tłu²�  U×O{uð s¹« tÐ tłuð UÐ Æœ—«œ «— XÝ—œ »«uł tz«—« —œ ULý s²š«b�« ÁU³²ý«ÅÅtÐ

ÆbM�U�Åv� ÁœU� Ê¬ v�U~Ç ¨Ê¬ r−Š tÐ «— ÁœU� d¼ Âdł sOÐ X³,�

ρ =
m
V

 v&U~Çρ =

 Âdłm =

 r−ŠV =

 r?²?;?O?Ý —œ v&U~Ç ‰Ë«b²� ÈU¼bŠ«ËSI V?F?J?�d²�Åv²�UÝ dÐ ÂdÖ ¨
  
(g cm3 )Âd?Öu?KO" U¹ Ë 

® VFJ�d²�dÐ
  
k g m3
Å©ÆXÝ« 



≤∂

 ‰U?¦�±∫  t?" vð—uP—œ±∞∞gd?Ð«d?Ð v?L?−Š È«—«œ ÁuOł 
  7 / 35cm3

Áu?O?ł v?&U~Ç ¨býUÐ 

øœuÐ b¼«uš —bIÇ

∫qŠ

  

  
ρ =

m
V

=
100g

7 / 35cm 3
⇒ ρ = 13 / 61g cm 3

 ‰U¦�≤∫  ‰uÞ tÐ Èœôu
 rOÝ tFDQ p¹  20cm lDI� `DÝ Ë   20mm2
 Ê“Ë Ë 

  
31gœułu� 

ÆbOM" »U;Š «— Ê¬ v&U~Ç ¨XÝ«

∫qŠ dÐ«dÐ Ê¬ r−Š ¨XÝ« t�«u²Ý« rOÝ qJý ÊuÇ ÆrOM" t³ÝU×� «— tFDQ s¹« r−Š b¹UÐ «b²Ð«

ÆXÝ« rOÝ ‰uÞ —œ ÁbŽUQ XŠU;� »d{ÅqPUŠ UÐ

V = π r2.h = 20mm2 × 200mm = 4000mm3 = 4cm3

  
ρ =

m
V

⇒ ρ =
31g

4cm 3
= 7 / 75g cm 3

∫d1cðUL²Š b¹UÐ v&U~Ç t³ÝU×� ÂU~M¼ —œ Ît" —uÞÅÊUL¼ ¨œuý bOQ Ábý t²
dÖ —U" tÐ ÈU¼bŠ«Ë 

V?;?Š d?Ð ÁœU?� p?¹ v?&U~Ç œ—«u� dðÅgOÐ —œ ¨bý t²HÖ
  
g cm3

U?¹ Ë   
kg m3

U?�« Æœu?ýÅv� t²ýu� 

VFJ�  u
 dÐ b�uÄ q¦� ©v;OK~�« r²;OÝ —œ® Èd~¹œ ·—UF²� ÈU¼bŠ«Ë UÐ XÝ« sJL�  UQË« vCFÐ

  

(
lb
ft3

) U?L?²?Š ¨b?OM"Åv� t;¹UI� r¼ UÐ «— ÁœU� Ëœ v&U~Ç t" v�U~M¼ ÆbOM" œ—ušdÐ eO�ÎbŠ«Ë p¹ “« 

 U?Žö?Þ« œ—«u?� “« v?CFÐ —œ XÝ« sJL� ¨dÞUš sOL¼ tÐ ÆbOM" ÁœUH²Ý« U¼ÅÊ¬ v&U~Ç È«dÐ ÊU;J¹

È«dÐ v"d²A� ÈUM³� Uð bOM" q¹b³ð ÈdOÖÅÁ“«b�« d~¹œ r²;OÝ tÐ ÈdOÖÅÁ“«b�« r²;OÝ p¹ “« «— tÞuÐd�

ÆbOýUÐ t²ý«œ t;¹UI�

 ‰U?¦�≥∫  ˛—U?²?O?& v&U~Ç(PbO) U?Ð dÐ«dÐ 
  
9 / 2g cm3

 Z?�d?Ý v?&U~Ç Ë 
  
(Pb

3
O4 )U?Ð dÐ«dÐ 

  

536
lb
ft3

øXÝ« dðÅgOÐ bO;"« Ëœ s¹« “« p¹ÅÂ«b" v&U~Ç ÆXÝ« 

∫qŠ bŠ«Ë tÐ «— Z�dÝ v&U~Ç «b²Ð« b¹UÐ  SIÆrOM" q¹b³ð

  1gr cm 3 = 62 / 5 lb ft 3
 Ë 

  
1

lb

ft3
=0/016g cm3

  
1

lb

ft3 =
453 / 5g

(30/ 48)3 cm3 =0/016
g

cm3 ⇒ 1g cm3 =
1

0/016

lb

ft3 = 62 / 5
lb

ft3«d¹“Å∫

    
=

536

62 / 5
= 8 / 576g cm3 ~ 8 / 58g cm3

Z�dÝ v&U~Ç ⇒



≤∑

ÆXÝ« dðÅgOÐ Z�dÝ v&U~Ç “« ˛—U²O& v&U~Ç fÄ

 ∫v³,� v�U~Ç«— œ«u� d¹UÝ v&U~Ç Ë r¹dO~Ð dE� —œ UM³� Ê«uMŽ tÐ «— »¬ v&U~Ç t" vð—uP—œ

Ð bQU
 t" tKPUŠ X³;� ¨rO−M;Ð Ê¬ tÐ X³;�
Ô

 ¨œuÐ b¼«uš eO� bF v³,� v�U~ÇÆœuýÅv� ÁbO�U�

dE�Åœ—u� ÁœU� v&U~Ç                                                         

      ©bŠ«Ë ÊËbÐ®=
                                

v³;� v&U~Ç 

»¬ v&U~Ç                                                                

 ‰U¦�¥∫ UMO�u&¬ fMł “« t�uL� p¹ v&U~Ç t" vð—uP —œ 
  
(Al2O

3
) UÐ  dÐ«dÐ 

  
3 / 98g cm3

øœuÐ b¼«uš —bIÇ Ê¬ v³;� v&U~Ç ¨býUÐ

∫qŠ

  

= 3 / 98g cm3

1/00g cm3
= 3 / 98v³;� v&U~Ç 

Ð bQU
 v³;� v&U~Ç ̈ bý t²HÖ t" —uÞÅÊUL¼
Ô

s¹« ÈË— “« d~¹œ  —U³Ž tÐ XÝ« vJ¹eO
 bŠ«Ë Ë bF

ÆXÝ« »¬ “« dðÅsO~MÝ —UÐ bMÇ r−Š bŠ«Ë È«“« tÐ ÁœU� p¹ t" bOLN
 Ê«uðÅv� œbŽ

 ‰U?¦�µ∫Å  t?AOý tJð p¹ Ê“Ë
  
14 / 26g Ê¬ r?−Š Ë   5 / 8cm3

«— Ê¬ v?³?;� v&U~Ç ÆXÝ« 

ÆbOM" »U;Š

               dE�ÅÅœ—u� ÁœU� v&U~Ç

∫qŠ =                              
ÁœU� v³;� v&U~Ç 

»¬ v&U~Ç                                                          

  
=

14 / 26

5 / 8
(g cm3 ) = 2 / 46(

g

cm3 ) 
tAOý tJð v&U~Ç

  = 2 / 46 tAOý v³;� v&U~Ç 

  
=

2 / 46(gr cm3 )

1(g cm3 )
⇒ tAOý v³;� v&U~Ç

 ‰U?¦�∂∫  r?−?Š t?Ð v?&U?~?Ç Èd?O?ÖÅÁ“«b�« ’uB2� ·dþ p¹ccÅµ∞   (50cm 3 )‰u?K?×� UÐ 

 UÐ dÐ«dÐ Ê¬ —œ œułu� ‰uK×� Ë ·dþ Ê“Ë ÆXÝ« Ábý dÄ pL�Å»¬
  
59 / 28gt" vð—uP —œ ÆXÝ« 

  v&Uš ·dþ Ê“Ë
  
42 / 34gÆbOM" »U;Š «— pL� »¬ v³;� v&U~Ç ¨býUÐ 

  = 95 / 28 − 42 / 34 = 52 / 94gpL� »¬ ‰uK×� Ê“Ë 

  g cm3

  0/016

  1

  1

  62 / 5

  
lb

ft3



≤∏

  
=

52 / 94                 
50                    

=1/06g cm3
 

pL� »¬ v&U~Ç

                                                               

‰uK×� r−Š   

  

= 1/06

1/00
=1/06 pL� »¬ v³;� v&U~Ç

≤‡‡¥r−Š sOOFð È«dÐ ”bOLý—« Êu�U< “« ÁœUH²Ý« Å‡‡

XÝœ tÐ È«dÐ ̈ vÝbM¼ ÁbOâOÄ ‰UJý« UÐ vðUFDQ r−Š ÈdOÖÅÁ“«b�« tÐ “UO� ̈ œ—«u� “« È—UO;Ð —œ

ÈU¼År−Š ”bOLý—« Êu�UQ “« ÁœUH²Ý« UÐ rO�«uðÅv� ̈ —uEM� s¹« È«dÐ ÆXÝ« È—Ëd{ U¼ÅÊ¬ v&U~Ç Êœ—Ë¬

ÆrOM" ÈdOÖÅÁ“«b�« v¹ôUÐ —UO;Ð XQœ UÐ «— dE� œ—u�

Ê“Ë “« bM1 v� UłÅtÐÅUł t1 v�UOÝ r−Š Á“«b�« tÐ ¨œuý —ËÅtÞuž v�UOÝ —œ vL,ł ÁUÖd¼

ÆœuýÅv� t²ÝU1 Ê¬pAš X&UŠ —œ «— œuš r;ł U� dÖ« t" XÝ« VOðdð s¹« tÐ Êu�UQ s¹« “« ÁœUH²Ý« 

 «— q?PU?Š —«bI� Ë rOM" s¹“uð «u¼ —œ ËD—œ È—ËÅt?Þu?ž X&UŠ —œ «— r;ł sOL¼ fáÝ Ë rO�UMÐ 

ôuLF� t"® ‰UOÝÎ  «— Ê“Ë s¹« Ë rOM" s¹“uð ©XÝ« »¬ I∫Xý«œ rO¼«uš ¨rO�UMÐ 

  = D− 1ItFDQ r−Š Ω Ábý —ËÅtÞuž r;ł r−Š r¼ l¹U� Ê“Ë 

U?Ð d?Ð«dÐ Ê¬ v&U~Ç ÊuÇ ¨rOM" ÁœUH²Ý« ‰UOÝ Ê«uMŽ tÐ »¬ “« dÖ«
  
1/00g cm3

Ë Ê“Ë ¨XÝ«

t?³?ÝU?×� È«dÐ ¨œuý ÁœUH²Ý« Èd~¹œ ‰UOÝ “« t" vð—uP—œ U�« ÆbM²;¼ dÐ«dÐ ÈœbŽ dE�“« Ê¬ r−Š

∫rOM" qLŽ VOðdð s¹bÐ b¹UÐ ©r;ł r−Š lQ«Ë —œ Ë® Ábý UłÅtÐUł l¹U� r−Š

 =
D − I
ρ

 Ábý UłÅtÐUł ‰UOÝ r−Š ®©Ábý —ËÅtÞuž r;ł r−Š

tDÐ«— s¹« —œ t"ρö¦� XÝ« ÁœUH²Ý« œ—u� ‰UOÝ v&U~Ç Î ÈUłÅtÐ býUÐ qJ&« ‰UOÝ dÖ« ρ œbŽ ∏[∞Ë 

 œbŽ XH� œ—u� —œ U¹∏≤[∞∫bOM" tłuð U¼Å‰U¦� s¹« tÐ ¨Ÿu{u� s¹« d²NÐ „—œ È«dÐ ÆœdOÖÅv� —«dQ 

 ‰U¦�∑∫  U?Ð dÐ«dÐ «u¼ —œ eK
 tFDQ p¹ Ê“Ë
  
24 / 63gUÐ dÐ«dÐ »¬ —œ È—ËÅtÞuž X&UŠ —œ Ë 

  
19 / 86gÆbOM" t³ÝU×� «— eK
 tFDQ s¹« v³;� v&U~Ç ÆXÝ« 

∫qŠ

p?³?Ý Áb?ý U?łÅt?ÐUł »¬ r−Š Á“«b�« tÐ ¨»¬ —œ Ábý —ËÅtÞuž X&UŠ—œ eK
 tFDQ t" rO�«œÅv�

 r−Š UÐ dÐ«dÐ r−Š s¹« ÊuÇ ÆœuýÅv� tFDQ∫Xýu� Ê«uðÅv� ¨XÝ«

 «u¼ —œ eK
 Ê“ËD =
 Ábý —ËÅtÞuž r;ł r−Š r¼ l¹U� Ê“Ë Ω r;ł r−ŠD − I =

±‡‡I È—ËÅtÞuž Ê“Ë “« ∫Immersion weight

Å‰uK×� Ê“Ë



≤π

  
=

D
D − I

=
24 / 63

24 / 63 −19 / 86
= 5 /16g cm 3

v&U~Ç 

eK
 v&U~Ç                                                                     

  
=

                    
=

5 /16

1
= 5 /16v³;� v&U~Ç 

»¬ v&U~Ç                                                                     

 ‰U¦�∏∫  v¼U~A¹U�“¬ t�uL� p¹ Ê“Ë≤∞/¥≤gUÐ l¹U� sO
«—UÄ —œ t�uL� s¹« t" v�U~M¼ XÝ« 

 v&U~Ç  (0/ 813g cm3 )  tÐ Ê¬ Ê“Ë ¨œuýÅv� —ËÅtÞuž±µ / ≥∑g«— t�uL� v&U~Ç ÆbÐU¹Åv� g¼U" 

ÆbOM" t³ÝU×�

∫qŠ

UłÅtÐUł sO
«—UÄ Ê“Ë UÐ dÐ«dÐ ̈ È—ËÅtÞuž X&UŠ—œ t�uL� Ê“Ë g¼U" ”bOLý—« Êu�UQ tÐ tłuð UÐ

ÆXÝ« Ábý

= 20/ 42−15 / 37 = 5 /05g È—ËÅtÞuž X&UŠ—œ t�uL� Ê“Ë g¼U"

=
D − I
ρ =

5 /05

0/ 813
= 6 / 21cm 3

t�uL� r−Š Ω Ábý UłÅtÐUł sO
«—UÄ r−Š 

t�uL� Ê“Ë                                                                        

=
                 

=
20/ 42g

6 / 21cm3
= 3 / 29g cm3

t�uL� v&U~Ç

                                                                       t�uL� r−Š 

±‡‡≤‡?‡¥ ∫q?F?K?F²�  «b�Uł ‡‡Å“« t?" œu?Ð v?J?O?�«d?Ý œ«u?� ÈÅÁb�dOÖdÐ—œ ÊuM"Uð U� Y×Ð

bMÇ “« vÞuK2� vJO�«dÝ œ«u� dðÅgOÐ t"Ås¹« tÐ tłuð UÐ U�« Æb�œuÐ —«œ—ušdÐ ÁœUÝ —UO;Ð È—U²šUÝ

vJO�«dÝ œ«u� Æœd" X³×P eO� vD¹«dý sOMÇ œ—u� —œ b¹UÐ ¨bM²;¼ nK²2� vJ¹eO
  ôUŠ UÐ ¡eł

ÆbM²;¼ q2K2²� vJO�«dÝ  UFDQ ¨rOM"Åv� X³×P U¼ÅÊ¬ œ—u� —œ UłÅs¹« —œ t"

±‡‡±‡‡≤‡?‡¥ ∫q?F?KF²� vJO�«dÝ  UFD< ‡‡t?O?&Ë« œ«u?� “« ÁœUH²Ý« UÐ vJO�«dÝ  UFDQ VKž«

ÈUC
 vNłuð qÐUQ —«bI� È«—«œ ÂUš X&UŠ —œ  UFDQ s¹« qO&œ sOL¼ tÐ Æb�uýÅv� bO&uð Ábý —œuÄ

ÈU¼UC
 s¹« U� Æb�uýÅv� œU−¹« ¨r¼ —UM"—œ  «—– t²ÝuOÄU� s²
dÖ—«dQ qO&œ tÐ t" œuÐ bM¼«uš v&Uš

s?O?Ð “« X?2?Ä b?M?¹«d?
 v?Þ—œ v?&Uš ÈU¼UC
 s¹« “« vLEŽ« g2Ð tÇdÖ« ÆrO�U�Åv� q2K2ð «— v&Uš

j¹«dý tÐ U¹ Ë sJL�dOž lQ«u� d¦"« —œ q2K2ð “« È—UŽ tFDQ p¹ tÐ vÐUO²Ýœ œułË s¹« UÐ ¨b�Ë—Åv�

«b?L?Ž «—  U?F?D?Q e?O�  UQË« v¼UÖ Æœ—«œ “UO� È«ÅÁó¹Ë X2ÄÎv?ýU?" ÈÅt?�b?Ð q?¦?�® r¹“UÝÅv� q2K2²� 

U³¹dIð v¼«dL¼ qO&œÅtÐ Æ©dł¬ Ë È—«u¹œÎN� dOŁQð Ë U¼ÅpO�«dÝ —U²šUÝ —œ U¼Åq2K2ð v~AOL¼ ÒdÐ U¼ÅÊ¬ r



≥∞

—«œ—ušdÐ vPUš XOL¼« “« ̈ U¼ÅÊ¬ l¹“uð v~�u~Ç Ë Ê«eO� “« ŸöÞ« ̈ vJO�«dÝ  UFDQ nK²2� ’«uš

ÆXÝ«

≤‡‡±‡‡≤‡‡¥ ∫U¼ÅqFKFð ÊUL²šUÝ ‡‡Ë—ÅtÐË— q2K2ð t²Ýœ Ëœ UÐ vJO�«dÝ  UFDQ —œ vK"—uÞ tÐ

ÆrO�U�Åv� t²;Ð q2K2ð Ë “UÐ q2K2ð «— U¼ÅÊ¬ t" rO²;¼

Ë Á«— ¨t?F?D?Q `?D?Ý t?Ð t?" b?M²;¼ tFDQ qš«œ —œ v&Uš ÈU¼UC
 “« t²Ýœ Ê¬ “UÐ ÈU¼Åq2K2ð

ÃËdš ¨Ábý Áœ«œ qJý tFDQ —œ tO&Ë« ÈU¼Åq2K2ð œułË ¨U¼Åq2K2ð s¹« —uCŠ qO&œ Æb�—«œ ◊U³ð—«


 œ«u� “« qPUŠ ÈU¼“UÖd
Ò

ÈU¼Åq2K2ð ÆXÝ« tFDQ Êbý pAš ÂU~M¼—œ »¬ ÃËdš U¹ Ë X2Ä vÞ—œ —«

“UÐ ÈU¼Åq2K2ð U¹ Ë œuý f³Š Ê¬ —œ tFDQ —œ œułu� È«u¼ U¹ “UÖ t" bM¹¬Åv� œułË tÐ v�U~M¼ t²;Ð

® ÈU¼ÅqJý Æb�uý t²;Ð ¨Ábý »Ë– œ«u� tKOÝË tÐ±‡‡¥® Ë ©≤‡‡¥v¹U¼Åq2K2ð sOMÇ œułË VOðdð tÐ ©

ÆbM¼œÅv� ÊUA� tFDQ p¹ —œ «—

± È«ÅÁœuð U¹ vK" r−Š ‡‡ Bulk Volume

 qJý±‡‡¥tFD< —œ “UÐ ÈU¼ÅqFKFð ‡‡ 

≥‡‡±‡‡≤‡‡¥ ∫vK1 Ë vIOIŠ ̈ Èd¼Uþ v�U~Ç t³ÝU×� ‡‡«— ÁœU� p¹ v&U~Ç ̈ vK³Q ÈU¼ÅXL;Q —œ

Ë Ê“Ë p¹ UNMð ¨q2K2ð ÊËbÐ ÈÅt�bÐ p¹ È«dÐ Ær¹œd" n¹dFð Ê¬ r−ŠË Ê“Ë sOÐ ÈÅtDÐ«— Ê«uMŽ tÐ

�« Æœ—«œ œułË r−Š p¹Òt−O²�—œ Ë œbF²� ÈU¼År−Š Ë X;O� sOMÇÅs¹« q2K2²�  UFDQ œ—u� —œ U

Æœd" n¹dFð Ê«uðÅv� «— ÈœbF²� ÈU¼Åv&U~Ç

∫“« bMð—U³Ž t" œuýÅv� n¹dFð r−Š Ÿu� tÝ q2K2²�  UFDQ È«dÐ

È«ÅÁœuð U¹ vK
 r−Š ‡‡ n�«
±

«— t²,Ð Ë “UÐ ÈU¼ÅqFKFð r−Š Ë b�Uł ÈÅÁœU� r−Š ŸuL−� ÆbM¹uÖ vK1 r−Šr−Š s¹« 

Æœd" ÈdOÖÅÁ“«b�« Ê«uðÅv� ‘Ë— tÝ tÐ «—

s¹« t" Èœ—«u�—œ t²³&«® ‰uÞ ÈdOÖÅÁ“«b�« Â“«u& “« ÁœUH²Ý« UÐ ¨t�uL� œUFÐ« ÈdOÖÅÁ“«b�« ‡‡ n&«

ö¦� ©ÆbýUÐ t²ý«œ œułË ÊUJ�«Î œUFÐ« UÐ vK2K2²� dł¬   22 / 5cm × 10cm × 8cmvK" r−Š È«—«œ 

  1800cm3
ÆXÝ« 

 qJý≤‡‡¥tFD< —œ t²,Ð ÈU¼ÅqFKFð ‡‡ 



≥±

Æœuý “UÐ ÈU¼Åq2K2ð œ—«Ë b�«uðÅvL� ÁuOł ÊuÇ ¨ÁuOł v¹UłÅtÐUł ‘Ë— “« ÁœUH²Ý« ‡‡ »

® XÝ« Áœd" »cł »¬ q�U"—uÞ tÐ t�uL� t" v²&UŠ sOÐ Ê“Ë ·ö²š« “« ÁœUH²Ý« ‡‡ ÃSv�U�“ Ë ©

Å® œ—«œ —«dQ »¬ —œ È—ËÅtÞuž X&UŠ —œ t"I —«bI� X&UŠ s¹« —œ Æ©(S− I)b¼«uš vK" r−Š UÐ dÐ«dÐ 

∫œuÐ

= (S− I) vK" r−Š Vb =

Èd¼Uþ r−Š ‡‡ »
±

ÆbM¹uÖ Èd¼Uþ r−Š «— t²,Ð ÈU¼ÅqFKFð r−Š Ë b�Uł ÈÅÁœU� r−Š ŸuL−�«— r−Š s¹« 

—ËÅtÞuž tFDQ Ê“Ë Ë ©«u¼ —œ Ábý ÈdOÖÅÁ“«b�«® pAš ÈÅtFDQ Ê“Ë ·ö²š« “« ÁœUH²Ý« UÐ Ê«uðÅv�

∫Xýu� Ê«uðÅv� vMF¹ Æœd" t³ÝU×� Ábý

= D − I q2K2²� ÁœU� Èd¼Uþ r−ŠVa =

vIOIŠ r−Š ‡‡ Ã
≤

ÆX?Ý« b�Uł §eł r−Š ÈÅÁb�dOÖdÐ—œ UNMð vIOIŠ r−ŠÊœd?" —œuÄ UÐ Ê«uðÅv� «— r−Š s¹« 

ÈdOÖÅÁ“«b�« ̈ d²�uMJOÄ “« ÁœUH²Ý« fáÝ Ë ©œuý U¼Åq2K2ð ÂULð s²
— sOÐ “« Vłu� t" È«Åt�uÖ tÐ® t�uL�

Æœd"

tFDQ sOL¼ t" v&UŠ—œ Æœd" n¹dFð Ê«uðÅv� «— ÈœbF²� ÈU¼År−Š ̈ q2K2²� ÈÅtFDQ p¹ È«dÐ

È«dÐ s¹«dÐUMÐ Æœd" dE�Å·dP Ê«uðÅv� U¼Åq2K2ð qš«œ È«u¼ Ê“Ë “« «d¹“ XÝ« Ê“Ë p¹ È«—«œ jI


∫“« bMð—U³Ž t" ¨œd" n¹dFð Ê«uðÅv� eO� v&U~Ç Ÿu� tÝ q2K2²� ÈÅtFDQ d¼

Ë                                                   DQ Ê“tF

=
D

S− I
=

                                   
 vK" v&U~Ç ®©È«ÅÁœuð

U¹ vK" r−Š                                        FDQ È«ÅÁœuð t

Ë                                                               DQ Ê“tF

=
D

D − I=
                           

Èd¼Uþ v&U~Ç 

Èd¼Uþ r−Š                                                          FDQ t

Ë                                                                DQ Ê“tF

  =
D
Vt

=
                         

 IOIŠ v&U~Çv

vIOIŠ r−Š                                                            FDQ t

Ë Ê“Ë È«dÐ t" vð—uP—œ Æœuý d"– eO� bŠ«Ë U¼Åv&U~Ç s¹« ÂULð È«dÐ b¹UÐ t" bOMJ� ‘u�«d


dÐ«dÐ v&U~Ç ÈœbŽ —«bI� ¨œdOÖ —«dQ ÁœUH²Ý« œ—u� VFJ� d²�Åv²�UÝ Ë ÂdÖ ÈU¼bŠ«Ë VOðdð tÐ r−Š

± Èd¼Uþ r−Š ‡‡ Apparent Volume

≤ vIOIŠ r−Š ‡‡ True Volume



≥≤

ö¦� ÆœuÐ b¼«uš Ê¬ UÐ dþUM²� v³;� v&U~Ç —«bI� UÐÎ Èd¼Uþ v&U~Ç È«—«œ ÁœU� p¹ dÖ« 
  
3 / 2g cm3

 eO� Ê¬ Èd¼Uþ v³;� v&U~Ç ¨býUÐ≥/ ≤ÆœuÐ b¼«uš 

 ‰U¦�π∫  U?Ð d?Ð«d?Ð pAš X&UŠ —œ vJO�«dÝ tFDQ p¹ Ê“Ë
  
14 / 62g»¬ »c?ł X&UŠ—œ ¨

 UÐ dÐ«dÐ q�U"
  
16 / 25g UÐ dÐ«dÐ ̈ È—ËÅtÞuž j¹«dý —œ Ë   

8 / 37g³;� v&U~Ç Ë vK" v&U~Ç ÆXÝ« v

³ÝU×� «— tFDQ s¹« Èd¼UþÆbOM" t

∫ qŠ

                                                  Ë DQ Ê“pAš X&UŠ —œ tF

=
D

S− I=                                        
vK" v&U~ÇÅÅ

vK" r−Š                                                          FDQ t

  
=

14 / 62

(16 / 25 − 8 / 37)
=1/ 85g cm3

 Ë                                              DQ Ê“pAš X&UŠ —œ tF

=
D

D − I
=                                        

Èd¼Uþ v&U~Ç 

 Èd¼Uþ r−Š                                             FDQt

  
=

14 / 62

(14 / 62− 8 / 37)
= 2 / 34g cm 3

Èd¼Uþ v&U~Ç                                                        

  
=

                       
=

2 / 34

1
= 2 / 34Èd¼Uþ v³;� v&U~Ç 

»¬ v&U~Ç                                                          

 ‰U¦�±∞∫  r?;?ł Ëœ v?K?" v&U~Ç ¨œuýÅv� Áœ«œ t" vðUŽöÞ« “« ÁœUH²Ý« UÐAË Bt?³ÝU×� «—

ÆbOM"

tFD< X�öŽAB

 pAš Ê“Ë(D)±≤∞gπ≤g

 q�U" »¬ »cł “« bFÐ tFDQ Ê“Ë(S)±¥∂g±∞µg

 »¬ —œ È—ËÅtÞuž X&UŠ —œ tFDQ Ê“Ë(I)∑≤g¥≥g

∫qŠ

          pAš tFDQ Ê“Ë

=
                            

vK" v&U~Ç 

vK" r−Š                                                                   

 X�öŽ UÐ «— vK" v&U~Ç dÖ«ρ b∫Xý«œ rO¼«uš ÁU~�¬ ¨rO¼œ ÊUA� 

ρ b =
D

S− I



≥≥

ρ b =
120

146 − 72
=1/ 62g cm 3

 r;ł È«dÐ ∫A

ρ b =
92

105 − 43
=1/ 48g cm 3

r;ł È«dÐ ∫ B

¥‡‡±‡‡≤‡?‡¥∫U?¼Åq?F?K?Fð r−Š Ë Èd¼Uþ qFKFð bW—œ t³ÝU×� ‡‡b?P—œ Êœ—Ë¬ XÝœ tÐ È«dÐÅ

ÈU¼Åq2K2ð r−Š rO�«œÅv� ÆrOM" rO;Ið tFDQ r−Š tÐ «— “UÐ ÈU¼Åq2K2ð r−Š b¹UÐ ¨Èd¼Uþ q2K2ð

 sOÐ ·ö²š« “« “UÐS Ë D∫Xý«œ rO¼«uš t−O²� —œ ¨b¹¬Åv� XÝœ tÐ 

“UÐ ÈU¼Åq2K2ð r−Š                                          

  
=

                                    
× 100Èd¼Uþ q2K2ð bP—œ 

tFDQ r−Š                                                

= S− D“UÐ q2K2ð r−Š 

 

  

= S− D
S− I

× 100 Èd¼Uþ q2K2ð bP—œ ⇒


 = S− ItFDQ r−Š 

 ‰U¦�±±∫ r?;ł È«dÐ «— Èd¼Uþ q2K2ð bP—œ q³Q ‰U¦�  UŽöÞ« tÐ tłuð UÐ A r;ł Ë B

ÆbOM" t³ÝU×�

=
146 −120

146 − 72
× 100= 35 /13 - r;ł Èd¼Uþ q2K2ð bP—œ A

=
105 −92

105 − 43
× 100= 20/ 97 - r;ł Èd¼Uþ q2K2ð bP—œ B

Ê“Ë tÐ «— “UÐ ÈU¼Åq2K2ð —œ Ábý »cł »¬ Ê“Ë b¹UÐ ¨»¬ »cł bP—œ Êœ—Ë¬ XÝœÅtÐ È«dÐ

∫œuÐ b¼«uš  —uP s¹bÐ »¬ »cł bP—œ ÈÅtDÐ«— ÆrOM" rO;Ið tFDQ pAš

                  ÅÅÅÅÅ              
          

        Ábý »cł »¬ Ê“ËÅÅÅÅÅ          Å                

 =
S− D

D
× 100   »¬ »cł bP—œ

s¹«dÐUMÐ

 

  
=

 
                              

× 100»¬ »cł bP—œ

tFDQ pAš Ê“ËÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ             
Å                          

vIOIŠ r−Š t" rO�«œÅv�(vt ) ®vIOIŠ v³;� v&U~Ç t−O²�—œ Ë vIOIŠ v&U~Ç Ê¬ o¹dÞ “« t"

 vK" r−Š Ë XÝ« r;ł ÈÅÁbM¼œÅqOJAð b�Uł È«eł« q�Uý UNMð ©rOM"Åv� sOOFð «—(vb )ÈÅÁb�dOÖdÐ—œ 

r??−??Š Ëœ s??¹« s??O?Ð ·ö?²?š« f?Ä ÆX?Ý« t?²?;?Ð Ë “U?Ð ÈU?¼Åq?2?K?2?ð r?−?Š Ë b?�U?ł È«e?ł« r?−?Š

(vb − vt )ÆbM"Åv� h2A� «— r;ł —œ œułu� ÈU¼Åq2K2ð r−ŠÅÅ¨

 ‰U¦�±≤∫  œUFÐ« È«—«œ v;OKOÝ dł¬ fMł “« È«Åt�uL�  4 × 4 × 2cm3
t" vð—uP —œ ÆXÝ« 

 dł¬ vIOIŠ v³;� v&U~Ç≤/≥π pAš X&UŠ—œ tFDQ s¹« Ê“Ë Ë 
  
72gvIOIŠ q2K2ð —«bI� ¨býUÐ 

ÆbOM" t³ÝU×� «— Ê¬



≥¥

∫qŠ

r−Š rO�«uðÅv� ¨r¹—«œ «— t�uL� s¹« Âdł Ë ©Åv&U~Ç t−O²�—œ Ë® v³;� v&U~Ç t"Ås¹« tÐ tłuð UÐ 

ÆrOM" t³ÝU×� «— t�uL� vFQ«Ë

ρ =
m
V

⇒ V =
m
ρ

  

⇒ V = 72

2 / 39
= 30/13cm3

vIOIŠ r−Š 

sOÐ ·ö²š« Ær¹œd" dE�Å·dP r;ł ÈU¼Åq2K2ð qš«œ È«u¼ Ê“Ë “«  UOKLŽ s¹« UÐ ¨lQ«ËÅ—œ

∫ fÄ ÆXÝ« U¼Åq2K2ð r−Š ¨t�uL� r−Š Ë vK³Q ÈÅtDÐ«— “« Ábý t³ÝU×� r−Š

 vIOIŠ r−Š− vK" r−Š =q2K2ð r−Š 

= 4 × 4 × 2cm3 = 32cm3 t�uL� vK" r−ŠÅÅÅ

   = 32− 30/13 =1/ 87cm3
 q2K2ð r−ŠÅÅ⇒

 —œ «— qPUŠ œbŽ Ë rOM" rO;Ið t�uL� r−Š tÐ «— r−Š s¹« dÖ« ‰UŠ±∞∞bP—œ ¨rOM" »d{ 

ÆXÝ« t²;Ð Ë “UÐ ÈU¼Åq2K2ð q�Uý lQ«Ë —œ t" b¹¬Åv� XÝœÅtÐ vIOIŠ q2K2ð

=
1/ 87

32
× 100= 5 / 84 vIOIŠÅq2K2ð bP—œÅÅ

 ‰U¦�±≥∫  dł¬ p¹ vK" v³;� v&U~Ç±/ ∑∞ Ê¬ vIOIŠ v³;� v&U~Ç Ë ≤/¥∞vð—uP—œ ÆXÝ« 

 U?Ð d?Ð«dÐ dł¬ s¹« “« Ábý Áb¹dÐ ÈÅtJð p¹ œUFÐ« t"  3cm × 4cm × 2cms¹« t" «— vÐ¬ —«bI� ¨býUÐ 

Æ©bMýUÐ “UÐ tFDQ s¹« ÈU¼Åq2K2ð ÂULð t" bOM" ÷d
® bOM" t³ÝU×� ¨bM" »cł b�«uðÅv� t�uL�

UÐ dÐ«dÐ VOðdð tÐ t�uL� s¹« vIOIŠ Ë vK" Åv&U~Ç ̈ r¹«Åt²šu�¬ ÊuM"Uð tâ�¬ tÐ tłuð UÐ
  
1/ 70g cm3

Ë
  
2 / 40g cm3

ÆœuÐ b¼«uš 

                               Ê“Ë                                     

  
ρ b =

                  
⇒ 1/ 70=

m

3 × 4 × 2cm 3 ®©vK" v&U~Ç

                                                                

vK" r−Š

  
m = 40/ 80g ©t�uL� Ê“Ë® ⇒

                                                                 
  Ê“Ë

  

= 40/ 80

2 / 40
=17cm3

vIOIŠ r−ŠÅρ t =
                  

⇒®©vIOIŠ v&U~Ç

                                                              
vIOIŠ r−Š

t�uL� s¹« ÈÅÁbM¼œÅqOJAð b�Uł È«eł« r−Š fÄ  17cm3
Ë r−Š s¹« sOÐ ·ö²š« “« ÆXÝ« 

∫fÄ ÆœuýÅv� qPUŠ U¼Åq2K2ð r−Š ¨t�uL� vK" r−Š

  U¼Åq2K2ð r−Š  24−17 = 7cm3



≥µ

—«b?I?� q?�U?" »¬ »cł ÂU~M¼ tÐ ¨b�uý ÷d
 “UÐ v~L¼ U¼Åq2K2ð s¹« dÖ«  7cm3
»cł »¬ 

Æbý b¼«uš t�uL�

 ‰U¦�±¥∫  UÐ dÐ«dÐ q2K2²� t�uL� p¹ Ê“Ë
  
47 / 30g¨rOM" ÁuOł œ—«Ë «— tFDQ s¹« dÖ« ÆXÝ« 

  
312g Æb?O?M?" t?³?ÝU?×?� «— ÁœU?� s?¹« v?K?" v?&U?~?Ç Æœu?ýÅv� UłÅtÐUł ÁuOł ®U?Ð d?Ð«d?Ð Áu?O?ł v?&U~Ç

  
13 / 60g cm3

©

∫qŠ OÝ “« È—«bI� v¹UłÅtÐUł tÐ d−M� ̈ œuý v&UOÝ œ—«Ë vL;ł ÁUÖd¼ ”bOLý—« Êu�UQ o³ÞÒ‰U

ÆXÝ« dÐ«dÐ t�uL� r−Š UÐ Ábý UłÅtÐUł ÁuOł —«bI� s¹« r−Š fÄ ÆœuýÅv� ̈ XÝ« ‘œuš r−Š r¼ t"

 

  
ρ =

m
V

⇒ V =
312

13 / 60
= 22 / 94cm 3

ÁuOł v&U~Ç 

v?K" r−Š UÐ dÐ«dÐ —«bI� s¹« ¨œuý r;ł ÈU¼Åq2K2ð œ—«Ë b�«uðÅvL� »¬ ·öšdÐ ÁuOł ÊuÇ

∫Xýu� Ê«uðÅv� fÄ ÆXÝ« t�uL�

 

  
ρ b =

m
V

=
47 / 3

22 / 94
 ®©t�uL� vK" v&U~Ç

  ⇒     ρ b = 2 /06g cm 3

≤‡‡≤‡‡¥ ∫»UžËœ v�U~Ç ÈÅt³ÝU×� ‡‡vÞuK2� U¹ ÊuO;�UáÝuÝ p¹ “« XÝ«  —U³Ž »UžËœ

ôuLF�® l¹U� p¹ “«ÎoKF�  —uP tÐ l¹U� —œ b�Uł  «—– t" Ê¬ ◊dý tÐ ¨vJO�«dÝ tO&Ë« œ«u� Ë ©»¬ 

X?Ýœ t?Ð »¬ v?&U?~Ç dÐ Ê¬ v&U~Ç rO;Ið “« Ê«uðÅv� eO� «— »UžËœ v³;� v&U~Ç ÆbMýUÐ t²ý«œ —«dQ

Êœd?"d?Ä U?Ð Æœu?ýÅv� ÁœUH²Ý« Å©—Ëe�® Ã—b� t�«u²Ý« UÐ Á˛Ë˛ s&UÐ “« ¨v&U~Ç ÈdOÖÅÁ“«b�« È«dÐ Æœ—Ë¬

»UžËœ Ê“Ë Á˛Ë˛ s&UÐ Ê“Ë Êœd" r" “« fÄ ¨Ê¬ s¹“uð Ë t�UA� jš Uð dE�Åœ—u� »UžËœ “« Á˛Ë˛ s&UÐ

UÐ Ê«uðÅv� Ë b¹¬Åv� XÝœÅtÐ »UžËœ v&U~Ç ̈ Ê¬ r−ŠdÐ Ê“Ë s¹« Êœd" rO;Ið UÐ fáÝ Ë b¹¬Åv� XÝœÅtÐ

Æœd" t³ÝU×� «— »UžËœ v³;� v&U~Ç ¨»¬ v&U~Ç dÐ œbŽ s¹« rO;Ið

 ‰U¦�±µ∫ p?¹ Á˛Ë˛ s?&U?Ð p?¹ “« vJO�«dÝ »UžËœ p¹ v³;� v&U~Ç ÈdOÖÅÁ“«b�« —uEM� tÐ

 Ê“Ë U?Ð Èd?²O&
  
582 / 8g U?Ð Á«d?L?¼ Á˛Ë˛ s?&U?Ð s?¹« Ê“Ë t?" v?ð—uP —œ Ær¹«ÅÁœd" ÁœUH²Ý« ccÅÅ±∞∞∞

 UÐ dÐ«dÐ »UžËœ
  
2212 / 8gÆbOM" t³ÝU×� «— Ê¬ v³;� v&U~Ç Ë v&U~Ç ¨býUÐ 

∫ qŠ

= 2212 / 8g − 582 / 8g =1630g»UžËœ Ê“Ë 

= 1630g
1000cm3

=1/ 63g cm3  »UžËœ v&U~Ç⇒

                                                                

»UžËœ v&U~Ç  

  
=

                      
1

=
1/ 63

1
=1/ 63v³;� v&U~Ç 



≥∂

                                                         ±[∂≥  »UžËœ v³;� v&U~Ç Ω ⇒

∫d1cð œ—u?šd?Ð v?�“Ë X?E?K?ž U¹ Èd²O& Ê“Ë ÕöDP« UÐ XÝ« sJL� XFMP —œ  UQË« vCFÐ

«— »U?žËœ d?²?O& p¹ Ê“Ë ¨ÈdOÖÅÁ“«b�« s¹« —œ ÆœË—Åv� —U"ÅtÐ v&U~Ç ÈUłÅtÐ v¼UÖ n¹dFð s¹« ÆbOM"

—UOF�¼œÅv� —«dQ —œuÄ œ«u� “« vB2A� —«bI� dÖ« t" XÝ« s¹« œuýÅv� ÕdD� ÊuM"« t" È«Åt&Q;�ÆrO

X?ÝœÅt?Ð t?³?ÝU?×?� o?¹d?Þ “« «— t?K?PUŠ »UžËœ v&U~Ç rO�«uðÅv� U¹¬ ¨rOM" ◊uK2� d~¹bJ¹ UÐ «— Ábý

qJý ¨œdOÖÅv� —«dQ ÁœUH²Ý« œ—u� —uEM� s¹« tÐ t" È«ÅtDÐ«— ÆXÝ« X³¦� ‰«RÝ s¹« tÐ aÝUÄ ør¹—Ë¬

∫“« X;ð—U³Ž Ë XÝ« v&U~Ç ÈÅtDÐ«— “« ÈdðÅÁœd²;Ö

         »UžËœ È«eł« Ê“Ë ŸuL−�                                     

=                                          
»UžËœ v&U~Ç 

»UžËœ È«eł« r−Š ŸuL−�                                              

ÆrO¼œÅv� ÊUA� «— tDÐ«— s¹« œdÐ—U" ÈÅÁu×� ¨‰U¦� bMÇ “« ÁœUH²Ý« UÐ ‰UŠ

 ‰U¦�±∂∫   “« ÁœUH²Ý« UÐ
  
16 / 76kg vJO�«dÝ tO&Ë« ÈÅÁœU� p¹ “« ® v³;� v&U~Ç UÐ≤/∂∞Ë ©

∏lÆbOM" t³ÝU×� «— »UžËœ v&U~Ç ÆXÝ« Ábý tONð vÐUžËœ ¨»¬ 

∫ qŠ v&U~Ç ÈÅtDÐ«— “« —uEM� s¹« È«dÐ ÆrOM"Åv� t³ÝU×� «— v
dB� tO&Ë« ÈÅÁœU� r−Š «b²Ð«

ÆrOM"Åv� ÁœUH²Ý«

Ê“Ë      

  

= 16760g
2 / 60g cm3

 —œuÄ r−Š =              ⇒r−Š 

v&U~Ç                                                                                    

  = 6446 /15cm3
 —œuÄ r−Š ⇒

 Ê“Ë v
dÞ “«∏ UÐ dÐ«dÐ »¬ d²O& 
  
8000g«— »UžËœ v&U~Ç d¹“ ÈÅtDÐ«— “« ÁœUH²Ý« UÐ ÆXÝ« 

∫r¹—Ë¬Åv� XÝœÅtÐ

               »UžËœ È«eł« Ê“Ë ŸuL−�                               

=                                        
»UžËœ v&U~Ç 

                                             
»UžËœ È«eł« r−Š ŸuL−� 

ÅÅ                        

  
=

(16760+ 8000)g

(6446 /15 + 8000)cm3 =1/ 71g cm3

 ‰U?¦�±∑∫  “« ÁœU?H²Ý« UÐ
  
20gö?�U" ”— Îv?&U?~?Ç UÐ pAš 

  
2 / 62g cm3

Ë   30cm3
¨»¬ 

Æb¹—Ë¬ XÝœ tÐ «— »UžËœ v³;� v&U~Ç Ë v&U~Ç Ær¹«ÅÁœd" tONð vÐUžËœ

 ∫qŠ                                                                                 —œuÄ Ê“Ë

  

=                  ⇒ 20g
2 / 62g cm3

= 7 / 63cm3
—œuÄ r−Š 

                                                                                    —œuÄ v&U~Ç   

 dÐ«dÐ »¬ v&U~Ç t"Ås¹« tÐ tłuð UÐ  1g cm3
 t−O²�—œ XÝ« 

  
= 30g Ê“Ë   30cm3

ÆXÝ« »¬ 



≥∑

  

= (20+ 30)g
(7 / 63 + 30)cm3

=1/ 33g cm3  ⇒»UžËœ v&U~Ç

=
1/ 33

1
=1/ 33»UžËœ v³;� v&U~Ç 

 ‰U¦�±∏∫  tÐ b¹UÐ «— »¬ “« vL−Š tÇ
  
50g pAš »UF& ®v&U~Ç UÐ

  
2 / 80g cm3

©t
U{« 

v&U~Ç UÐ vÐUF& »UžËœ Uð œd"
  
1/ 65g cm3

øœuý qPUŠ 

∫qŠ

v?&U?~?Ç t?DÐ«— “« ÁœUH²Ý« UÐ «— Ê¬ «b²Ð« fÄ Ær¹—«œ “UO� pAš »UF& r−Š tÐ ¨t³ÝU×� È«dÐ

ÆrOM"Åv� t³ÝU×�

  

= 50g
2 / 80g cm3

=17 / 8cm3
 pAš »UF& r−Š ρ =

m
V

⇒

 UÐ dÐ«dÐ b¹UÐ v¹UN� »UžËœ v&U~Ç rO�«œÅv�
  
1/ 65g cm3

∫Xý«œ rO¼«uš fÄ ÆbýUÐ 

                                                          «eł« Âdł ŸuL−�

 =
                                

»UžËœ v&U~Ç

                                                         
«eł« r−Š ŸuL−�

 VOðdðÅtÐ «— Â“ô »¬ r−Š Ë Ê“Ë t" vð—uP—œx Ë y∫rO;¹uMÐ rO�«uðÅv� ¨rOM" ÷d
 

  

1/ 65 = 50+ x
17 / 8 + y

 U?Ð d?Ð«d?Ð »¬ v&U~Ç v
dÞ “«  1/0gr cm 3
Èœb?Ž d?E?� “« »¬ r−Š Ë Ê“Ë t−O²�—œ ÆXÝ« 

∫vMF¹ ¨XÝ« ÊU;J¹x = y

“UO�ÅÅœ—u� »¬ r−Š⇒    1/ 65 = 50+ y
17 / 8 + y

⇒    y = 31/ 7cm3

∫d?1cðv?�U?¹d?ł ’«u?š b?�U?ł œ«u� U¹ »¬ ÊœËe
« UÐ rOýUÐ —u³−� XÝ« sJL�  UQË« vCFÐ 

ôuLF� v²&UŠ sOMÇ —œ ÆrOM" `O×Bð «— »UžËœÎU¹ »¬ ÊœËe
« “« ÁœUH²Ý« UÐ «— v²AÖdÐ ÈU¼Å»UžËœ 

È“U;�«Ë— “« fÄ ̈ »UžËœ t²¹“uJ;¹Ë Êœu³� rOEMð  —uP —œ Ë Áb�UÝ— dE�œ—u� v&U~Ç tÐ b�Uł œ«u�

ÆœuýÅv� bO&uð jš œ—«Ë tKPUŠ »UžËœ ¨œb−�

 ‰U¦�±π∫  Êe2� p¹ —œ≤±∞ v³;� v&U~Ç UÐ »UžËœ ̈ Èd²O& ≤/±µ—«bI� tÇ ÆXÝ« œułu� 

 tÐ Ê¬ v³;� v&U~ÇUð œËe
« b¹UÐ »UžËœ —«bI� s¹« tÐ »¬≤/∞∞øbÐU¹ g¼U" 



≥∏

∫qŠ

ÆrOM"Åv� t³ÝU×� «— œułu� »UžËœ Ê“Ë «b²Ð«

ρ =
m
V

 ⇒  m = ρ .V

  ⇒  m = 2 /15g cm 3 × 210000cm 3 = 451500g

»¬ v&U~Ç tJM¹« tÐ tłuð UÐ  
1g cm3

f?Ä ÆbM²;¼ dÐ«dÐ ÈœbŽ dE�“« Ê¬ r−Š Ë Ê“Ë ¨XÝ« 

 «— “UO� œ—u� »¬ Ê“Ë dÖ« x eO� Ê¬ r−Š ¨r¹dO~Ð dE�—œx∫t−O²�—œ ÆœuÐ b¼«uš 

«eł« Ê“Ë ŸuL−�                                                         

=
                             

»UžËœ v&U~Ç 

«eł« r−Š ŸuL−�                                                          

  
⇒ 2 /00=

451500+ x
210000+ x

⇒ x =15750cm 3

 UÐ dÐ«dÐ d²O& d¼ t"Ås¹« tÐ tłuð UÐ±∞∞∞ ̈ XÝ« VFJ�d²�Åv²�UÝ =
15750

1000
=15 / 75l“UO�Åœ—u� »¬ r−Š 

ÆbÝdÐ dE� œ—u� —«bI� tÐ Ê¬ v&U~Ç Uð œËe
« »UžËœ tÐ «— »¬ —«bI� s¹« b¹UÐ fÄ

s¹dLð

±ÆbOM" q�U" v&U~Ç Ë r−Š ¨Ê“Ë tÐ ◊uÐd� d¹œUI� ÈÅt³ÝU×� “« ÁœUH²Ý« UÐ «— d¹“ ‰Ëbł ‡‡

Âdłr−Šv�U~Ç

tAOý
  
41/ 66g  16 / 80cm3

ø

sO
«—UÄ
  
39 / 20g  50/00cm3

ø

bO;"« rOMO�u&¬
  
84 / 30g  cm3ø

  
3 / 75 g cm3

»¬gø  4 /00lit
  
1/00g cm3

sO&uzU"gø  62 / 4cm3

  
2 / 5 g cm3

œôu
kgÅ±  m
3ø

  
484 lb ft3

≤v?&U?~?Ç UÐ È«ÅÁœU� ©n&« v³;� v&U~Ç ‡‡
  
316 lb ft3

» ©Ê“ËÅt?Ð v?łU?ł“ vMOÇ tFDQ p¹ 

  
52 / 67gr?−Š Ë   18 / 60cm3

Ã ©v?&U?~?Ç U?Ð v?F¹U� 
  
2 / 95g cm3

œ Ë ©Ê“ËÅt?Ð t?A?O?ý tJð p¹ 

  
3 / 26gr−Š Ë   1/ 30cm3

ÆbOÐUOÐ «— 



≥π

≥ —«b?I?� ¨©v&U~Ç ÈdOÖÅÁ“«b�« ’uB2� ·dþ® d²�uMJOÄ p¹ —œ ‡‡Å
  
0/ 585g—œuÄ p¹ “« 

 —œuÄ s¹« v³;� v&U~Ç t" vð—uP—œ ÆXÝ« Ábý t
U{« »¬ vB2A� —«bI� tÐ vJO�«dÝ≤/≥µ¨býUÐ 

ÆbOM" t³ÝU×� «— Ábý UłÅtÐUł »¬ r−Š

¥ Ê“Ë tÐ v
dþ ‡‡
  
48 / 60g v³;� v&U~Ç UÐ vF¹U�  tKOÝË tÐ ±/µ∑vð—uP —œ ÆXÝ« Ábý dÄ 

 UÐ dÐ«dÐ l¹U� UÐ ·dþ ŸuL−� Ê“Ë t"
  
216 / 30gÆbOM" t³ÝU×� «— ·dþ s¹« r−Š ¨býUÐ 

µdÐ«dÐ Ê¬ È—ËÅtÞuž Ê“Ë t"«— È«Åt�uL� Èd¼Uþ v&U~Ç Ë »¬ »cł bP—œ ̈ q2K2ð bP—œ ‡‡ÅÅÅ

 UÐ
  
149g U?Ð d?Ð«d?Ð Ê¬ q?�U" »¬ »cł “« fÄ Ê“Ë Ë ≥¥≤gU?Ð d?Ð«dÐ Ê¬ pAš Ê“Ë Ë ≤∏∞g¨XÝ« 

ÆbOM" t³ÝU×�

∂  UÐ dÐ«dÐ  «u¼ —œ È«Åt�uL�  Ê“Ë ‡‡ 
  
84 /10g  UÐ  dÐ«dÐ È—ËÅtÞuž  X&UŠÅ—œ Ë 

  
47 / 30gÆXÝ«

• t�uL� s¹« Èd¼Uþ q2K2ð —«bI� t" vð—uP —œ≤≥/∂ÆbOM" »U;Š «— Ê¬ vK" v&U~Ç ¨býUÐ 

∑ v?³;� v&U~Ç UÐ È«Åt�uL� ‡‡≤/∂≥  —«dŠ ÈÅtł—œ Uð «—     1450
oC“« bFÐ Ær¹«ÅÁœ«œ  —«dŠ 

 t?Ð Ê¬ v?³;� v&U~Ç ¨Êœ«œ  —«dŠ≤/≥¥X?³?;?� «— t?�u?L� s¹« r−Š g¹«e
« bP—œ ÆbÐU¹Åv� g¼U" 

ÆbOM" t³ÝU×� tO&Ë« X&UŠÅtÐ

∏“« t" vÐUžËœ v&U~Ç ‡‡ÅÅÅ¥µgv&U~Ç UÐ® pAš ”— „Uš 
  
2 / 50g cm3

© Ë  ±µ±g»¬ 

øXÝ« —bIÇ ¨Ábý tONð

πtÐ b¹UÐ «— »¬ VFJ�d²�Åv²�UÝ bMÇ ‡‡¥∞g v³;� v&U~Ç UÐ ® pAš »UF& ≤/π∞rOM" t
U{« ©

UÐ dÐ«dÐ »UžËœ v&U~Ç Uð
  
1/ 52g cm3

øœuý 



¥∞

r−MÄ qB�

d~¹bJ¹ tÐ v�«dMO� Ë v¹UOLOý eO�U�¬ q¹b³ð

∫È—U²�— ÈU¼Å·b¼∫b�«u²Ð qB
 s¹« ÊU¹UÄ “« fÄ ułdM¼ œË—Åv� —UE²�« 

±œu?łu� ÈU¼bO$%« b&—œ ¨h)Uš v�U% bMÇ v¹UOLOý ‰u�d
 “« ÁœUH²Ý« UÐ ‡‡

ÆbM% sOOFð «— U¼ÅÊ¬—œ

≤b?&—œ ¨Åt?O?)Ë« ÁœU?� —œ œu?łu?� ÈU?¼Å‰«d?M?O?� v?¹U?O?L?Oý ‰u�d
“« ÁœUH²Ý« UÐ ‡‡

ÆbM% sOOFð «— Ê¬ —œ œułu� ÈU¼bO$%«

≥ÈU?¼Å‰«d?M?O� b&—œ ¨tO)Ë« œ«u� —œ œułu� ÈU¼bO$%« b&—œ “« ÁœUH²Ý« UÐ ‡‡

ÆbM% sOOFð «— Ê¬ —œ œułu�

±ÅÅ‡‡µv�U( ‰u�d� “« ÁœUH²Ý« UÐ tO�Ë« œ«u� —œ œułu� ÈU¼bO1(« b2—œ sOOFð ‡‡ÅÅ

“« g?O?Ä Á—«u?L?¼ ÆX?Ý« —«œ—u?šd?Ð v?�«Ë«d?
 XOL¼« “« ¨tO)Ë« œ«u� v¹UOLOý VO%dð UÐ v¹UMý¬

Ær?OýUÐ t²ý«œ v
U%  UŽöÞ« Ê¬ v)«dMO� Ë v¹UOLOý VO%dð “« b¹UÐ ¨bO)uð bM¹¬d
 —œ ÁœU� p¹ ·dB�

rO�«bÐ «— Ê¬ Ê«eO� Ë  UáÝbK
 Ÿu� b¹UÐ ̈ rOM%Åv� ÁœUH²Ý« t�bÐ —œ vðUáÝbK
 „Uš p¹ “« dÖ« ‰U¦� È«dÐ

 ÈU¼bO$%« dE� “« Áó¹uÐ Ê¬ v¹UOLOý VO%dð rO�«bÐ Ë v¹UOKLÈÅÁu×� ÁœUÝ ‰U¦� bMÇ UÐ ‰UŠ ÆXÝ« t�u~Ç

ÆrO¼œÅv� ÊUA� ÁœU� v)«dMO� ‰u�d
 ÈË— “« «— v¹UOLOý È«eł« ÈÅt³ÝU×�

 ‰U¦�± ∫ÆbOM% t³ÝU×� «— sO)uzU% ‰«dMO� ÁbM¼œÅqOJAð ÈU¼bO$%« b&—œ

∫qŠ

ÆrOM%Åv� t³ÝU×� «— Ê¬ v)uJ)u� Ê“Ë Ë rO$¹u�Åv� «— sO)uzU% v¹UOLOý ‰u�d
 «b²Ð«

Al2O
3
.2SiO2.2H2OsO)uzU% v¹UOLOý ‰u�d
 ∫

  = 2 × 27 + 3 × 16 =102 v)uJ)u� Ê“Ë 
  
Al2O

3

    = 28 /1+2 × 16 = 60/1 v)uJ)u� Ê“Ë 
  
SiO2

  = 2 × 1+16 =18 v)uJ)u� Ê“Ë 
  
H2O



¥±

  =102+ (2 × 60/1) + (2 × 18) = 258 / 2 v)uJ)u� Ê“Ë  sO)uzU%⇒

 —œ «eł« “« p¹Åd¼ v�“Ë b&—œ Êœd% «bOÄ È«dÐ ‰UŠ ‰u� p¹¡eł d¼ v)uJ)u� Ê“Ë ̈  sO)uzU%

ÆrOM%Åv� »d{ b& —œ «— q&UŠ Ë Áœd% rO$Ið ¨‰«dMO� q% v)uJ)u� Ê“Ë tÐ «—

  

  
Al2O3(  w-) = 102

258 / 2
× 100= 39 / 50-

  
SiO2(w-) =

(2 × 60/1)
258 / 2

× 100= 46 / 50-

  
H2O(w-) =

(2 × 18)
258 / 2

× 100=14 /00-

 ¨h?)U?‡?š X?O?M?O?)uzU‡% ‰u� d‡¼ —œ ôU‡Ð  U³ÝU×� ”UÝ« dÐ fÄ≥π/µ  -¨b?O?$?%« ÂuOMO�u)¬ Å

  -¥∂/µÅ Ë bO$%« rO$OKOÝ ±¥  -Å »¬ 
  
(H2O)Æœ—«œ œułË 

 ‰U¦�≤∫ ÆbOM% t³ÝU×� «— ©pOÝU²Ä  UáÝbK
® “ö%uð—« ÁbM¼œÅqOJAð ÈU¼bO$%« v�“Ë b&—œ

∫qŠ

Ê¬ v)uJ)u� Ê“Ë Ë rO$¹u�Åv� «— ©pOÝU²Ä  UáÝbK
® “ö%uð—« v¹UOLOý ‰u�d
 «b²Ð«

ÆrOM%Åv� t³ÝU×� «—

  
K2O.Al2O

3
.6SiO2“ö%uð—« v¹UOLOý ‰u�d
 ∫

  = 2 × 39 /1+16 = 94 / 2 v)uJ)u� Ê“Ë 
  
K2O

±∞≤ v)uJ)u� Ê“Ë Ω 
  
Al2O

3

∂∞[± v)uJ)u� Ê“Ë Ω 
  
SiO2

  = 94 / 2+102+ (60/1 × 6) = 556 / 8 “ö%uð—« v)uJ)u� Ê“Ë ⇒

=
94 / 2

556 / 8
× 100=16 / 9-v�“Ë b&—œ 

  
K2O

=
102

556 / 8
× 100=18 / 3 -v�“Ë b&—œ

  
Al2O

3

=
360/ 6

556 / 8
× 100= 64 / 8 - v�“Ë b&—œ 

  
SiO2

 ‰U¦�≥∫ ÆbOM% t³ÝU×� «— ©p¹bÝ  UáÝbK
® XO³)¬ ‰«dMO� ÈÅÁbM¼œÅqOJAð ÈU¼bO$%« v�“Ë b&—œ

  
Na2O.Al2O

3
.6SiO2 ∫ XO³)¬ v¹UOLOý ‰u�d


  = 2 × 23 +16 = 62 v)uJ)u� Ê“Ë 
  
Na2O

‡‡ ¿  w -ÆbO�«ucÐ v�“Ë b&—œ «—ÅÅ

¿



¥≤

  =102 v)uJ)u� Ê“Ë 
  
Al2O

3

  = 60/1 v)uJ)u� Ê“Ë 
  
SiO2

  = 62+102+ (6 × 60/1) = 524 / 60 p¹bÝ  UáÝbK
 v)uJ)u� Ê“Ë ⇒

  -
  

= 62

524 / 60
× 100=11/ 80 v�“Ë b&—œ 

  
Na2O

  

= 102

524 / 60
× 100=19 / 4  - v�“Ë b&—œ

  
Al2O

3

  -
  

= 360/ 6

524 / 60
× 100= 68 / 80 v�“Ë b&—œ 

  
SiO2

ÈU¼bO$%« v�“Ë b&—œ ̈ ÁœU� p¹ v)uJ)u� U¹ v¹UOLOý ‰u�d
 ÈË— “« Ê«uðÅv� t�u~Ç t% rO²šu�¬

ôuLF� ÆrOM% t³ÝU×� «— Ê¬ ÈÅÁbM¼œÅqOJAðÎ ÁœUH²Ý« œ—u� pO�«dÝ l¹UM& —œ t% È«ÅtO)Ë« œ«u� ¨—«dL

eO� «— Ê¬ b&—œ ¨v�U% d¼ ‰u�d
 dÐ ÁËöŽ b¹UÐ Èœ—«u� sOMÇ —œ Æb�—«œ ‰«dMO� p¹ “« gOÐ ¨b�dOÖÅv�

 U?ð rO�«bÐ tO)Ë« ÈÅÁœU� —œ r?O�«u²Ð ‰U?¦?� t?Ð Ær¹—Ë¬ XÝœ tÐ «— Ê¬ ÈÅÁbM¼œÅqOJAð ÈU¼bO$%« b&—œ¥

ÆbOM% tłuð

 ‰U¦�¥∫ ‰Ëbł ±‡‡µ tO)Ë« ÁœU� s¹« t% b¼œÅv� ÊUA� «— vÝ— tO)Ë« ÁœU� t�uL� p¹ v)«dMO� eO)U�¬

 q�Uý∏µ ¨s?O)uzU% v�“Ë b&—œ Å  15 “ö%uð—« b&—œÅ®ÈU?¼bO$%« b&—œ ÆXÝ« ©pOÝU²Ä  UáÝbK


Æb¹—Ë¬ XÝœÅtÐ «— tO)Ë« ÁœU� s¹« —œ œułu� nK²c�

∫qŠ

—œ Ábý d%– d¹œUI� È«—«œ —u%c� ÈU¼Å‰«dMO� “« p¹Åd¼ ÈÅÁbM¼œÅqOJAð È«eł« p¹—u¾ð —uÞÅtÐ

® ‰Ëbł± ‡‡µÆbM²$¼ ©

©Å•Å® bO1(«             

  
SiO

2  
Al

2
O

3
   

  
K

2
O

  
H

2
O

‰«dMO�

sO)uzU%¥∂[µ≥π[µ‡‡  ±¥

“ö%uð—«∂¥[∏±∏[≥±∂[π‡‡

 s?O)uzU% ‰«dMO� t% s¹« tÐ tłuð UÐ    85 -“« ÁœU?H²Ý« UÐ ¨b¼œÅv� qOJAð «— vÝ— tO)Ë« ÁœU� s¹« 

 s¹«dÐUMÐ Æœd% t³ÝU×� VOðdð s¹bÐ «— œ—Ë¬Åv� œuš Á«dL¼ t% v¹U¼bO$%« Ê«eO� Ê«uðÅv� VÝUMðb&—œ 

 ‰Ëbł±ÅÅ‡‡µpOÝU²Ä  UáÝbK� Ë sO�uzU( ÈU¼Å‰«dMO� ÈÅÁbM¼œÅqOJAð È«eł« ‡‡ÅÅ



¥≥

b?�—œ —œ f?á?Ý Ë Áœd?� r?O?�?Ið b� œbŽ tÐ «— tO�Ë« ÁœU� s¹« ÈÅÁbM¼œÅqOJAð ÈU¼Å‰«dMO� “« p¹d¼

∫rOM�Åv� »d{ ‰«dMO� Ê¬ —œ œułu� ÈU¼bO��«

 b�—œ  SiO2sO�uzU�

µ[¥∂±∞∞

  
x =

85

100
× 46 / 5∏µ

SiO2 = 46 / 5 × 85
100

= 39 / 53

Al2O3 = 39 / 5 × 85
100

= 33 / 58

H2O =14 × 85
100

=11/ 9














∫ sO�uzU�®Å∏µÅ  -©

  

SiO2 = 64 / 8 ×
15

100
= 9 / 72

Al2O3 =18 / 3 ×
15

100
= 2 / 74

K2O =16 / 9×
15

100
= 2 / 53















 

 pOÝU²Ä  UáÝbK= ∫®Å±µÅ  -©

∫rOM�Åv� lLł r¼ UÐ «— nK²A� ÈU¼bO��« È«dÐ Áb�¬ XÝœÅtÐ œ«bŽ« fáÝ

SiO2 = 39 / 53 + 9 / 72 = 49 / 25

Al2O
3

= 33 / 58 + 2 / 74 = 36 / 32

K2O =0 + 2 / 53 = 2 / 53

 H2O =11/ 90 + 0=11/ 9  
                  100

Å                       ÅÅ                                                         

©U¼bO��« lLł®

ÆX=dÖ dEF—œ tO�Ë« ÁœU� —œ bO��« Ê¬ b�—œ Ê«uMŽÅtÐ Ê«uðÅv� «— Áb�¬ÅXÝœÅtÐ d¹œUI� “« p¹d¼

 ‰U¦�µ∫ “« t²�AF “uF“ tO�Ë« ÁœU� dÖ« µ¥  -¨eð—«u� vF“Ë Å  - ¥≥ Ë s?O�uzU� vF“Ë Å≥  -vF“Ë Å

ÆbOM� t³ÝU×� «— tO�Ë« ÁœU� s¹« —œ œułu� ÈU¼bO��« b�—œ ¨býUÐ Ábý qOJAð XO�K�

∫qŠ

—œ Ábý d�– d¹œUI� È«—«œ —u�c� ÈU¼Å‰«dMO� “« p¹Åd¼ ÈÅÁbM¼œÅqOJAð È«eł« vJ¹—u¾ðÅÅ—uÞÅtÐ

® ‰Ëbł≤‡‡µÆbM²�¼ ©



¥¥

b�—œ —œ «— tO�Ë« ÁœU� ÁbM¼œÅqOJAð ÈU¼Å‰«dMO� “« p¹d¼ ÈU¼b�—œ ¨q³R ‰U¦� bMFUL¼ ‰UŠ

∫rOM�Åv� »d{ ‰«dMO� Ê¬ ÁbM¼œÅqOJAð ÈU¼bO��«

  
SiO2 =100×

54

100
= 54 /00 eð—«u�Å∫®Åµ¥  -©Å

  

SiO2 = 46 / 50×
43

100
= 20

Al2O
3

= 39 / 50×
43

100
=16 / 98

H2O =14 /00×
43

100
= 6 /02















 sO�uzU�∫®Å¥≥  -©Å

  

CaO = 56 /10×
3

100
=1/ 68

CO2 = 44 /00×
3

100
=1/ 32










 XO�K�∫®Å  -≥©Å

∫rOM�Åv� lLł r¼ UÐ «— nK²A� ÈU¼bO��« È«dÐ Áb�¬ XÝœ tÐ œ«bŽ« UłÅs¹« —œ

SiO2 = 54 + 20 + 0= 74

Al2O
3

=0 + 16 / 98 + 0=16 / 98

  CaO =0 + 0 + 1/ 68 =1/ 68

H2O =0 + 6 /02 + 0= 6 /02

  

  CO2 =0 + 0 + 1/ 32 =1/ 32   
                                100/00

                                                                            

©U¼bO��« lLł®

t²�AF “uF“ tO�Ë« ÁœU� —œ bO��« Ê¬ b�—œ Ê«uMŽ tÐ Ê«uðÅv� «— Áb�¬ XÝœÅtÐ d¹œUI� “« p¹d¼

ÆX=dÖ dEF—œ

 ‰Ëbł≤Å‡‡µXO�K� Ë sO�uzU� ¨eð—«u� ÈÅÁbM¼œ qOJAð È«eł« ‡‡ÅÅ

©Å•Å® bO��«            

  
SiO

2  
Al

2
O

3
  CaO

  
H

2
O

  
CO

2

‰«dMO�

eð—«u�±∞∞‡‡‡‡‡‡‡‡

sO�uzU�¥∂[µ≥π[µ‡‡±¥‡‡

XO�K�‡‡‡‡µ∂[±‡‡¥¥



¥µ

± ‡‡L.O.I  —U³Ž nHA� Loss Of Ignition —«dŠ dŁ« —œ Ê“Ë g¼U� vMF� tÐ 

≤ v�OK~F« ÕöD�« —œ ‘Ë— s¹« tÐ ‡‡Rational AnalysisÆbM¹uÖ 

≤‡‡ÅÅµv¹UOLOý eO�U-¬ “« ÁœUH²Ý« UÐ tO�Ë« ÈÅÁœU� —œ œułu� ÈU¼Å‰«dMO� b5—œ sOOFð ‡‡ÅÅ

tO�Ë« ÅÅœ«u� v¹UOLOý eO�UF¬ “« q�UŠ Z¹U²F oKD� —uÞÅtÐ Ê«uðÅvLF  U³ÝU×� ÈË— “« UNMð tÇdÖ«

v¹U¼Å‘Ë— “« vJ¹ v¹UOLOý eO�UF¬ ÈË— “« v�«dMO� eO�UF¬ v³�F sOLAð U�« ̈ œd� q¹b³ð v�«dMO� eO�UF¬ tÐ «—

t� bOýUÐ t²ý«œ œU¹ tÐ ÆXÝ« ÁbýÅv� ÁœUH²Ý« Ê¬ “« v=dB� ÈÅtO�Ë« œ«u� vÐU¹“—« —œ U¼Å b� t� XÝ«

OFð —uEM�ÅtÐ p¹ —œ œułu� ÈU¼Å‰«dMO� vHO� Ë vL� sOtO�Ë« ÁœU�vÄuJÝËdJO� Ë v¼U~²Ýœ ÈU¼Å‘Ë— UNMð ̈

ÆXÝ« fJ¹« tFý« ‘«dÄ “« ÁœUH²Ý« ¨U¼Å‘Ë— s¹« s¹dðÅ‰Ë«b²� ÆbF—«œ—ušdÐ v=U� —U³²Ž« Ë XRœ “«

U?Ð t²ýcÖ —œ t� r¹uýÅv� UMý¬ vðU³ÝU×� ÈU¼Å‘Ë— UÐ XL�R s¹« —œ ¨bý t²HÖ tÇÅÊ¬ œułË UÐ

Áœd?� ·dÞdÐ v�«dMO� tÐ v¹UOLOý eO�UF¬ q¹b³ð —œ «— U¼ÅÊ¬ “« ÊUÖbMM�ÅÁœUH²Ý« ÈU¼“UOF v�u³R qÐUR XRœ

ÆXÝ«

ôu?L?F?� b?O?F«œÅv?� t?� —u?ÞÅÊUL¼ÎÈU?¼b?O?�?�« v?F“Ë b?�—œ V?�?Šd?Ð «— œ«u?� v?¹U?O?LOý eO�UF¬ 

ö¦� ÆbMM�Åv� ÊUOÐ U¼ÅÊ¬ ÈÅÁbM¼œÅqOJAðÎ‰Ëbł —œ ÃUž¬ÅÁdR sO�uzU� v¹UOLOý eO�UF¬ ÈÅÁbý ÁœUÝ qJý 

®≥‡‡µtÐ tłuð UÐ ÆXÝ« Ábý Áœ—Ë¬ ©h�Uš qJý tÐ ÈbO��« È«eł« s¹« vÝ— ÈÅÁœU� p¹ —œ t�Ås¹« 

ÈU?¼Å‰«d?M?O?� ÆX?Ý« —«œ—ušdÐ v�Uš XOL¼« “« Ê¬ v�«dMO� VO�dð s²�F«œ Ë—Ås¹« “« ¨bF—«bF œułË

 ÈÅÁbM¼œÅqOJAð vK�«ÈÅtO�Ë« œ«u�ôuLF� vÝ— ÎÆeð—«u� Ë UJO� ¨ UáÝbK= ¨vÝ— œ«u� ∫“« bMð—U³Ž 

bO��« Ÿu-
  
SiO

2  
Al

2
O

3
CaOL.O. I±

v-“Ë b5—œµ∏[∞∞≥∞[∞∞±[∞∞±±[∞∞

 ‰Ëbł≥Å‡‡µÃUž¬ÅÁd< sO�uzU� Ábý ÁœUÝ v¹UOLOý eO�U-¬ ‡‡ÅÅ

v?�«d?M?O?� e?O?�U?F¬ r?O?F«uðÅv� v¹UOLOý eO�UF¬ d¹œUI� tÐ tłuð UÐ Ë ÁœUÝ  U³ÝU×� ÈdÝ p¹ “« ÁœUH²Ý« UÐ

 v³¹dIðtO�Ë« ÁœU�‘Ë— s¹« v~Fu~Ç Ë qŠ«d� tÐ ‰UŠ ÆrOM� sOOFð «— dEFœ—u� 
≤

tłuð UÐ Ær¹“«œdÄÅv� 

 s¹« v¹UOLOý eO�UF¬ —œ t�Ås¹«ÅÅtÐtO�Ë« ÁœU� ÂULð Ê«uðÅv� fÄ ̈ œ—«bF œułË v¹UOKR bO��« 
  
Al2O

3
œułu� 

∫rOM�Åv� qLŽ sOMÇ Ÿu{u� s¹« tÐ tłuð UÐ ÆrO¼œ X³�F tO�Ë« ÁœU� —œ sO�uzU� ‰«dMO� —uCŠÅÅtÐ «—

Al2O
3
.2SiO2.2H2O                   Al2O

3

±∞≤                         XL�R ≤µ∏[≤XL�R 

≥∞                                    x

  

⇒ x = 30×258 / 2

102
= 75 / 94



¥∂

 È«“« tÐ t� XÝ« s¹« d~FUOÐ ÈbMÐÅVÝUMð qLŽ “« q�UŠ ÈÅt−O²F≥∞ XL�R 
  
Al2O

3
—œ œułu� 

tO�Ë« ÁœU� ̈∑µ[π¥Áb¹œ sO�uzU� ‰«dMO� v¹UOLOý ‰u�d= “« t� —uÞÅÊUL¼ ÆXý«œ rO¼«uš sO�uzU� XL�R 

 È—«bI� ¨œuýÅv�
  
SiO2ÆrOM�Åv� t³ÝU×� «— Ê¬ Ê«eO� ÊuM�« t� œ—«œ œułË Ê¬ —œ 

Al2O
3
.2SiO2.2H2O               2SiO2

±≤∞[≤∞                XL�R ≤µ∏[≤∞L�R X

  
x1                    ∑µ[π¥

  

x1 = 75 / 94×120/ 20

258 / 20
= 35 / 35 ® —«bI�

  
SiO2 —œ œułu� ∑µ[π¥©sO�uzU� XL�R 

 —«b?I�
  
SiO2‰Ëb?ł v?¹U?O?L?O?ý e?O�UF¬ —œ œułu� ®Å≥ÅÅ‡‡µ U?Ð d?Ð«dÐ ©µ∏—«b?I?� s?¹« “« t� XÝ« 

≥µ[≥µ ÈÅtOIÐ ̈ s¹«dÐUMÐ XÝ« sO�uzU�—œ XL�R 
  
SiO2� s¹« —œ eð—«u�  —u�ÅtÐ b¹UÐ tO�Ë«ÅÁœU ®©ÃUž¬ÅÁdR

∫Xý«œ rO¼«uš fÄ ÆbýUÐ œułu�

  = 58 /00− 35 / 35 = 22 / 65eð—«u� —«bI� 

 t?Ð XÐuF ‰UŠCaO� —œ b?O?��« s¹« œułË ÆbÝ—Åv� tO�Ë«ÅÁœUv?ðU?M?Ðd?� v�«dMO� œułË d~FUOÐ ¨

ö¦�®Î∫XÝ« „Uš —œ ©XO�K� 

  

CaCO
3

                CaO

   100                      56

        x2                     1

  
x

3
=

100

56
=1/ 78 ®� —œ œułu� XO�K� —«bI�tO�Ë«ÅÁœU ©⇒

∫rOM�Åv� t³ÝU×� «— U¼Å‰«dMO� ŸuL−� ‰UŠ

 
  75 / 94    sO�uzU�

     
  22 / 65    eð—«u�

 

1/ 78  
 100/ 37    

XO�K�

b?F«u?ðÅv?� ¨œu?ýÅv?� Õd?D?� e?ð—«u� ‰«dMO� Ê«uMŽ X×ð UłÅs¹« —œ tÇÅÊ¬ t� XÝ« d�cð tÐ Â“ô

ö¦�® Ê¬ ·—u�ÅvKÄ ‰UJý« “« d~¹œ vJ¹  —u�ÅtÐÎ —œ ¨eOF ©ì Ë œ«“¬ eð—«u� ¨XO�UÐu²�¹d� �tO�Ë«ÅÁœU

ÆbýUÐ œułu�

4 +

4 +



¥∑

±‡‡≤Å‡?‡µ ∫ U?á?Ýb?K?@ ÈU?M?³� dÐ vÝ— tO�Ë« ÁœU� v�«dMO� eO�U-¬ t³ÝU×� ‡‡Å‘Ë— s?¹« —œ

 v�ULð t� rOM�Åv� ÷d=v¹UOK< ÈU¼bO��« v¹UOLOý VO�dð —œ œułu� �tO�Ë«ÅÁœU“« výUF jI= dEF œ—u� 

X?Ý«  UáÝbK=b?K?= Ê«e?O?� tÐ v¹UOKR ÈU¼bO��« Ê«eO� ÈË— “« rOF«uðÅv� vð—U³Ž tÐ Æ—œ œu?łu�  UáÝ

Ær¹d³Ð vÄ tO�Ë« ÈÅÁœU�

 ‰U¦�∂∫ ® ‰Ëb?ł —œ ”— „U?š ŸuF p¹ v¹UOLOý eO�UF¬¥ ‡‡µ—«bI� ÆXÝ« Ábý Áœ«œ ÊUAF ©

ÆbOM� t³ÝU×� «— „Uš s¹« —œ œułu� ÈU¼Å‰«dMO�

∫qŠ

ôuLF�Îb�—œ —«bI� dÖ« ̈ t³ÝU×� Êœd� dðÅÊUÝ¬ È«dÐ 
  
Na2OpÇu� v¹UOLOý eO�UF¬ —œ œułu� 

“« d²L� Ë ÁœuÐ
  
K2O ŸuL−� ¨œuÐ Ê¬ —œ œułu� 

  
Na2O Ë 

  
K2Os¹« ŸuL−� Ë r¹—Ë¬Åv� XÝœÅtÐ «— 

ÆfJF�UÐ Ë rO¼œÅv� X³�F „Uš —œ rOÝU²Ä  UáÝbK= œułË tÐ «— bO��« Ëœ

  
K2O + Na2O = 2 / 35 + 1/05 = 3 / 40

 tÇÅÊ¬ ”UÝ«dÐö³RÎ p?O?ÝU?²Ä  UáÝbK= —«bI� ÁœUÝ VÝUMð p¹ “« ÁœUH²Ý« UÐ rOF«uðÅv� ¨r¹b¹œ

∫r¹—Ë¬ XÝœÅtÐ «— œułu�

  
K2OK2O.Al2O

3
.6SiO2

  94 / 2  556 / 8

  3 / 40x

ÅÅ                                                     ÅÅÅÅÅÅÅÅÅÅÅÅÅÅ       x =
3 / 40× 556 / 8

94 / 2
⇒

 pOÝU²Ä  UáÝbK= —«bI�Å                                        ÅÅÅÅÅÅÅÅÅÅÅ   
  x = 20/09⇒

«¹s �Ib«— =KbÝáU  ÐAAv «“ 
  
Al2O

3
 Ë 

  
SiO2 �ułuœ œ— ¬FU�Oe ýOLOU¹v —« FOe �Bd·ÆbM�Åv�Å

K2O.Al2O
3
.6SiO2                 Al2O

3

             556 / 8                            102

           20/09                               x1

 ‰Ëbł¥ÅÅ‡‡µ

bO��« Ÿu-  
  
SiO

2  
Al

2
O

3  
Fe

2
O

3  
TiO

2
MgOCaO

  
Na

2
O

  
K

2
O   

Ê“Ë g¼U�

U¼bO��« lLł  

                        

dŁ«—œ

v-“Ë b5—œ  ∂±[≥∞≤∞[≤∞≥[¥∞∞[≤∞∞[≤¥±[∞±[∞µ≤[≥µ±∞[π∞∂¥[±∞∞

 —«dŠ



¥∏

  —«bI�®
  
Al2O

3
 —œ œułu�   20/09pOÝU²Ä  UáÝbK= XL�R © 

  
x1 =

20/09×102

556 / 8
⇒

  ⇒   x1 = 3 / 68

K2O.Al2O
3
.6SiO2            6SiO2

                556 / 8               (6 ×60/1)

                20/09                     x2

  —«bI�®
  
SiO2 —œ œułu�   20/09pOÝU²Ä  UáÝbK= XL�R ©Å

 x2 =
20/09× 360/ 6

556 / 8
⇒

  
⇒   x2 =13 /01

UŠ —«b?I� ‰
  
Al2O

3
œu?łËÅt?Ð «— Ê¬ f?á?Ý Ær?O?M?�Åv?� t³ÝU×� «— v¹UOLOý eO�UF¬ —œ ÁbFU�ÅvRUÐ 

ÆrO¼œÅv� X³�F sO�uzU�

= ® —«bI�
  
Al2O

3
pOÝU²Ä  UáÝbK= “« výUF © − ®—«bI�

  
Al2O

3
v¹UOLOý eO�UF¬ —œ©

     —«bI�®
  
Al2O

3
�ÅvRUÐ ÁbFU©

  20/ 20− 3 / 68 =16 / 52

Al2O
3
.2SiO2.2H2O             Al2O

3

             258 / 2                          102

              y                            16 / 52

  
y =

16 / 52×258 / 2

102
⇒

 ©tO�Ë« ÁœU� —œ œułu� sO�uzU� —«bI�® 
  
⇒  y = 41/ 81

M�««œb−� b¹UÐ ÊuÎ —«bI� 
  
SiO2 —œ œułu� ∏±[¥±∫rOM� t³ÝU×� eOF «— sO�uzU� XL�R 

  
Al2O

3
.2SiO2.2H2O           2SiO2

             258 / 2                   (2×60/1)

  
            41/ 81                     y1

y1 =
41/ 81×120/ 2

258 / 2
 ® —«bI�

  
SiO2 —œ œułu� ¥±[∑∂  ©sO�uzU� XL�R⇒

  
⇒  y1 =19 / 46



¥π

 ŸuL−� ÊuM�«
  
SiO2 q� —«bI� “« «— sO�uzU� Ë pOÝU²Ä  UáÝbK= —œ œułu� 

  
SiO2 ®eO�UF¬ —œ

 ÆrOM�Åv� r� ©v¹UOLOý ÁbFU�ÅvRUÐ
  
SiO2ÆrOM�Åv� —uEM� eð—«u� ‰«dMO� Ê«uMŽ tÐ «— 

®
  
SiO2 ´ pOÝU²Ä  UáÝbK= —œ œułu� 

  
SiO2sO�uzU� —œ œułu� ©Å

  
SiO2 −eð—«u� Ω q� 

  = 61/ 30− (19 / 46 + 13 /01) eð—«u� ⇒

  28 / 83 eð—«u� Ω ⇒

ÈÅtKŠd� —œ —uEM� s¹« È«dÐ Ær¹—Ë¬Åv� XÝœÅtÐ vð—«dŠ X=« —«bI� ÈË— “« «— ÈbFÐ  UŽöÞ«

ÆrOM�Åv� t³ÝU×� «— sO�uzU� ‰«dMO� “« v�uJ�u� »¬ ÃËdš dŁ« dÐ Ê“Ë g¼U� ¨‰Ë«

Al2O
3
.2SiO2.2H2O       2H2O

              258 / 2                (2×18)

            41/ 81                  y2  

y2 =
41/ 81× 36

258 / 2

©sO�uzU� “« v�uJ�u� »¬ ÃËdš “« výUF vð—«dŠ X=«® 
  
⇒ y2 = 5 / 82

Áb?FU?�Åv?RU?Ð ¨t?O?�Ë« ÁœU� v¹UOLOý eO�UF¬ —œ Ê“Ë g¼U� q� “« Ê“Ë g¼U� —«bI� s¹« Êœd� r� UÐ

 q¦� v�¬ œ«u� ÃËdš “« výUF t� Ê“Ë g¼U�
  
CO2d= œ«u� d¹UÝ Ë Ò∫b¹¬Åv� XÝœÅtÐ ¨œuÐ b¼«uš —«

©q� vð—«dŠ X=«®ÅÅ≠ÅÅ©sO�uzU� v�uJ�u� »¬ ÃËdš “« výUF vð—«dŠ X=«®      v�¬ œ«u� ÃËdš “« výUF vð—«dŠ X=«®   CO2d= È«eł« d¹UÝ Ë 
Ò

Ω©—«

  10/ 90−  5 / 82 = 5 /08

® ‰Ëbł  —u�ÅtÐ dEFÅœ—u� tO�Ë« ÁœU� v�«dMO� eO�UF¬ ̈ Ábý t³ÝU×� d¹œUI� tOK� tÐ tłuð UÐµÅÅ‡‡ÅÅµÆbýUÐÅv� ©

ÁœU� Ÿu-    d@ œ«u� UÐ v-“Ë b5—œ          Òd@ œ«u� ÊËbÐ v-“Ëb5—œ   —«Ò—«

sO�uzU�¥±[∏±∑≥[¥≥

pOÝU²Ä  UáÝbK=≤∞[∞π∞±[≤±

eð—«u�≤∏[∏≥±∂[≥∞

  
Fe

2
O

3
≥[¥∞µ∂[≥

  
TiO

2
∞[≤∞≤±[∞

MgO∞[≤¥≤µ[∞

CaO±∞µ[±

Å¨v�¬ ÁœU�
  
CO

2
Ë

—«d= œ«u� d¹UÝµ[∞∏∞

      
lLł  

±∞∞[∂µππ[π∑

 ‰ËbłµÅÅ‡‡ÅÅµ

Æœuý »d{ U¼b�—œÅ“« p¹d¼ —œ
100

100/ 65 − 5 /08
=1/046



µ∞

® ‰Ëbł ÈU¼bO��« lLł tÐ v¹UNF lLł bOM�Åv� Áb¼UA� t� —uDFUL¼¥ ‡‡µÆXÝ« p¹œeF —UO�Ð ©

d= œ«u� d¹UÝ Ë v�¬ ÁœU� t�Ås¹« tÐ tłuð UÐÒb?FuýÅv� Ã—Uš tO�Ë« ÁœU� “« Êœ«œ  —«dŠ sOŠ—œ —«

Ë U¼Å‰«dOM� ÈÅÁbFULORUÐ ŸuL−� Ë Áb¹œdÖ ·cŠ tO�Ë« ÁœU� v�«dMO� lLł “« U¼ÅÊ¬ —«bI� t� XÝ« ÂuÝd�

 œbŽ tÐ U¼bO��«±∞∞œ«u� UÐ vF“Ë b�—œ® Êu²Ý —œ œułu� œ«bŽ« ̈ ôUÐ ̀ O{uð tÐ tłuð UÐ Æœuý q¹b³ð 

d=Ò®Å‰Ëbł ©—«µ ‡‡ µd= œ«u� ·cŠ UÐ ©Òd= œ«u� ÊËbÐ vF“Ë b�—œ Êu²Ý œ«bŽ«  —u� tÐ —«ÒÆb¹¬Åv�—œ —«

≤‡‡≤ÅÅ‡?‡µ ∫U?J?O?� ÈU?M?³?� d?Ð v?Ý— t?O�Ë« ÁœU� v�«dMO� eO�U-¬ t³ÝU×� ‡‡ÅÅÁœU?H?²Ý« “« fÄ

t?F?ý« ‘«d?Ä ‘Ë— “« ÁœUH²Ý« UÐ Ábý ÂU−F«  UF�UD� ¨ UáÝbK= ÈUM³� dÐ vðU³ÝU×� ‘Ë— “« vFôuÞ

ôuLF� ¨œułu� ÈU¼Åv¹UOKR t� XšUÝ ÕdD� «— Áb¹« s¹« ¨fJ¹«ÎÁb¹« s¹« ÆbM²�¼ UJO� œułË “« výUF 

 v�«dMO� tÐ v¹UOLOý eO�UF¬ q¹b³ð vðU³ÝU×� ‘Ë— ÊUÖbMM�ÅÁœUH²Ý« t� bý YŽUÐtO�Ë« œ«u�vÝ— ÈUM³� ¨

d�– ‘Ë— tÐUA� œ—u� s¹« —œ Ábý ÂU−F«  U³ÝU×� v�ULð ÆbF“UÝ —«u²Ý« UJO� dÐ «— œuš  U³ÝU×�

ÆXÝ«  UáÝbK= ÈUł tÐ UJO� tÐ U¼ÅÅv¹UOKR Êœ«œ X³�F  ËUHð UNMð Ë XÝ« q³R XL�R —œ Ábý

 ‰U¦�∑∫ ® ‰Ëb?łÅ—œ œułu� v¹UOLOý eO�UF¬ s²=dÖ dEFÅ—œ UÐ¥ÅÅ‡‡µs¹« —œ œułu� ÈU¼Å‰«dMO� ¨©

tO�Ë« ÁœU�ÆbOM� t³ÝU×� UJO� ÈUM³�dÐ «— 

∫qŠ ¨ U?³?ÝU?×� ŸËdý È«dÐ
  
K2OË p?O?ÝU?²?Ä U?J?O?� “« v?ýU?F «— v¹UOLOý eO�UF¬ —œ œułu� 

  
Na2OÆr¹dOÖÅv� dEFÅ—œ p¹bÝ UJO� “« výUF «— 

 K2O.3Al2O
3
.6SiO2.2H2O              K2O ®©pOÝU²Ä UJO�

π¥[≤∑π∂[∏

≤[≥µx

 x =
2 / 35 × 796 / 8

94 / 2
⇒

 “« výUF pOÝU²Ä UJO� —«bI�® ≤[≥µ© bO��« rOÝU²Ä b�—œ 
  ⇒  x =19 / 87

—«bI� ‰UŠ
  
Al2O

3
 —œ œułu� ±π/∏∑  XL�RÆrOM�Åv� t³ÝU×� «— pOÝU²Ä ÈUJO�

K2O.3Al2O
3
.6SiO2.2H2O              3Al2O

3

                           796 / 8                    (3 ×102)

                          19 / 87                            x1

 ⇒ x1 =
19 / 87 × 306

796 / 8

                                                                                     
  
x1 = 7 / 63

®—«bI�
  
Al2O

3
 —œ œułu� ±π/∏∑  XL�R©pOÝU²Ä ÈUJO�

⇒



µ±

 —«bI� ÊuM�«
  
SiO2 —œ œułu� ±π/∏∑  XL�R∫rOM�Åv� t³ÝU×� «— pOÝU²Ä ÈUJO�

  
K2O.3Al2O

3
.6SiO2.2H2O            6SiO2

                  796 / 8                          (6 ×60/1)

  
                19 / 87                              x2

—«bI�®
  
SiO2 —œ œułu� ±π/∏∑  XL�R©pOÝU²Ä ÈUJO�⇒ x2 =

19 / 87 × 360/ 6

796 / 8
⇒

  
x2 = 8 / 99

ÆrOM� t³ÝU×� «— p¹bÝ ÈUJO� —«bI� ÊuM�«

 p¹bÝ ÈUJO� v�uJ�u� Ê“Ë∂[∑∂¥

Na2O.3Al2O
3
.6SiO2.2H2O                 Na2O ®©p¹bÝ ÈUJO�

                    ∂≤                                      ∂[∑∂¥

                  ∞µ[±                                        y

 “« výUF p¹bÝ ÈÅUJO� —«bI�® 
  1/05b�—œ    ⇒ y =12 / 94(Na2O

 d¹œUI� VOðdð tÐ ̈ ÊuM�«
  
Al2O

3
 Ë 

  
SiO2 —œ œułu� π¥[±≤  XL�Rt³ÝU×� «— p¹bÝ ÈUJO�

∫rOM�Åv�

            Na2O.3Al2O
3
.6SiO2.2H2O             3Al2O

3

  (3 ×102)  764 / 6

  
y1  12 / 94

 —«bI�® 
  
Al2O

3
p¹bÝ ÈUJO� —œ œułu� © y1 =

12 / 94× 306

764 / 6
= 5 /17⇒

Na2O.3Al2O
3
.6SiO2.2H2O               6SiO2

                       764 / 6                          (6 ×60/1)

                     12 / 94                             y2

 —«bI�® 
  
SiO2p¹bÝ ÈUJO� —œ œułu� © y2 =

12 / 94× 360/ 6

764 / 6
= 6 /10⇒

 ŸuL−� UłÅs¹« —œ
  
Al2O

3
ÆrOM�Åv� t³ÝU×� «— p¹bÝ ÈÅUJO� Ë pOÝU²Ä ÈUJO� —œ œułu� 

  7 / 63 + 5 /17 =12 / 8

 —«bI�
  
Al2O

3
dÐ ¨œ«œ ◊U³ð—« sO�uzU� tÐ Ê«uðÅv� «— Ê¬ t� ÁbFU�ÅvRUÐ ∫UÐ œuÐ b¼«uš dÐ«



µ≤

  12 / 8 = 7 / 4 ® ŸuL−�
  
Al2O

3
pOÝU²Ä Ë p¹bÝÅ ÈUJO� —œ œułu� ©Å

  20/ 20− ®
  
Al2O

3
©q�

 —œ œułu� sO�uzU� —«bI� ¨s¹«dÐUMÐtO�Ë« ÁœU�∫UÐ œuÐ b¼«uš dÐ«dÐ 

Al2O
3
.2SiO2.2H2O            Al2O

3

             258 / 2                        102

                Z                            7 / 4

 —œ œułu� sO�uzU� —«bI�®   ÅÅtO�Ë« ÁœU�  ©

  
Z =

7 / 4×258 / 2

102
=18 / 73 ⇒

—«bI�
  
SiO2—œ œułu� ∑≥[±∏ R∫UÐ œuÐ b¼«uš dÐ«dÐ sO�uzU� XL�

  
Al2O

3
.2SiO2.2H2O           2SiO2

               258 / 2                    120/ 2

  
             18 / 73                        Z1

—«bI�®             
  
SiO2sO�uzU� —œ œułu� © Z1 =

18 / 73 ×120/ 2

258 / 2
= 8 / 72 Å⇒

—«bI� ‰UŠ
  
SiO2sO�uzU� Ë p¹bÝ ÈUJO� ̈ pOÝU²Ä ÈUJO� ÈU¼Å‰«dMO� “« p¹ d¼ —œ œułu� 

 “« t?K�UŠ œbŽ Êœd� r� UÐ ÆrOM�Åv� lLł r¼ UÐ «—
  
SiO2b¼«uš q�UŠ eð—«u� ‰«dMO� —«bI� ¨q� 

∫bý

 ©eð—«u�®   61/ 30− (8 / 99 + 6 /10 + 8 / 72) = 37 / 49 ®Å
  
SiO2q� ©

p¹bÝ ÈUJO� ̈ pOÝU²Ä ÈUJO� ÈU¼Å‰«dMO� v�uJ�u� »¬ ÃËdš “« q�UŠ vð—«dŠ X=« ÊuM�«

 —œ œułu� sO�uzU� ËtO�Ë« ÁœU�∫rOM�Åv� t³ÝU×� «— 

K2O.3Al2O3 .6SiO2.2H2O            2H2O

                            796 / 8                           (2×18)

                           19 / 87                             x
3

 —œ œułu� v�uJ�u� »¬®  ∏∑[±π R ©pOÝU²Ä ÈUJO� XL�x
3

=
19 / 87 × 36

796 / 8
=0/ 89 ⇒

Na2O.3Al2O
3
.6SiO2.2H2O           2H2O

                          764 / 6                    (2×18)

                         12 / 94                      y
3



µ≥

                                                                        y
3

=
12 / 94× 36

764 / 6
=0/ 60 ⇒

  
Al2O

3
.2SiO2.2H2O           2H2O

              258 / 2                   (2×18)

  
           18 / 73                      Z2

  »¬®v�uJ�u� —œ œułu� ±µ[π≥�uzU� XL�R  ©ÅsOZ2 =
18 / 73 × 36

258 / 2
= 2 / 61⇒

  =0/ 89 + 0/ 6 + 2 / 61= 4 /1 ‰«dMO� tÝ v�uJ�u� »¬ ÃËdš “« výUF vð—«dŠ X=« ⇒

® ¨v�¬ œ«u� œułË “« výUF vð—«dŠ X=« ¨s¹«dÐUMÐ
  
CO2Å©∫UÐ œuÐ b¼«uš dÐ«dÐ ÁdOž ËÅÅÅ

  10/ 90− (0/ 89 + 0/ 6 + 2 / 61) = 6 / 8 ®d= œ«u� q�Ò©v¹UOLOý eO�UF¬ —œ —«

® ‰Ëbł  —u�ÅtÐ Ábý t³ÝU×� v�«dMO� eO�UF¬ t−O²F —œ∂ÅÅ‡‡ÅÅµÆœuÐ b¼«uš ©

 ‰Ëbł∂ ‡‡ÅÅµ

ÁœU� Ÿu-  v-“Ë XL�<

pOÝU²Ä ÈUJO�±π[∏∑

p¹bÝ ÈUJO�±≤[π¥

sO�uzU�±∏[∑≥

eð—«u�≥∑[¥π

  
Fe

2
O

3
≥[¥

  
TiO

2
∞[≤

MgO∞[≤¥

CaO±

d= œ«u�
Ò

—«∂[∏

lLł ÅÅÅ    ±∞∞[∂∑

 —«bI� dÖ« t� rO²HÖ q³R ÈU¼ÅXL�R —œ
  
Na2O tÐ X³�F tO�Ë« ÁœU� —œ œułu� 

  
K2OpÇu� 

 d¹œUI� ŸuL−� ̈ býUÐ Êœd� dEF ·d� qÐUR Ë
  
Na2O Ë 

  
K2OdEF —œ pOÝU²Ä  UáÝbK= Ê«uMŽ tÐ «— 

 b¹UÐ ¨býU³F  —u� s¹« tÐ v¹UOKR Ëœ s¹« X³�F Ë —«bI� t� vð—u� —œ Ær¹dOÖÅv�
  
Na2OtFUÖ«bł «— 

 q¹b³ð p¹bÝ  UáÝbK= tÐM� ‰U¦� ÆrO∏tÐ UNMð XRË —œ v¹ułÅt=d� È«dÐ ÆXÝ« v²�UŠ sOMÇ d~FUOÐ 

ÆrOM�Åv� È—«œœuš œb−�  U×O{uð Êœ«œ “« Ë Áœd� ÁbM�Ð  U³ÝU×� d�–

 —œ œułu� v�uJ�u� »¬®±µ[¥∞©p¹bÝ ÈUJO� XL�R 



µ¥

 ‰U¦�∏∫ ® ‰Ëb?ł  —u?� t?Ð È«ÅtO�Ë« ÈÅÁœU� v¹UOLOý eO�UF¬∑ÅÅ‡‡µ«— Ê¬ v?�«d?MO� eO�UF¬ ¨XÝ« ©

ÆbOM� t³ÝU×�

K2O.Al2O
3
.6SiO2           K2O

              556 / 8                94 / 2

                  x                      4 /13

�Ib«—Å=KbÝáU  Ä²UÝOp �ułuœ œ—Å�UœÁ «Ë�Ot⇒   x =
4 /13 × 556 / 8

94 / 2
= 24 / 41

K2O.Al2O
3
.6SiO2          Al2O

3

             556 / 8                   102

  
          24 / 41                      x1

�—«bI
  
Al2O

3
 —œ œułu� ¥±[≤¥pOÝU²Ä  UáÝbK= XL�R 

  
⇒ x1 =

24 / 41×102

556 / 8
= 4 / 47

  
K2O.Al2O

3
.6SiO2            6SiO2

               556 / 8                 (6 ×60/1)

  
            24 / 41                      x2

 —«bI�
  
SiO2 —œ œułu� ¥±[≤¥  UáÝbK= XL�R pOÝU²Ä

⇒ x2 =
24 / 41× 360/ 6

556 / 8
=15 / 80

Na2O.Al2O
3
.6SiO2          Na2O

               524 / 6                    62

              y                         3 /10

 ‰Ëbł∑ ‡‡µ

bO��« Ÿu-  
  
SiO

2  
Al

2
O

3  
Fe

2
O

3  
TiO

2
MgO

  
Na

2
O 

  
K

2
OlLł   vð—«dŠ X@«

v-“Ë b5—œ  ∑±[¥¥ ±∂[µ¥  ∞[≥± ∞[±≥∞[∞π≥[±∞ ¥[±≥     ¥[≤∂       ±∞∞



µµ

 tO)Ë« ÈÅÁœU� —œ œułu� p¹bÝ  UáÝbK
 —«bI�

  
⇒ y =

3 /10 × 524 / 6

62
= 26 / 23

Na2O.Al2O
3
.6SiO2           Al2O

3

            524 / 6                         102

         26 / 23                           y1

 —«bI�
  
Al2O

3
 —œ œułu� ≤≥[≤∂  XL$Lp¹bÝ  UáÝbK


⇒ y1 =
26 / 23 × 102

524 / 6
= 5 /1

Na2O.Al2O
3
.6SiO2           6SiO2

             524 / 6                  360/ 6

          26 / 23                        y2

 —«bI�
  
SiO2 —œ œułu� ≤≥[≤∂  XL$Lp¹bÝ  UáÝbK


⇒ y2 =
26 / 23 × 360/ 6

524 / 6
=18 /03

  =16 / 54− (4 / 47 + 5 /1) = 6 / 97ÅÅ—«bI� 
  
Al2O

3
 ÆrO¼œ X³$� sO)uzU% tÐ b¹UÐ t% Áb�U�ÅvLUÐ

Al2O
3
.2SiO2.2H2O          Al2O

3

               258 / 2                    102

                Z                         6 / 97

 tO)Ë« ÁœU� —œ œułu� sO)uzU% —«bI�

  
⇒ Z =

6 / 97 × 258 / 2

102
=17 / 64

Al2O
3
.2SiO2.2H2O           2SiO2

              258 / 2                     120/ 2

           17 / 64                      Z1

—«bI�
  
SiO2 —œ œułu� ±∑/∂¥  XL$LsO)uzU%

⇒ Z1 =
17 / 64 × 120/ 2

258 / 2
= 8 / 21

 ŸuL−�®
  
SiO2sO)uzU% Ë p¹bÝ Ë pOÝU²Ä ÈU¼Å UáÝbK
 —œ œułu� © 

  
SiO2 −œ«“¬ eð—«u% Ωq% 

  = 71/ 44− (15 / 80+18 /03 + 8 / 21) = 29 / 4 eð—«u% ⇒

Al2O
3
.2SiO2.2H2O          2H2O

258 / 2  (2 × 18)

 Z2 17 / 64   



µ∂

tO)Ë« ÁœU� —œ œułu� sO)uzU% “« výU� v)uJ)u� »¬ —«bI�

  
⇒ Z2 =

17 / 64 × 36

258 / 2
= 2 / 45

d
 œ«u� d¹UÝ Ë v)¬ œ«u� ÃËdš “« výU� vð—«dŠ X
« —«bI�Ò—«

  4 / 26 −2 / 45 =1/ 81 vð—«dŠ X
« q% Ω⇒

® ‰Ëbł —œ tO)Ë« ÁœU� s¹« v)«dMO� eO)U�¬ ¨s¹«dÐUMÐ∏ÅÅ‡‡ÅÅµÆXÝ« Áb�¬ ©

  ©‰«dMO�® v�U( Ÿu�v�“Ë XL1H

pOÝU²Ä  UáÝbK
≤¥[¥±

p¹bÝ  UáÝbK
≤∂[≤≥

sO)uzU%±∑[∂¥

eð—«u%≤π[¥

  
Fe

2
O

3
∞[≥±

  
TiO

2
∞[±≥

MgO∞[∞π

vð—«dŠ X
«±[∏±

lLł         ±∞∞[∞≤

 ‰Ëbł∏ ‡‡ÅÅÅµ

s¹dLð

±ÆbOM% t³ÝU×� «— ©pO$K%  UáÝbK
® XOð—u�¬ ÈU¼bO$%« v�“Ë b&—œ ‡‡

≤  t?O?)Ë« ÁœU?� Ëœ v?)«d?M?O� eO)U�¬ t% vð—u& —œ ‡‡A Ë B® ‰Ëb?ł o?ÐUD� π ‡‡µb?&—œ ¨býUÐ ©Å

ÆbOM% t³ÝU×� «— tO)Ë« ÁœU� Ëœ s¹« ÈÅÁbM¼œÅqOJAð ÈU¼bO$%«

œułu� ‰«dMO�sO�uzU(p¹bÝ ÈUJO�

 UáÝbK�    

XO�u�ËœÅÅÅÅ

 UMÐd( 

pOÝU²Ä     rO1K(  

œułu� b&—œ  

 ∑∞    ±∞‡‡          ±∞‡‡   

 tO)Ë« ÁœU� —œA

œułu� b&—œ 

  ∂µ‡‡         ±∞‡‡       µ

 tO)Ë« ÁœU� —œB

 ‰Ëbłπ‡‡µ

eð—«u(

±∞

≤∞



µ∑

¥® ‰Ëbł —œ v%Uš v¹UOLOý eO)U�¬ ‡‡±± ‡‡µXO³)¬ ¨“ö%uð—« ¨sO)uzU% b&—œ ¨XÝ« œułu� ©

ÆbOM% t³ÝU×� «— „Uš s¹« —œ œułu� eð—«u% Ë

 ‰Ëbł±∞ ‡‡µ

bO1(« Ÿu�  
  
SiO

2  
Al

2
O

3  
TiO

2  
Fe

2
O

3
MgOCaOÅÅÅÅ  ®Å

  
Na

2
O´

  
K

2
O©Å         

v�“Ë b2—œ  ∂∏[≥∞±π[∂∞≤[∞∞±[≥∞∞[≤∞∞[≤∞±[±

≥tO)Ë« ÁœU� v¹UOLOý eO)U�¬ ‡‡Å® ‰Ëbł —œ È«±∞ ‡‡µœułu� ÈU¼Å‰«dMO� b&—œ ¨XÝ« œułu� ©

Æ©b¹dO~Ð dE�—œ pOÝU²Ä  UáÝbK
 «— UM³�® bOM% t³ÝU×� «— tO)Ë« ÁœU� s¹« —œ

 ‰Ëbł±± ‡‡µ

bO1(« Ÿu�  
  
SiO

2  
TiO

2  
Al

2
O

3  
Fe

2
O

3
MgO CaO

  
K

2
O  

  
Na

2
O L.O. I

v�“Ë b2—œ  ∑≤[∞∑∞[±∞±∂∞[±µ∞[±∑ ±[∏∂≥[π∂ ≥[≤π   ≤[¥

L.O. I

∑[≥



µ∏

rAý qB�

tO
Ë« œ«u� v
«dMO� eO
U�¬ ”UÝ«dÐ t�bÐ eO�¬ t³ÝU×�

∫È—U²�— ÈU¼Å·b¼∫b�«u²Ð qB
 s¹« ÊU¹UÄ “« fÄ ułdM¼ œË—Åv� —UE²�« 

±ÆbM" ÊUOÐ «— vJO�«dÝ ÈU¼Åt�bÐ “« všdÐ v)«dMO� eO)U�¬ ‡‡

≤È«dÐ “UO� œ—u� tO)Ë« œ«u� b.—œ ¨t�bÐ Ë tO)Ë« œ«u� v)«dMO� eO)U�¬ s²ý«œ UÐ ‡‡

ÆbM" t³ÝU×� «— t�bÐ XšUÝ

≥ÆbM" t³ÝU×� «— Ê¬ v)«dMO� eO)U�¬ ¨t�bÐ eO�¬ ÊœuÐÅh6A� UÐ ‡‡

t�bI�

“« ÁœUH²Ý« UÐ tO)Ë« œ«u� všdÐ v)«dMO� eO)U�¬ ÈÅt³ÝU×� ÈÅÁu×� Ë v)«dMO� eO)U�¬ UÐ r−MÄ qB
 —œ

vJO�«dÝ ÈU¼Åt�bÐ “« Èœ«bFð v)«dMO� eO)U�¬ d"– tÐ «b²Ð« qB
 s¹« —œ Ær¹bý UMý¬ U¼ÅÊ¬ v¹UOLOý eO)U�¬

—«bI� ̈ t�bÐ v)«dMO� eO)U�¬ Ë tO)Ë« œ«u� v)«dMO� eO)U�¬ s²ý«œ UÐ t�u~Ç Xšu�¬ rO¼«uš fáÝ Ë t²š«œdÄ

® ‰Ëb?ł —œ ÆœuýÅv� t³ÝU×� t�bÐ XšUÝ È«dÐ “UO� œ—u� ÈÅtO)Ë« œ«u�±‡‡∂“« v?šdÐ v)«dMO� eO)U�¬ ©

ÆXÝ« Áb�¬ pO�«dÝ ÈU¼Åt�bÐ

n¹œ—t�bÐ ÂU�sO
uzU* • UáÝbK� •eð—«u* •

±œ—«b�U²Ý« X6Ý vMOÇµ∞≤µ≤µ

≤ÁdHÝ vMOÇµ∞‡‡ ¥∑≤≥‡‡≤∞≥∞‡‡≤∑

≥q²¼ vMOÇµµ‡‡ µ∞≤≥‡‡≤≤≤∏‡‡≤≤

¥eÄ Ë X6Ä vMOÇ∑∞‡‡∂∞≤∞≤∞‡‡±∞

µœ—«b�U²Ý« Âd� vMOÇ¥≤ ‡‡≥µ≥µ‡‡≥∞≥∞‡‡≤≥

∂v²ý«bNÐ vMOÇ¥µ≥∞≤µ

∑vðUáÝbK
 vMOÇ ‰bÐµµ‡‡ ¥∞±≤‡‡≥µµ ‡‡≥µ

∏vJ¼¬ vMOÇ ‰bÐµµ‡‡ µ∞±∞ ‡‡µ©  UMÐd"ÅrOQK"® ¥µ ‡‡≥µ

 ‰Ëbł±‡‡∂vJO�«dÝ ÈU¼Åt�bÐ “« všdÐ v
«dMO� VO*dð ‡‡ÅÅÅ



µπ

® Å‰Ëbł —œ t�«œ« —œ≤‡‡∂® ‰Ëb?ł —œ Ë ‰«d?MO� bMÇ v¹UOLOý eO)U�¬ ©≥‡‡∂b?MÇ v)«dMO� eO)U�¬ ©

ÆXÝ« Áb�¬ tO)Ë« ÁœU�

bO9*«     

  
SiO2  

Al2O3  
K2OCaO

  
H2O

  
CO2

‰«dMO�  

XOMO)uzU"µ[¥∂µ[≥π‡‡‡‡±¥‡‡

“ö"uð—«∏[∂¥≥[±∏π[±∂‡‡‡‡‡‡

eð—«u"±∞∞‡‡‡‡‡‡‡‡‡‡

XOQK"‡‡‡‡‡‡µ∂‡‡¥¥

 ‰Ëbł≤‡‡∂U¼Å‰«dMO� “« všdÐ v¹UOLOý eO
U�¬ ‡‡ÅÅ

tO
Ë« ÁœU�   sO
uzU*+UJO� UáÝbK�eð—«u* UMÐd*ÅrO9K*Åv
¬ œ«u�  Fe2O3  TiO2lLł

U"“u�“ sO)uz
≥∞ ´ ±∞∏[¥µ∞µ‡‡±[∞±[∞±∞∞

t²QA�

tO"dð vK"Å‰UÐµπ ´ ≤∞[µ‡‡±¥[∂±≥µ[±¥[∞±∞∞

œdłËdÐ  UáÝbK
‡‡∏[∏∑±±±‡‡±[∞±[∞±∞∞

Ê«bL¼ fOKOÝ‡‡‡‡±∞∞‡‡‡‡‡‡‡‡±∞∞

vKFÐ¬ „Uš±∞¥∏¥∞‡‡‡‡µ[±µ[∞±∞∞

 ‰Ëbł≥‡‡∂vł—Uš Ë vKš«œ ÈÅtO
Ë« œ«u� “« všdÐ v
«dMO� eO
U�¬ ‡‡ÅÅÅ

±‡‡Å∂dE� œ—u� ÈÅt�bÐ XšUÝ È«dÐ Â“ô pAš tO
Ë« œ«u� “« vJ¹ bC—œ t³ÝU×� ‡‡Å

® ÈU¼Å‰Ëbł ÈU¼ÅÁœ«œ “« ÁœUH²Ý« UÐ±‡‡∂® ¨©Å≤‡‡∂® Ë ©≥‡‡∂tO)Ë« œ«u� b.—œ t³ÝU×� tÐ Â«bX« ©

∫œœdÖÅv� vMOÇ ‰bÐ ÈÅt�bÐ p¹ XšUÝ È«dÐ

 ‰U¦�±∫tÐ tłuð UÐ «— vðUáÝbK
 vMOÇÅ‰bÐ ÈÅt�bÐ XšUÝ XNł “UO� œ—u� œdłËdÐ  UáÝbK
 —«bI� 

 ‰Ëb?ł —œ Áb?�¬ v?)«d?MO� eO)U�¬¥ÅÅ‡‡∂¨t?²?Q?A?� “u?�“ s?O?)u?zU" “« t"Åvð—u.—œ ¨bOM" «bOÄ b.—œ VQŠdÐ 

 Ê«eO� tÐ VOðdðÅtÐ vKFÐ¬ „Uš Ë Ê«bL¼ fOKOÝ ̈ tO"dð vK"Å‰UÐ∂∏[∏ ̈ Å±µ ̈ Å±∞[± Ë ≤Æœuý ÁœUH²Ý« b.—œ 



∂∞

∫qŠ

¨b?M?� s?O?�Qð «— t�bÐ “UO�Åœ—u� ÈU¼Å‰«dMO� t�ÅÈ—uÞÅtÐ XÝ« tO�Ë« œ«u� b!—œ sOOFð ·b¼ ÊuÇ

eð—«u� Ë  UáÝbK* ¨sO�uzU� vMF¹ v�«dMO� ÈÅtŽuL−� tÝ tÐ tO�Ë« œ«u� ÈÅÁbM¼œÅÅqOJAð ÈU¼Å‰«dMO� «b²Ð«

ö¦�® b�uýÅv� lLł d~¹bJ¹ UÐ ¨tÐUA� ’«uš È«—«œ ÈU¼Å‰«dMO� vMF¹ ÆœuýÅv� q¹b³ðÎ¨ UáÝbK* gI� 

»Ë– p?L?� Ê«u?M?ŽÅÅÅt?Ð Ë Áœu?Ð t?ÐU?A?� X?G?Ä —œ Ë t?�b?Ð —œ bOI�«ÅrO�U²Oð Ë bOI�« s¼¬ Ë  UMÐd�ÅrOIK�

ÆœdOÖÅv� —«dM  UáÝbK* Êu²Ý —œ œ«u� s¹« b!—œ ŸuL−�  U³ÝU×� —œ s¹«dÐUMÐÆ©býUÐÅv�

b¹UÐÅv� U� Ë XÝ« v�¬ œ«u� È«—«œ œuš v�«dMO� eO�U�¬ —œ tO�dð vK�Å‰UÐ ÊuÇ t� XÝ« d�– tÐ Â“ô

 œbŽ —œ «— tO�Ë« ÈÅÁœU� s¹« ÈU¼Å‰«dMO� ÈÅtŽuL−� ¨rOM� ·cŠ v�«dMO� eO�U�¬ “« «— v�¬ œ«u�

  

100

100− 3

 œbŽ tÐ v�¬ œ«u� ·cŠ “« fÄ tO�dð vK�Å‰UÐ Á«dL¼ ÈU¼Å‰«dMO� ŸuL−� VOðdð s¹bÐ ̈ rOM�Åv� »d{±∞∞

 ‰Ëb?ł —œ t?�® b?¹b?ł œ«b?Ž« s?¹« “« œu?š  U?³ÝU×� È«dÐ U� Ë bOÝ— b¼«ušµÅÅ‡?‡ÅÅ∂ÁœU?H?²Ý« ©b�«ÅÁb�¬ 

 ‰Ëbł —œ ÆrOM�Åv�µ‡‡ÅÅ∂‰uN−� œdłËdÐ  UáÝbK* Ê«eO� jI* Ë XÝ« Áb�¬ tO�Ë« œ«u� v*dB� b!—œ 

 Ê«e?O?� t?Ð t²IA� “u�“ sO�uzU� “« tJM¹« tÐ tłuð UÐ ÆXÝ«∂∏[∏v?MOÇÅ‰bÐ ÈÅt�bÐ XšUÝ È«dÐ b!—œ 

t�bÐ eO�¬ œ—«Ë tO�Ë« ÁœU� —«bI� s¹« UÐ t� v¹U¼Å‰«dMO� Ê«eO� Ê«uðÅv� ÁœUÝ VÝUMð p¹ UÐ ̈ œuýÅv� ÁœUH²Ý«

ö¦� Æœd� »UIŠ «— b�uýÅv�Î sO�uzU� v�«dMO� Êu²Ý œ—u� —œ + d¼ t� t²J� s¹« s²I�«œ UÐ ¨UJO� ±∞∞

  sO�uzU�+UJO
  UáÝbK�eð—«u�

¥∞±≤¥∏

 ‰Ëbł¥‡‡∂vðUáÝbK� vMOÇ ‰bÐ ÈÅt%bÐ v�«dMO
 eO�U%¬ ‡‡ÅÅÅ

tO�Ë« ÁœU
•UJO
 ´ sO�uzU�©»Ë–ÅpL�®  UáÝbK�eð—«u�

t²IA� “u�“ sO�uzU� ∂∏[∏¥∞±∞µ∞

tO�dð vK�Å‰UÐ±µ∏≤≥±µ

œdłËdÐ  UáÝbK*x∞∏π±±

Ê«bL¼ fOKOÝ±∞∞∞±∞∞

vKFÐ¬ „Uš≤±∞µ∞¥∞

vðUáÝbK* vMOÇÅ‰bÐ dE� œ—u� ÈÅt�bÐ   ¥∞±≤¥∏

 ‰Ëbłµ‡‡ÅÅÅÅ∂tO�Ë« œ«u
 v�«dMO
 eO�U%¬ Ábý t4öš ‡‡ÅÅÅÅ



∂±

 ¨t²QA� “u�“ sO)uzU" XLQX¥∞ sO)uzU" XLQX +ÆXýu� «— d¹“ VÝUMð Ê«uðÅv� ¨œ—«œ UJO� 

 sO)uzU" XLQX+t²QA� “u�“ sO)uzU" XLQX     UJO� 

                                                     ¥∞                             ±∞∞

                                                     ?                             ∂∏[∏

 —u???. t???Ð ø —«b??I??� ¨V??ÝU??M??ð s??¹« Êœd??"Ås??O??D??ÝË s??O??
d??Þ  U??Ð b??O??�«œÅv??� t??"—u??D??�U??L??¼

  

40×68 / 8

100
= 27 / 52Ë  UáÝbK
 Êu²Ý Ëœ È«dÐ tÐUA� ÈU¼ÅVÝUMð s²ýu� UÐ Æb�¬ b¼«uš XÝœÅtÐ 

 È«dÐ U¼Å‰«dMO� s¹« —«bI� ¨eð—«u"∂∏[∏ V?OðdðÅtÐ t²QA� “u�“ sO)uzU" b.—œ ∂[∏∏ Ë ≥¥[¥XÝœÅtÐ 

U?M?L{ Æb�¬ b¼«ušÎs?¹« —œ t?" b?O?M?" œd?Ö —U?AŽ«  “« bFÐ rX— p¹ Uð «— œ«bŽ« qB
 s¹« qzUQ� È«dÐ 

 œ«bŽ«  —u.≤∑[µÅ  ̈ Å∂[π Ë ≥¥[¥“« ÁœUH²Ý« UÐ ÆXý«œ rO¼«uš «— ÈU¼ÅVÝUMð s²ýu� Ë ‘Ë— sOL¼ 

È«“«ÅtÐ t" œd" h6A� Ê«uðÅv� ©«— U¼ÅÊ¬ “« p¹d¼ v
dB� b.—œ t²³)« t"® tO)Ë« œ«u� d¹UÝ È«dÐ tÐUA�

 UáÝbK
 œ—u� —œ Æbý bM¼«uš t�bÐ œ—«Ë U¼Å‰«dMO� “« —«bI� tÇ ¨tO)Ë« ÈÅÁœU� d¼ “« vB6A� —«bI�

∫vMF¹ XÝ« t�uÖ sOL¼ tÐ U¼ÅVÝUMð s²ýu� ÈÅÁu×� eO� XÝ« Å‰uN−� Ê¬ v
dB� b.—œ t" œdłËdÐ

œdłËdÐ  UáÝbK
 XLQX       UáÝbK
 XLQX         œdłËdÐ  UáÝbK
 XLQX       eð—«u" XLQX

       11                             100                                  89                            100

 ? =
11

100
x                       x                             ? =

89

100
x                       x

 ‰Ëbł ¨U¼ÅVÝUMð “« ¨Áb�¬ÅXÝœÅtÐ œ«bŽ« “« ÁœUH²Ý« UÐ∂ÅÅ‡‡ÅÅ∂qŠ«d� v�ULð —œ® rOM"Åv� rÝ— «— 

X?ÝœÅt?Ð U?¼ÅV?ÝU?Mð “« t" Èœ«bŽ« ŸuL−� tO)Ë« œ«u� “« p¹d¼ È«dÐ t" bOýUÐ t²ý«œ XXœ t)QQ� qŠ

ö¦� ÆbMýUÐ t�bÐ —œ tO)Ë« ÈÅÁœU� Ê¬ v
dB� b.—œ UÐ dÐ«dÐ ¨bM¹¬Åv�Î ∫r¹—«œ t²QA� “u�“ sO)uzU" È«dÐ

  27 / 5 +6 / 9+ 34 / 4 = 68 / 8©

tO
Ë« ÁœU�               v�dB� bC—œ sO
uzU*+UJO�  UáÝbK�eð—«u*

t²QA� “u�“ sO)uzU"∂∏[∏≤∑[µ∂[π≥¥[¥

tO"dð vK" ‰UÐ±µ±≤[≥∞[¥µ≤[≤µ

œdłËdÐ  UáÝbK
x∞

  

89

100
x

  

11

100
x

Ê«bL¼ fOKOÝ±∞[±∞∞±∞[±

vKFÐ¬ „Uš≤∞[≤±∞[∏

bÐ©vðUáÝbK
 vMOÇ ‰bÐ® dE� œ—u� t�±∞∞¥∞±≤¥∏

 ‰Ëbł∂ÅÅ‡‡ÅÅ∂tO
Ë« ÈÅÁœU� d¼ v�dB� bC—œ —œ œułu� ÈU¼Å‰«dMO� bC—œ ‡‡ÅÅ



∂≤

v?M?O?ÇÅ‰b?Ð ÈÅt?�b?Ð ¨Âu?K?F?� ÈU?¼b?.—œ U?Ð ¨‚u?
 ÈÅtO)Ë« œ«u� “« ÁœUH²Ý« UÐ Ê«u²Ð t"Ås¹« È«dÐ

 ‰Ëbł v)«dMO� ÈU¼ÅÊu²Ý “« p¹d¼ ŸuL−� XQ¹UÐÅv� ¨XšUÝ vðUáÝbK
∂ÅÅ‡‡ÅÅ∂v)«dMO� eO)U�¬ UÐ dÐ«dÐ 

ö¦� Æœuý vMOÇÅ‰bÐ ÈÅt�bÐÎ sO)uzU" Êu²Ý œ—u� —œ + dÐ«dÐ Êu²Ý —œ Áb�¬ œ«bŽ« lLł b¹UÐ UJO� ¥∞Ë 

 dÐ«dÐ VOðdð tÐ eð—«u" Ë  UáÝbK
 Êu²Ý œ—u� —œ±≤ Ë ¥∏s¹«dÐUMÐ ¨œuý 

Qð   `O×. ÈËU  27 / 5 +12 / 3 +0/ 2 = 40

 ÈÅt)œUF�±    6 / 88 +0/ 45 +
89

100
x +1=12

 ÈÅt)œUF�≤   

  
34 / 4+2 / 25 +

11

100
x +10/1+0/ 8 = 48

p¹ UÐ t)œUF� Ëœ Ë `O×. ÈËUQð p¹ tÐ U¼ÅÊu²Ý Êœd"Å lLł “« bOM"Åv� Áb¼UA� t"—uÞÅsOL¼

® ‰uN−�xb¹UÐ býUÐ »«uł È«—«œ ¨‰uN−� p¹ UÐ t)œUF� Ëœ t" vð—u.—œ v{U¹— dE� “« Ær¹bOÝ— ©

 d?Ö« v?MF¹ ¨bM" ‚b. r¼ Èd~¹œ ÈÅt)œUF� —œ  ôœUF� “« vJ¹ “« Áb�¬ÅXÝœÅtÐ »«ułxÁœUH²Ý« UÐ «— 

 ÈÅt)œUF�“«± ÈUł tÐ «— q.UŠ »«uł dÖ« ¨r¹œd" «bOÄ x ÈÅt)œUF� —œ ≤`O×. ÈËUQð b¹UÐ ¨r¹—«c~Ð 

 ÈÅt)œUF� «b²Ð« Æb¹UOÐ XÝœÅtÐ±∫rOM"Åv� qŠ «— 

6 / 88 +0/ 45 +
89

100
x +1=12

89

100
x =12 −6 / 88 −0/ 45 −1

89

100
x = 3 / 67

x = 4 /1

 È«dÐ Áb�¬ XÝœÅtÐ »«uł b¹UÐ ‰UŠx ÈÅt)œUF� —œ «— ≤ ÈUł tÐ rOM" ÊU×²�« x œbŽ ¥[±—«dX «— 

ÆrO¼œÅv�ÅÅÅ

?                              
  
34 / 4+2 / 25 +

11

100
× 4 /1+10/1+0/ 8 = 48

                                          48 = 48

 »«uł fÄ r¹bOÝ— XÝ—œ ÈËUQð p¹ tÐ rOM"Åv� Áb¼UA� t"—uÞÅÊUL¼¥[±  ôœUF� È«dÐ ±

 Ë≤ eO� tO)Ë« œ«u� v
dB� ÈU¼b.—œ lLł b¹UÐ d~¹œ ·dÞ “« ÆXÝ« ‰u³X qÐUX ±∞∞s¹« fÄ ¨œuý 

 œb?Ž Êœ«œ—«d?X U?Ð «— t)QQ�¥[±ÈU?¼b?.—œ Êœ“Ål?L?ł Ë œd?łËd?Ð  U?á?ÝbK
 v
dB� b.—œ ÈUł tÐ 

® ‰Ëbł v
dB�∂ÅÅ‡‡ÅÅ∂ÅÅÅ                      ÆrOM"Åv� ÊU×²�« ©

?
  68 / 8 +15 + 4 /1+10/1+2 =100

                                                           100=100



∂≥

ö�U" Áb�¬ XÝœÅtÐ œbŽ ÊœuÐÅXÝ—œ VOðdð s¹bÐÎÆœuýÅv� bO¹Qð 

 s?O?)u?zU" ÈU¼Å‰«dMO� Ê«eO� t" œdłËdÐ  UáÝbK
 ÈUł tÐ dÖ« XÝ« d"– tÐ Â“ô+Ê¬ —œ UJO� 

tÐ ¨b�œuÐ ‰uN−� tO"dð vK"Å‰UÐ U¹ t²QA� “u�“ sO)uzU" ÈÅtO)Ë« œ«u� “« vJ¹ ¨Ábý t²
dÖ dE� —œ dH.

v{U¹— dE� “«  —u.ÅÊ¬ —œ Ær¹bOÝ—Åv� ‰uN−� p¹ Ë t)œUF� tÝÅtÐ ¨‰uN−� p¹ Ë t)œUF� Ëœ ÈUł

d?Ö« Ë r?¹œd?"Åv?� ÊU?×?²?�« d?~¹œ ÈÅt)œUF� Ëœ —œ «—  ôœUF� “« vJ¹ “« Áb�¬ÅXÝœÅtÐ »«uł XQ¹UÐÅv�

 ÈÅt)œUF� È«dÐ t"ÅÈeOÇ bM�UL¼® œd"Åv� XÝ—œ ÈËUQð tÐ q¹b³ð «— d~¹œ ÈÅt)œUF� Ëœd¼ »«uł≤‚UHð«ÅÅ 

ÆœuÐ b¼«uš ‰u³X qÐUXdOž »«uł  —u. s¹« dOž —œ Ë ‰u³X qÐUX »«uł ©œU²
«

«œb?−?� U?N²�« —œÎ® ‰Ëb?ł ∂ÅÅ‡?‡ÅÅ∂l?L?ł q?.U?Š Ë Áœd?" r?Ý— Áb?�¬ÅX?ÝœÅt?Ð œ«bŽ« Á«dL¼ tÐ «—  ©

U³¹dIð ̈ q.UŠ œ«bŽ« lLł bOMOÐÅv� t"—uÞÅÊUL¼ ÆrO¹UL�Åv� ‰d²M" «— eð—«u" Ë  UáÝbK
 ÈU¼ÅÊu²ÝÎdÐ«dÐ 

œ«u� v
dB� b.—œ È«dÐ Áb�¬ÅXÝœÅtÐ œ«bŽ« s¹«ÅdÐUMÐ Ë Ábý vðUáÝbK
 vMOÇÅ‰bÐ ÈÅt�bÐ v)«dMO� eO)U�¬

ÆXÝ« ‰u³X qÐUX tO)Ë«

tO
Ë« ÁœU�               v�dB� bC—œ sO
uzU*+UJO�  UáÝbK�eð—«u*

t²QA� “u�“ sO)uzU"∂∏[∏≤∑[µ∂[π≥¥[¥

tO"dð vK"Å‰UÐ±µ±≤[≥∞[¥µ≤[≤µ

œdłËdÐ  UáÝbK


¥[±∞  

89

100
× 4 /1

  

11

100
× 4 /1

  = 3 / 6  =0/ 45

Ê«bL¼ fOKOÝ±∞[±∞∞±∞[±

vKFÐ¬ „Uš≤∞[≤±∞[∏

U¼ÅÊu²Ý lLł±∞∞¥∞ÅÅÅÅ±±[πµ¥∏

bÐ©vðUáÝbK
 vMOÇ ‰bÐ® dE� œ—u� t�¥∞ÅÅÅÅ±≤¥∏

≤‡‡Å∂hPA� eO�¬ UÐ t�bÐ v
«dMO� eO
U�¬ t³ÝU×� ‡‡Å

eO)U�¬ ÊœuÐÅh6A� Ë b¼œÅv� ÊUA� «— t�bÐ —œ ÁœUH²Ý« œ—u� tO)Ë« œ«u� b.—œ t" eO�¬ tÐ tłuð UÐ

ÆbOM" tłuð d¹“ ‰U¦� tÐ ¨XÝ« r¼«d
 t�bÐ v)«dMO� eO)U�¬ t³ÝU×� ÊUJ�« ¨tO)Ë« œ«u� v)«dMO�

‰U¦�≤∫® ‰Ëbł tO)Ë« œ«u� ̈ v)«dMO� eO)U�¬ pL" UÐ «— È«Åt�bÐ v)«dMO� eO)U�¬ ∑‡‡Å∂ÆbO¹UL� t³ÝU×� ©



∂¥

 ‰Ëbł∑‡‡ÅÅÅÅÅ∂tO�Ë« œ«u� v�«dMO� eO�U�¬ ‡‡ÅÅÅÅ

U¼Å‰«dMO�

tO�Ë« ÁœU�t�bÐ —œ v�dB� b�—œUJO� ´ sO�uzU# UáÝbK�eð—«u#

e²O�œ“ sO�uzU�∂≥πµ≤≥

t²�A� “u�“≤≤¥∞±∞µ∞

œdłËdÐ  UáÝbK"±¥∞∏π±±

Ê«bL¼ fOKOÝ±∞∞±∞∞

 ‰Ëbł∏‡‡ÅÅÅÅÅÅÅ∂tO�Ë« œ«u� b�—œ ÊœuÐ ÂuKF� UÐ t�bÐ tÐ Ábý œ—«Ë ÈU¼Å‰«dMO� d¹œUI� sOOFð ‡‡ÅÅÅÅ

tO�Ë« ÁœU�

b�—œUJO� ´ sO�uzU# UáÝbK�eð—«u#

lLł

v�dB�K + M(F)(Q)

e²O�œ“ sO�uzU�∂≥

  
95 ×

63
100

= 59 / 9
  
2×

63
100

=1/ 2
  
3 ×

63
100

=1/ 9∂≥

t²�A� “u�“≤≤

  
40×

22
100

= 8 / 8
  
10×

22
100

= 2 / 2
  
50×

22
100

=11≤≤

œdłËdÐ  UáÝbK"±¥∞

  
89×

14
100

=12 / 5
  
11×

14
100

=1/ 5±¥

Ê«bL¼ fOKOÝ±∞∞

  
100×

1
100

=1±

©t�bÐ v�«dMO, eO�U�¬®ÅlLł±∞∞∑[∂∏π[±µ¥[±µ±∞∞

∫qŠ

d?¼ —«b?I?, p?O?J?H?ð t?Ð Ê¬ ÈÅÁb?M¼œÅqOJAð ÈU¼Å‰«dMO, —œ tO�Ë« ÁœU, d¼ b>—œ Êœd� »d{ UÐ

® ‰Ëbł —œ ÆœuýÅv, hDA, t�bÐ tÐ tO�Ë« ÈÅÁœU, Ê¬ jÝuð Ábý œ—«Ë ‰«dMO,∏‡‡ÅÅÅ∂ÈU¼Å‰«dMO, d¹œUI, ©

eO�U�¬ ̈ Êu²Ý d¼ ÈU¼Å‰«dMO, d¹œUI, Êœ“ lLł UÐ ÆXÝ« Ábý hDA, t�bÐ tÐ tO�Ë« œ«u, jÝuð Ábý œ—«Ë

Æb¹¬Åv, XÝœÅÅÅtÐ t�bÐ v�«dMO,



∂µ

  

− 3x + 2y − z = 0

− 2x + 7y + 3z = 14

x + 3y − 2z = 7







اى يادآورىبر
å‰uN−� tÝ Ë t�œUF� tÝò ∫ ôœUF� qŠ dÐ È—Ëd�

v?�«d?M?O?
 e?O�U�¬ UÐ tO�Ë« ÁœU
 tÝ Ë ÂuKF
 v�«dMO
 eO�U�¬ UÐ È«Åt�bÐ XšUÝ È«dÐ t�Ås¹« tÐ tłuð UÐ

t�uÖÅs¹« qŠ ÈÅÁu×� dÐ È—Ëd
 ̈ býUÐÅv
 ‰uN−
 tÝ Ë t�œUF
 tÝ  ôœUF
 ÁU~²Ýœ qŠ tÐ “UO� h4A


∫bOM� tłuð d¹“ ‰U¦
 tÐ ÆœuýÅv
  ôœUF


 ‰U¦�≥∫ ÈU¼Å‰uN−
 d¹“ t�œUF
 tÝ ÁU~²Ýœ —œ x Ë y Ë zÆbOÐUOÐ «— 

®±©

®≤©

®≥©

∫qŠ d¹œUI
 s²@U¹ È«dÐ x ̈ Åy Ë zt²ýu� d~¹œ ‰uN−
 Ëœ ”UÝ«dÐ «— U¼Å‰uN−
 “« vJ¹ b¹UÐ «b²Ð« 

—U� s¹« È«dÐ ÆrOM� q¹b³ð ‰uN−
 Ëœ Ë t�œUF
 Ëœ tÐ «— ÁU~²Ýœ ̈ d~¹œ ÈÅt�œUF
 Ëœ —œ È—«cÖÅÈUł UÐ Ë

® ÈÅt�œUF
 “«± Ë Áœd� ÁœUH²Ý« ©z VHŠdÐ «— x Ë y∫rOÐU¹Åv
 

  z = − 3x + 2y

 —«bI
 s¹«z®  ôœUF
 —œ «— ≤® Ë ©≥ VHŠdÐ g�œUF
 jÝuð ©x Ë yÆrO¹UL�Åv
 s¹e~¹Uł 

®¥©

  

− 2x + 7y + 3( − 3x + 2y) = 14

x + 3y − 2( − 3x + 2y) = 7
⇒

13y − 11x = 14

7x − y = 7



 ®µ©

® ‰u?N?−?
 Ëœ Ë t�œUF
 Ëœ ÁU~²Ýœ qŠ UÐ ‰UŠ¥® Ë ©µ d?¹œUI
 ¨©x Ë yq?Š È«d?Ð ÆrOÐU¹Åv
 «— 

® t�œUF
 ·dÞ Ëœ Ê«uðÅv
 ÁU~²Ýœµ œbŽ —œ «— ©±≥ V¹d{® y® È t�œUF
 —œ ¥ÈÅt�œUF
 Uð œd� »d{ ©©

®∂®  ôœUF
 lLł UÐ fáÝ Æœuý qVUŠ ©¥® Ë ©∂ V¹«d{ ÊœuÐ tM¹dW tÐ tłuð UÐ Ë ©yb¼«uš ·cŠ 

 ‰uN−
 Ë býxÆb
¬ b¼«uš XÝbÐ 

  

13y − 11x = 14

13 × 7x − 13y = 13 × 7





⇒ 80x = 105 ‘ x =
105

80
=

21

16

 —«b?I?
 X?Ý« v@U� ‰UŠx®  ôœU?F?
 “« vJ¹ —œ «— ¥® U¹ ©µ Ë Áœ«œ —«d?W ©yö?¦?
 Ær?OÐUOÐ «— ÎUÐ 

® ÈÅt�œUF
 —œ È—«cÖÅÈUłµ∫r¹—«œ ©

  
7x − y = 7       7 × 21

16
− y = 7

147
16

− 7 = y        y = 147 − 112
16

= 35
16

      y = 35
16



∂∂

 ‰uN−
 Ëœ Êbý h4A
 UÐx Ë y® —œ «— U¼ÅÊ¬ d¹œUI
 XÝ« v@U� ¨±ÆrOM� s¹e~¹Uł ©

z = − 3x + 2y      z = − 3 × 21
16

+ 2 × 35
16

= − 63 + 70
16

= 7
16

      z = 7
16

≥‡‡Å∂h�A� v�«dMO� eO�U&¬ UÐ t&bÐ XšUÝ È«dÐ pAš tO�Ë« œ«u� b,—œ t³ÝU×� ‡‡ÅÅ

t?� b?¹—«œ —U?O²š« —œ tO�Ë« œ«u
 Èœ«bFð vJO
«dÝ t�bÐ vVUš Ÿu� XšUÝ È«dÐ b¹dO~Ð dE�ÅÅ—œ

XÝ« Â“ô tO�Ë« ÁœU
 d¼ “« —«bI
 tÇ bO�«bÐ t�Ås¹« È«dÐ ÆbM²H¼ h4A
 tO�Ë« œ«u
 Ë t�bÐ v�«dMO
 eO�U�¬

v�uN−
ÅÅbMÇ  ôœUF
 ÁU~²Ýœ p¹ b¹UÐ VKž« ̈ b¼bÐ ULý tÐ «— dE�œ—u
 t�bÐ v�«dMO
 eO�U�¬ U¼ÅÊ¬ ◊uK4
 Uð

® ‰Ëbł tÐ dðÅgOÐ `O{uð È«dÐ ÆbOM� qŠ «— ÅÊ¬ Ë Áœ«œ qOJAðπ‡‡∂ÆbOM� XWœ ©

      

©ÂuKF�® v�«dMO� eO�U&¬

tO�Ë« ÁœU� b,—œtO�Ë« ÁœU� b4

©‰uN−�®©ÂuKF�®

lLłQFK + M

±∞∞QaFaKaaA

±∞∞QbFbKbbB

±∞∞QcFcKccC

±∞∞QmFmKmM  ©t�bÐ®

 ‰Ëbłπ‡‡∂t&bÐ Ë tO�Ë« œ«u� v�«dMO� eO�U&¬ ‡‡ÅÅÅ

 t�bÐ XšUÝ È«dÐ bOM� ÷d@MtO�Ë« ÁœU
 tÝ AÅÅ¨ÅBÅÅÅÅÅË Cs¹« v�«dMO
 eO�U�¬ Ær¹—«œ —UO²š« —œ «— 

U¼ÅÊ¬ Êœd� ◊uK4
 UÐ t� XÝ« tO�Ë« œ«u
 bV—œ s²@U¹ ¨·b¼ ÆXÝ« h4A
 eO� t�bÐ Ë tO�Ë« ÁœU
 tÝ

r?O?�«u?ðÅv?
 f?Ä b?M?¼œÅv?
 q?O?J?Að «— U¼Å‰uN−
 tO�Ë« œ«u
 bV—œ ÊuÇ Æœuý qVUŠ dE�ÅÅÅÅœ—u
 t�bÐ

«— t?O?�Ë« œ«u?
 ‰u?N−
 d¹œUI
 Ë ÁœuL� rOEMð «— d¹“  ôœUF
aÅÅ¨ÅbÅÅÅÅÅË c‰U?¦?
 Ê«u?MŽÅÅÅÅtÐ Ær¹dO~Ð dE�ÅÅ—œ 

 —œ œułu
 ÈU¼Å‰«dMO
a tO�Ë« ÈÅÁœU
 XLHW A jÝuð Ábý œ—«Ë sO�uzU� —«bI
 ÆX@U¹ Ê«uðÅv
 «— a

 ÈÅtO�Ë« ÁœU
 XLHWa∫

 XLHWK + M tO�Ë« ÁœU
 XLHWA

Ka  100

x = a × Ka
100

ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅa



∂∑

 t" rOÐU¹Åv�—œ tÐUA� ÈU¼ÅVÝUMð UÐ

  

b × Kb
100

 tO)Ë« ÈÅÁœU� jÝuð sO)uzU" B Ë 

  

c × Kc
100

sO)uzU" 

 tO)Ë« ÁœU� jÝuðC UÐ d¹œUI� s¹« lLł b¹UÐ Ë œuýÅv� œ—«Ë t�bÐ tÐ KmËœ —U" v²Š«— È«dÐ Æœuý dÐ«dÐ 

 —œ t)œUF� ·dÞ±∞∞«— d¹“ ÁU~²Ýœ eð—«u" Ë  UáÝbK
 È«dÐ tÐUA�  ôœUF� s²ýu� UÐ b�uýÅv� »d{ 

ÆXý«œ rO¼«uš

  

a.Ka + b.Kb + c.Kc = Km ×100

a.Fa + b.Fb + c.Fc = Fm ×100

a.Qa + b.Qb + c.Qc = Qm ×100









ÈU¼Å‰uN−�  ôœUF� s¹« qŠ UÐ t" XÝ« vN¹bÐaÅÅ¨ÅbÅÅÅÅÅË ctO)Ë« œ«u� b.—œ lX«ËÅÅ—œ Ë h6A� 

Áœ—Ë¬ v?)U?¦?� Áb?ý Á—U?ý« t?³?ÝU?×?� ‘Ë— Ë  ôœU?F� r²QOÝ d²NÐ Êbý `{«Ë È«dÐ ÆœuýÅv� sOOFð

ÆœuýÅv�

 ‰U¦�¥∫∫“« XÝ«  —U³Ž œ—«b�U²Ý« X6Ý vMOÇ v)«dMO� eO)U�¬   -µ∞∫ÅK¨  - ≤µÅ∫FË   - ≤µÅ∫Q

® e²O)œ“ sO)uzU" tO)Ë« ÁœU� —UNÇ “« t�bÐ s¹« XšUÝ È«dÐ  -a® t²QA� “u�“ ©Å  -ÅbÅœdłËdÐ  UáÝbK
 ¨©

®  -c® Ê«bL¼ fOKOÝ Ë ©Å  -±∞ÅdE�Åœ—u� t�bÐ Ë Ábý Á—Uý« tO)Ë« œ«u� v)«dMO� eO)U�¬ ÆœuýÅv� ÁœUH²Ý« ©

® ‰Ëbł —œ±∞‡‡∂ÆXÝ« Ábý Áœ—Ë¬ ©

‰Ëbł±∞‡‡∂XPÝ vMOÇ t�bÐ Ë tO
Ë« œ«u� v
«dMO� eO
U�¬ ‡‡ÅÅÅ

tO
Ë« ÁœU� ÂU�        v�dB� bC—œKFQ∑

e²O)œ“ sO)uzU"aπµ≤≥±∞∞

t²QA� “u�“ sO)uzU"b¥∞±∞µ∞±∞∞

œdłËdÐ  UáÝbK
c∞∏π±±±∞∞

Ê«bL¼ fOKOÝ  d =10∞∞±∞∞±∞∞

œ—«b�U²Ý« X6Ý vMOÇ t�bÐµ∞≤µ≤µ±∞∞

∫rOQ¹u�Åv� «—  ôœUF� ÁU~²Ýœ «b²Ð«

®±©

®≤©

  

95a + 40b +0× c +0× d = 50×100

2a +10b + 89c +0× d = 25 ×100

3a + 50b +11c +100d = 25 ×100






®≥©



∂∏

UB6A� t�bÐ —œ ÊuÇÎ “«   -±∞Å ÈUł tÐ rO�«uðÅv� fÄ œuýÅv� ÁœUH²Ý« Ê«bL¼ fOKOÝ d œbŽ ±∞

∫Xý«œ rO¼«uš t−O²� —œ rO¼œ —«dX «—

®¥©  95a + 40b = 5000

®µ©  2a +10b + 89c = 2500

®∂©  3a + 50b +11c +100×10= 2500→ 3a + 50b +11c =1500

 t)œUF� “« dÖ«± —«bI�b VQŠdÐ «— a® ÈbFÐ  ôœUF� —œ t²
U¹ µË ∂ ©bs¹e~¹Uł Ê¬ jÝuð «— 

Æbý b¼«uš q.UŠ ‰uN−� Ëœ Ë t)œUF� Ëœ rOM"

®∑©95a + 40b = 5000  b = 5000−95a
40

  

2a +10× 5000−95a
40

+ 89c = 2500                                                 (8)

3a + 50× 5000−95a
40

+11c =1500                                                 (9)










2a +1250−23 / 75a + 89c = 2500       11

3a +6250−118 / 75a +11c =1500  − 89





−21/ 75a + 89c =1250

−115 / 75a +11c = −4750





    

    

−239 /25a +979c =13750

10301/ 75a −979c = 422750





+ ⇒10062 / 5a = 436500→ a = 43 / 4-

    

5000−95a
40

= b = 21/ 9-

Êœ«œ—«dX UÐa  Ë b Á—ULý ÈÅt)œUF� —œ ≤∫

  

2a +10b + 89c +0× d = 2500

2× 43 / 4+10×21/ 9+ 89c = 2500

89c = 2194 / 2









 ∫r¹—«œc = 24 / 7       d =10-

  a + b + c + d = 43 / 4+21/ 9+24 / 7 +10=100

œ—u� U¼ÅÊ¬ ÊœuÐ ̀ O×. “« ÊUMOLÞ« È«dÐ «—  ôœUF� qŠ “« q.UŠ ÈU¼Å»«uł rO�«uðÅv� ‰UŠ

Ë Áœd?" »d?{ Ê¬ v?)«d?MO� eO)U�¬ —œ «— t�bÐ d¼ tÐ ◊uÐd� b.—œ b¹UÐ —U" s¹« È«dÐ ÆrO¼œ —«dX vÝ—dÐ



∂π

ÁbM¼œÅqOJAð ÈU¼Å‰«dMO� —œ tO)Ë« ÁœU� b.—œ »d{Åq.UŠ ÆrOM" lLł r¼ UÐ «— ÊUQJ¹ ÈU¼Å‰«dMO� fáÝ

® ‰Ëbł —œ Êu²Ý d¼ œ«bŽ« lLł UÐ Æb¼œÅv� ÊUA� «— tO)Ë« ÁœU� —œ ‰«dMO� d¼ —«bI� Ê¬±±‡‡∂—«bI� ©

v�«ušÅr¼ œ—«b�U²Ý« X6Ý vMOÇ t�bÐ “UO� œ—u� ‰«dMO� —«bI� UÐ b¹UÐ t" b¹¬Åv� XÝœÅtÐ Êu²Ý Ê¬ ‰«dMO�

ÆbýUÐ t²ý«œ

® ‰Ëb?ł sO¹UÄ n¹œ— —œ±±‡‡∂t?�b?Ð v?)«d?MO� eO)U�¬ ¨b¼œÅv� ÊUA� «— U¼Å‰«dMO� Êu²Ý lLł t" ©

ÆXÝ« Ábý q.UŠ ¨œuÐ ‰U¦� s¹« È«dÐ ÈœUNMAOÄ t�bÐ t" X6Ý vMOÇ

‰Ëbł±±‡‡∂v
«dMO� eO
U�¬ Ë ÅtO
Ë« œ«u� v�dB� bC—œ pL* tÐ t�bÐ v
«dMO� eO
U�¬ t³ÝU×� ‡‡ÅÅÅ

tO
Ë« ÁœU� ÂU�bC—œ
 v�dB� bC—œ×v
«dMO� eO
U�¬ lLł

v�dB�

e²O)œ“ sO)uzU" ÅÅ      Å ¥[¥≥     

  

43 / 4
100

× 95 = 41 / 2
  

43 / 4
100

×2 =0/ 9
43 / 4

100
× 3 =1/ 3±∞∞

 Å  t²QA�Å“u�“ÅsO)uzU"π[≤±

  

21 / 9
100

× 40= 8 / 8
  

21 / 9
100

×10= 2 / 2
  

21 / 9
100

× 50=11±∞∞

Å     œdłËdÐ  UáÝbK
∑[≤¥

  

24 / 7
100

×0=0
  

24 / 7
100

× 89= 22
  

24 / 7
100

×11= 2 / 7±∞∞

           Ê«bL¼ fOKOÝ±∞

  

10
100

×0=0
  

10
100

×0=0
  

10
100

×100=10±∞∞

                     lLł±∞∞µ∞≤µ≤µ±∞∞

 ‰U¦�∂∫ ‰U¦�  ôœUF� —œ µ ÈUł tÐ   -±∞Å Ê«bL¼ fOKOÝ   -≤≤t²
dÖ —U"ÅtÐ tO)Ë« ÁœU� s¹« “« Å

ÆrO¹UL�Åv� t³ÝU×� tÐ Â«bX« Ë Ábý

  95a + 40b = 5000

  2a +10b + 89c = 2500

  3a + 50b +11c +100×22 = 2500     3a + 50b +11c = 300

 bOMOÐÅv� t"—uÞÅÊUL¼≥ Ë t)œUF� ≥ ‰uN−� a ¨b Ë c ÈÅt)œUF� “« ¨qŠ È«dÐ Ær¹—«œ ± —«bI� b

 ‰uN−� VQŠdÐ «—a Á—ULý  ôœUF� —œ Ë Áœ—Ë¬ XÝœÅtÐ ≤ Ë ≥ ÈUłÅtÐ bÆrOM"Åv� s¹e~¹Uł 

                        

  
⇒ b =

5000−95a
40

 ÈÅt)œUF�      ±          95a + 40b = 5000

  
2a +10×

5000−95a
40

+ 89c = 2500 ÈÅt)œUF�      ≤    2a +10b + 89c = 2500














 

  
3a + 50×

5000−95a
40

+11c = 300 ÈÅt)œUF�      ≥      3a + 50b +11c = 300



∑∞

UF� Ëœ ‰UŠÆrOÐU¹Åv� XÝœ d¹“  ôœUF� ÁU~²Ýœ tÐ Ë rOM"Åv� ÁœUÝ «— ‚u
 ‰uN−� Ëœ Ë t)œ

  

−21/ 75a + 89c =1250

−115 / 75a +11c = −5950





  

2a +1250−23 / 75a + 89c = 2500

                                                       ⇒
3a +6250−118 / 75a +11c = 300

 œb?Ž —œ v?¹ôU?Ð ÈÅt?)œU?F?� Êœd?"Å»d?{ U?Ð Ê«u?ðÅv?� ‚u
 ÁU~²Ýœ qŠ È«dÐ±±Êœd?"Å»d?{  Ë 

 œb?Ž —œ v?M?O?¹U?Ä ÈÅt)œUF�∏πÅ−¨ V?¹«d{ cU?Ð ‰U?Š ¨œu?L?� d?~?¹b?J?¹ ÈÅt?M?¹dX Ë dÐ«dÐ t)œUF� Ëœ —œ «— 

 ‰uN−� ¨Åt)œUF� Ëœ Êœd"ÅlLłc                 ÆœuýÅv� ·cŠ                                       

  11×

  

   −239 / 25a +979c =13750

   +10301/ 75a −979c = 529550

   10062 / 5a = 543300⇒ a = 53 / 99
  

−21/ 75a + 89c =1250

−115 / 75a +11c = −5950




         a ~ 54                                                                                                     

  −89 ×

 È—«cÖÅÈUł “«a  ÈÅt)œUF� —œ ± —«bI� bÆb�¬ b¼«uš XÝœÅtÐ 

b = −3 / 25        

  
b =

5000−95 × 54

40
= −3 / 25

 —«b?I?� Êœd?"Å«bOÄ È«dÐc È«d?Ð Áb?�¬ÅX?ÝœÅt?Ð d?¹œUI� XÝ« v
U" a Ë b ôœU?F?�“« vJ¹ —œ «— 

 ÈÅÁ—U?Lý≤ ÈÅÁ—U?Lý U¹ ≥ d?¹œU?I?� UłÅs¹« —œ ÆrOM" s¹e~¹Uł b Ë a ÈÅt?)œUF� —œ «— ≤¨r?O?¼œÅv� —«dX 

∫Xý«œ rO¼«uš

  89c = 2500− 70/ 5  2× 51/ 5 +10× −3 / 25 + 89c = 2500

ÅÅÅÅÅÅ        89c = 2429 / 5ÅÅÅ

         c = 27 / 3

a = 54 b = −3 / 25 c = 27 / 3 d = 22

U?¼Å‰u?N?−?� “« v?J?¹ »«u?ł Ê«b?L?¼ f?O?K?O?Ý V?ÝU?M?�U?� —«b?I� »U6²�« UÐ t" œuýÅv� tEŠö�

®  (b = −3 / 25)©Ë býUÐ X³¦� Á—«uL¼ b¹UÐ U¼Å‰uN−� È«dÐ q.UŠ »«uł œuýÅv� t−O²� Æbý vHM� 

»«uł Êbý vHM�  —u.—œ


t?O?)Ë« œ«u� pL"ÅtÐ dE�œ—u� t�bÐ XšUÝ ÊUJ�« ‰uN−� ì Ë Ëœ ¨p¹ 

È«d?Ð Áb?�¬ X?ÝœÅÅÅt?Ð ÈU¼Å»«uł Æœ—«b� œułË Ábý »U6²�«a¨b ¨cÅÅÅÅË Åd‰Ëb?ł t?ÐU?A� v)Ëbł —œ «— 

®±±‡‡∂Êu?²?Ý l?L?ł q?.U?Š U?¹¬ t?" bO¹UL� vÝ—dÐ Ë ÁœuL� œ—«Ë tO)Ë« œ«u� v)«dMO� eO)U�¬ tÐ tłuð UÐ ©

ødOš U¹ XÝ« X6Ý vMOÇ ‰«dMO� eO)U�¬ ÊUL¼ U¼Å‰«dMO�



∑±

œuýÅv�  ôœUF� vIDM�dOž »«uł tÐ d−M� t" tO)Ë« œ«u� XÝ—œU� »U6²�« t−O²� ÈbFÐ ‰U¦� —œ

ÆbOM"Åv� Áb¼UA� «—

 ‰U¦�∂∫Ë œd?łËd?Ð  U?á?Ýb?K
 ¨t²QA� “u�“ tO)Ë« œ«u� “« eÄ Ë X6Ä vMOÇ t�bÐ XšUÝ È«dÐ 

ÆbOÐUOÐ «— tO)Ë« ÈÅÁœU� d¼ “« Â“ô b.—œ XÝ« Ábý ÁœUH²Ý« Ê«bL¼ fOKOÝ

∫qŠ

ÆrO¼œÅv� qOJAð «— t�bÐ Ë ÅtO)Ë« œ«u� v)«dMO� eO)U�¬ ‰Ëbł

 ‰Ëbł±≤‡‡Å∂eÄ Ë XPÄ vMOÇ t�bÐ Ë tO
Ë« œ«u� v
«dMO� eO
U�¬ ‡‡ÅÅ

tO
Ë« ÁœU�      bC—œK + MFQlLł

t²QA� “u�“a¥∞±∞µ∞±∞∞

œdłËdÐ  UáÝbK
b∞∏π±±±∞∞

Ê«bL¼ fOKOÝc∞∞±∞∞±∞∞

eÄ Ë X6Ä vMOÇ∂µ≤∞±µ±∞∞

ÆrO¼œÅv� qOJAð «—  ôœUF� ÁU~²Ýœ ¨r¹«Åt²šu�¬ vK³X ÈU¼Å‰U¦� —œ t" t�uÖÅÊUL¼

40a +0× b +0× c = 65 ×100           ⇒ 40a = 6500

10× a + 89× b +0× c = 20×100

50× a +11b +100c =15 ×100









  
a = 6500

40
=162 / 5

  10×162 / 5 + 89b = 2000⇒ 89b = 375

  b = 4 / 2

  50×162 / 5 +11× 4 / 2+100c =1500

  8125 + 46 / 2+100c =1500

  
c = −66 / 7

 —«b?I?� t?" œu?ýÅv� tEŠö�a “« d?ðÅ¯—eÐ ÈœbŽ ±∞∞ —«b?I� Ë cËœ d?¼ t?" X?Ý« Ábý vHM� 

b�«uðÅvL� vÐU6²�« ÈÅtO)Ë« œ«u� UÐ eÄ Ë X6Ä vMOÇ ÈÅt�bÐ b¼œÅv� ÊUA� Ÿu{u� s¹« Ë bM²Q¼ vIDM�ÅÅdOž

Æœuý t²šUÝ



∑≤

¥ÅÅ‡‡∂vðUáÝbK� vMOÇÅ‰bÐ t�bÐ XšUÝ È«dÐ »uÞd� tO
Ë« œ«u� bC—œ ÈÅt³ÝU×� ‡‡ÅÅ

v?ðËU?H?²?� ÈU?¼ÅX?Ðu?Þ— È«—«œ v?¹UO
«dGł ÊUJ� Ë ©qB
® ÊU�“ ”UÝ«dÐ vJO�«dÝ tO)Ë« œ«u�

ôu?.« ¨býUÐÅv� rN� tO)Ë« œ«u� XÐuÞ— sOOFð Ë t³ÝU×� t" ¨bMýUÐÅv�ÎÈ«dÐ ÕdD� v)«dMO� ÈU¼eO)U�¬ 

 —œ Áb?ý pAš ÈÅtO)Ë« œ«u� ·dB� ”UÝ«dÐ vJO�«dÝ nK²6� ÈU¼Åt�bÐ  
oC±∞∞Æb?�«ÅÁbý vŠ«dÞ 

“« f?Ä v?)«d?M?O� eO)U�¬ —œ  «dOOGð “ËdÐ YŽUÐ Ê¬ tÐ tłuð ÂbŽ Ë tO)Ë« œ«u� Á«dL¼ vJ¹eO
 »¬ —uCŠ

Æbý b¼«uš X6Ä

ÈU¼ÅXÐuÞ— U¼ÅpO�«dÝ Êœ«œÅqJý nK²6� Ÿ«u�« È«dÐ Ë t�bÐ d¼ XšUÝ XNł bO�«œÅv� t"—uÞÅÊUL¼

 œËbŠ »UžËœ XšUÝ XNł ‰U¦� —uÞÅtÐ Ær¹—«œ “UO� vðËUH²�µ∞‡‡ÅÅ≥µsOÐ Ë ©“UQ�«Ë— ÊËbÐ® »¬ b.—œ 

≤µ Uð ≥µtO)Ë« ÁœU� p¹ Á«dL¼ »¬ ÊœuL�Åh6A� Ë sOOFð «c) býUÐÅv� “UO� ©“UQ�«Ë— UÐ Á«dL¼® »¬ b.—œ 

b�«uðÅv� Ê¬ tÐ vNłuðÅvÐ Ë býUÐ t²ý«œ »UžËœ XšUÝ È«dÐ Â“ô »¬ Ê«eO� ÈË— v¹«eÝÅtÐ dOŁQð b�«uðÅv�

Æb¼œ —«dX ŸUFA)«ÅX×ð «— »UžËœ ©vJ¹˛u)uz—® v�U¹dł —U²
— ¨v)«dMO� eO)U�¬ s²6¹—År¼ÅtÐ dÐÅÁËöŽ

ÅÅÅÅ‰U?¦�∑∫ ‰U¦� —œ ±®Å‰Ëb?ł Z?¹U?²� tÐ tłuð UÐ ∂Å‡‡Å∂¨t?²?Q?A?� “u?�“ pAš ÈUM³� dÐ XÐuÞ— ¨©

 VOðdð tÐ œdłËdÐ  UáÝbK
 Ë tO"dð vK"Å‰UÐ dð ÈUM³� dÐ XÐuÞ—∑ ̈ b.—œµ Ë b.—œ ±ÆbýUÐÅv� b.—œ 

ÆbO¹UL� t³ÝU×� U¼ÅÊ¬ XÐuÞ— b.—œ tÐ tłuð UÐ «— tO)Ë« ÈÅÁœU� d¼ Â“ô —«bI�

 pAš Ê“Ë                                 −dð Ê“Ë 

  
=                                ×100pAš ÈUM³� dÐ XÐuÞ— b.—œ 

pAš Ê“Ë                                       

∫qŠ

U?M?ý¬ Ê¬ Èd?O?ÖÅÁ“«b�« ‘Ë— UÐ tO)Ë« œ«u� ÁU~A¹U�“¬ —œ t" t�uÖÅÊUL¼ ¨XÐuÞ— b.—œ s²
U¹ È«dÐ

 ÈU�œ —œ Ë s"ÅpAš —œ «— tO)Ë« ÁœU� fáÝ ÆbMM"Åv� ÈdOÖÅÁ“«b�« «— dð Ê“Ë «b²Ð« ¨b¹bý    105 ± 5oC

ôuLF�® œœdÖ XÐUŁ ÁœU� Ê“Ë Ë b²HO� ‚UHð« d~¹œ ÁœU� Ê“Ë Êbý r" t" v�U�“ Uð bM¼œÅv� —«dXÎXŽUÝ s¹bMÇ 

“« f?Ä t?O?)Ë« ÁœU?� Æ©X?Ý« s?"Åp?A?š —œ Êb�U� tÐ “UO� tO)Ë« œ«u� ÈbMÐÅt�«œ Ë XÐuÞ— Ê«eO� tÐ tłuð UÐ

U?Ð Æb?M?ÐU?¹Åv?� «— p?A?š Ê“Ë Ë Áb?ý s?¹“u?ð Á—U?ÐËœ j?O×� ÈU�œ Uð Êbý pMš Ë s"ÅpAš “« ÃËdš

ÈUM³� dÐ XÐuÞ— b.—œ ÊuÇ ÆœuýÅv� t³ÝU×� pAš ÈUM³� dÐ XÐuÞ— b.—œ ‚u
 ‰u�d
 “« ÁœUH²Ý«

ÅÅt²QA� “u�“ sO)uzU" pAš∑ dÐ œ«“U� t" XÝ« vMF� Ê«bÐ s¹« ̈ býUÐÅv� b.—œ±∞∞ÈÅt²QA� “u�“ XLQX 

 ¨p?Aš∑ Ê¬ ÈÅÁb?M?¼œÅq?O?J?A?ð ÈU¼Å‰«dMO� Ë œ—«œ œułË »¬ XLQX ±∞∞s?¹«ÅÅd?ÐÅU?M?Ð ÆbýUÐÅv� XLQX 

 UÐ Á«dL¼ XÐuÞ— —«bI� Ê«uðÅv�∏[∂∏Æœd" «bOÄ VÝUMð p¹ UÐ «— pAš t²QA� “u�“ XLQX 

pAš ÈUM³� dÐ XÐuÞ— XLQXpAš “u�“ sO)uzU" XLQX

∑±∞∞

x∏[∂∏



∑≥

           UÐ Á«dL¼ »¬      ∏[∂∏pAš t²QA� “u�“ XLQX  x = 7 ×68 / 8
100

= 4 / 8g

 s?O?�Q?ð È«d?Ð »u?Þd?� ÈÅt?²?Q?A?� “u?�“ —«b?I?� s?¹«d?ÐUMÐ∏[∂∏p?A?š t?²?Q?A?� “u?�“ X?LQX 

  68 / 8 + 4 / 8 = 73 / 6s?O?�Qð È«dÐ t" r¹bOÝ— t−O²� s¹« tÐ ‚u
 VÝUMð s²ýu� UÐ Æb¹¬Åv� XÝœÅÅÅtÐ 

∏[∂∏ lX«Ë—œ pAš t²QA� “u�“ b.—œ ∂[∑≥® »uÞd� t²QA� “u�“ b.—œ   -∑ÅÈUM³� dÐ XÐuÞ— 

ÆXÝ« Â“ô ©pAš

 U?Ð Á«d?L¼ XÐuÞ— —«bI� t³ÝU×� t�«œ« —œ±µ U?Ð p?A?š tO"dð vK"Å‰UÐ XLQX   -µÅdÐ XÐuÞ— 

œuýÅv� ÂU−�« dð ÈUM³�            ∫
ÅÅÅÅ

dð Ê“Ë       pAš Ê“Ë

  
=

                −                    
×100 b.—œdð ÈUM³� dÐ XÐuÞ—

dð Ê“Ë                                               

—œ œułu� pAš ÁœU� ±∞∞ »uÞd� tO"dð vK"Å‰UÐ XLQX   100− 5 = 95 -

pAš ÁœU� XLQX»uÞd� vK"Å‰UÐ XLQX

πµ±∞∞

±µx

XLQX                                                               x = 15 ×100
95

=15 / 8g

 “« b¹UÐ lX«Ë —œ fÄ∏[±µ XÐuÞ— UÐ tO"dð vK"Å‰UÐ XLQX  -µÅ sO�Qð È«dÐ dð ÈUM³� dÐ ±µXLQX

Æœd" ÁœUH²Ý« pAš vK"Å‰UÐ

ÆœuýÅv� qLŽ tO"dð vK"Å‰UÐ bM�UL¼ ¨œdłËdÐ  UáÝbK
 »uÞd� —«bI� ÈÅt³ÝU×� È«dÐ

t¹UÄ dÐ XÐuÞ— b.—œ ‰u�d
 “« ÁœUH²Ý« UÐ œ—«œ œułË eO� Èd~¹œ Á«— ‚u
 ÈU¼Å‰U¦� qŠ È«dÐ

∫b¹—Ë¬ XÝœÅÅtÐ VOðdð s¹bÐ «— dð Ê“Ë bO�«uðÅv� pAš

 pAš Ê“Ë                                 −dð Ê“Ë 

  
=                                ×100pAš ÈUM³� dÐ XÐuÞ— b.—œ 

pAš Ê“Ë                                      

XÐuÞ— b.—œ
±

 ∫pAš t¹UÄ dÐ Md
  
Md - =

Ww − Wd
Wd

×100

dð Ê“Ë
≤

 ∫ÂdÖ tÐ Ww

pAš Ê“Ë
≥

Å∫ÂdÖ tÐ Wd

±‡‡ Moistare
≤·dŠ ‡‡ òWò ÈÅtLK" “« åweightò Ë Ê“Ë vMF� tÐ åwò ÈÅtLK" “« åwetÆXÝ« Áb�¬ »uÞd� vMF� tÐ å

≥·dŠ ‡‡ òWò ÈÅtLK" “« åweightò ·dŠ Ë ådò “« ådryÆXÝ« Áb�¬ pAš vMF� tÐ å



∑¥

Md .Wd = (Ww − Wd ) ×100=100Ww −100Wd

  
Md.Wd =100Ww −100Wd ⇒ Ww =

Md.Wd +100Wd
100

∫rOM"Åv� qŠ «— ‰U¦� tK.UŠ ‰u�d
 “« ÁœUH²Ý« UÐ

Md - = 7    Wd = 68 / 8     Ww = ?

 XLQX

  
W w =

7 ×68 / 8 +100×68 / 8

100
= 73 / 6g

s¹dLð

± t?O?)Ë« ÈÅÁœU?� t?Ý “« v?J?O�«dÝ ÈÅt�bÐ ÂdÖuKO" b.ÅÅp¹ XšUÝ È«dÐ ‡‡A ¨B Ë CÁœUH²Ý« 

 V?O?ðd?ð t?Ð t�bÐ —œ tO)Ë« œ«u� s¹« v
dB� b.—œ ÆœuýÅv�  -≤[¥≥Å ¨  -∑[≥∏ Ë Å  -±[±∏dÖ« ÆXÝ« Å

 tO)Ë« ÈÅÁœU� dð t¹UÄ dÐ XÐuÞ— b.—œ rO�«bÐA ¨∏ tO)Ë« ÈÅÁœU� ¨b.—œ B ¨¥XÐuÞ— b.—œ Ë b.—œ

 tO)Ë« ÁœU� pAš t¹UÄ dÐC ¨≥ÆbOM" sOOFð «— tO)Ë« œ«u� “« p¹ÅÅd¼ “« “UO� œ—u� —«bI� ¨XÝ« b.—œ 

≤e?O?)U?�¬ ÆX?Ý« Áb?�¬ d?¹“ ‰Ëb?ł —œ È—«u¹œ výU" ÈÅt�bÐ p¹ tONð È«dÐ tO)Ë« œ«u� b.—œ ‡‡

ÆbOM" h6A� «— vJO�«dÝ ÈÅt�bÐ s¹« Ÿu� Ë v)«dMO�

tO
Ë« ÁœU�  v�dB� bC—œ sO
uzU*+UJO�  UáÝbK�eð—«u*

t²QA� “u�“µ∞¥∞±∞µ∞

tO"dð vK"Å‰UÐ¥∞∏≤≥±µ

œdłËdÐ  UáÝbK
µ[±∞∏π±±

Ê«bL¼ fOKOÝµ[≥∞∞±∞∞

vKFÐ¬ „Ušµ±∞µ∞¥∞

 t�bÐM±∞∞øøø

 ‰Ëbł±≥‡‡Å∂

≥∫dð ÈUM³� dÐ XÐuÞ— b.—œ ‰u�d
 s²ý«œ UÐ ‡‡

ÆbOM" Ã«d6²Ý« ‰u�d
 s¹« “« «— dð Ê“Ë tÐ ◊uÐd� ‰u�d
 ‡‡ n)«

 ‰ËbłÅ® »uÞd� œdłËdÐ  UáÝbK
 Ë tO"dð »uÞd� vK"Å‰UÐ —«bI� ‡‡ »±≥‡‡Å∂“« ÁœUH²Ý« UÐ «— ©

•ÅÅÅdð ÈUM³� dÐ XÐuÞ— b.—œ s²
dÖ dE�—œ UÐ ¨b¹«Åt²
U¹ t" v)u�d
µÆbOÐUOÐ tO)Ë« ÁœU� Ëœ d¼ È«dÐ 



∑µ

 ‰Ëbł±µ‡‡Å∂

tO
Ë« ÁœU�  v�dB� bC—œ sO
uzU*+UJO�  UáÝbK�eð—«u*

t²QA� “u�“ø¥∞±∞µ∞

œdłËdÐ  UáÝbK
ø∞∏π±±

vKFÐ¬ „Ušø±∞µ∞¥∞

ÁdHÝ vMOÇ t�bÐ¥∑≤≥≥∞

¥ tO)Ë« œ«u� v)«dMO� eO)U�¬ ‡‡A ̈B Ë C® ‰Ëbł —œ ±¥‡‡Å∂ÈÅÁbýÅÅÅt.öš v)«dMO� eO)U�¬ ÆXÝ« Áb�¬ ©

 Êu²Ý tÝ tÐ U¼Å‰«dMO� tÐUA� ’«uš tÐ tłuð UÐ U¼ÅÊu²Ý® bO¹UL� h6A� «— tO)Ë« œ«u�K + M ̈F Ë Q

Æ©œuý t.öš

  tO
Ë« ÁœU�sO
uzU*+UJO�  UáÝbK�eð—«u*Å UMÐd*ÅrO9K*v
¬Åœ«u�
  
Fe2O3  

TiO2lLł

A≤∏ÅÅ+ÅÅÅÅµ±≤¥∞¥π±±±∞∞

B‡‡∏≥±µ∑[±‡‡±[∞≤[∞±∞∞

C±¥¥µµ[≥µ≤‡‡µ[±≤±∞∞

 ‰Ëbł±¥‡‡Å∂

µv?)«d?M?O?� e?O?)U?�¬ U?Ð Ád?H?Ý v?M?O?Ç t?�b?Ð X?šU?Ý È«d?Ð Ê«uðÅv� U¹¬ t" bO¼œ ÊUA� t³ÝU×� UÐ ‡‡ 

  K + M = 47 ¨  F = 23 Ë   Q = 30vKFÐ¬ „Uš Ë œdłËdÐ  UáÝbK
 ¨t²QA� “u�“ tO)Ë« ÁœU� tÝ “« 

ødOš U¹ œd" ÁœUH²Ý« ‰Ëbł —œ Áb�¬ eO)U�¬ oÐUD�

∂® ‰Ëb?ł  —u?. t?Ð È—ËÅs?ð—« ÈÅt�bÐ eO�¬ v�“Ë b.—œ ‡‡ÅÅ±∂ÅÅ‡‡∂—œ t?" v?ð—u.Å—œ ÆXÝ« ©

® Á—ULý vK"Å‰UÐ s¹“uð±® Á—U?Lý vK"Å‰UÐ Ë ©≤q?.UŠ t�bÐ v)«dMO� eO)U�¬ÅÅ—œ ÈdOOGð tÇ ¨œuý U−ÐUł ©

® Á—ULý vK"Å‰UÐ v)«dMO� eO)U�¬ ÆbOM" t³ÝU×� «— v)«dMO� eO)U�¬ —œ Ábý œU−¹«  «dOOGð ÆœuýÅv�±® Ë ©≤¨©

® ‰Ëbł —œ  UáÝbK
 Ë XMOK
±∑ÅÅ‡‡∂ÆXÝ« Áb�¬ ©

„Uš Ÿu�® Á—ULý vK" ‰UÐ±©®Á—ULý vK" ‰UÐ≤©©XMOK
® eð—«u"    UáÝbK


               v�“Ë bC—œ    ≥∞≥∞≥µµ

 ‰Ëbł±∂ÅÅ‡‡∂



∑∂

tO
Ë« œ«u� Ÿu�sO
uzU* ©•® UáÝbK� ©•®eð—«u* ©•®

® Á—ULý vK" ‰UÐ±©∑∂[≥±∞[∏±≤[π

® Á—ULý vK" ‰UÐ≤©∑≤[∞±≤[±±µ[π

 UáÝbK
±¥[∞∂∑[≤±∏[∏

XMOK
∞≤π∏

 ‰Ëbł±∑ÅÅ‡‡∂

∑ ‰Ëb?ł “« ÁœU?H?²Ý« UÐ ‡‡±∑ÅÅ‡‡∂v?M?O?Ç t?�b?Ð X?šU?Ý È«dÐ «— “UO� œ—u� tO)Ë« œ«u� b.—œ 

v)«dMO� eO)U�¬ UÐ v²ý«bNÐ    K + M = 45 - ¨    F = 30- Ë     Q = 25 - ÆbO¹UL� h6A� ®ÁœUH²Ý« ÊËbÐ

©Ê«bL¼ fOKOÝ “«



ÅÅÅÅÅÅ∑∑

r²H¼ qB�

»UF� dÖ“ ‰u�d� Åt³ÝU×�

∫ÅÈ—U²�— ÈU¼Å·b¼∫b�«u²Ð qB
 s¹« ÊU¹UÄ “« fÄ ułdM¼ œË—Åv� —UE²�« 

±t?³?ÝU?×?� «— »U?F?' —œ œułu� ÈU¼bO*+« b,—œ ¨dÖ“ ‰u�d
 “« ÁœUH²Ý« UÐÅ ‡‡

ÆbM+

≤ÆbM+ t³ÝU×� eO�¬ —œ œułu� ÈU¼bO*+« b,—œ “« ÁœUH²Ý« UÐ «— dÖ“ ‰u�d
 ‡‡

t�bI�

b?Mð—U³Ž U¼Å‘Ë— s¹« s¹dðÅ‰Ë«b²�Æœ—«œ œułË vHK²;� ÈU¼Å‘Ë— ¨»UF' eO�¬ Êœ«œ ÊUA� È«dÐ

∫“«

»UF' tO'Ë« œ«u� v�“Ë b,—œ V*ŠdÐ ‡‡ n'«

Ê¬ ÈÅÁbM¼œÅqOJAð ÈU¼bO*+« v�“Ë b,—œ V*ŠdÐ ‡‡ »

©ÅdÖ“Å‰u�d
Å® Ê¬ ÈÅÁbM¼œÅqOJAð ÈU¼bO*+« v'u� ÈU¼ÅX³*� V*ŠdÐ ‡‡ Ã

±‡‡∑Ê¬ ÈÅÁbM¼œÅqOJAð tO�Ë« œ«u� V-ŠdÐ »UF� eO�¬ ‡‡

U?
d?, ‘Ë— s¹« —œÎv?
d?F?� «— »U?F?' e?O?�¬ ¨t?²?
— —U?+ t?Ð ÈU¼ÅX³*� Ë v
dB� œ«u� ÂU� d+– UÐ 

ö¦� ÆrOM+Åv�Î∫“« X*ð—U³Ž v²ý«bNÐ vMOÇ »UF' p¹ eO�¬ rO¹uÖÅv� 

ÁœU� Ÿu2         ® —«bI�    --©

p¹bÝ  UáÝbK
≤∑[∞

eð—«u+≤∂[¥

 UMÐd+ rO*K+±π[∞

sO'uzU+±∞[¥

ÅbO*+« ÈË—≤[≤

 UJOKOÝ rO�u+d¹“±≤[∞

œ—“ @�—≥[∞



ÅÅÅÅÅÅÅÅÅ∑∏

ö?¦?�Å® œu?ý d?+– b?¹U?Ð e?O?� t?O'Ë« ÁœU� vð—U−ð ÂU� ¨v²'UŠ sOMÇ —œ t+ XÝ« vN¹bÐÎœu?ý t?²ýu� 

“« p¹ d¼ bO�«œÅv� t+—uÞÅÊUL¼ «d¹“ ©ìÅ Ë U�“«  UMÐd+ rO*K+¨Ê«bL¼ eð—«u+ ¨ÊU−�“ r¹bÝÅ UáÝbK


ÆXÝ« —«œ—ušdÐ œuš ’Uš v¹UOLOý eO'U�¬ “« —u+c� tO'Ë« œ«u�

≤‡‡∑Ê¬ ÈÅÁbM¼œÅqOJAð ÈU¼bO-6« v2“Ë b8—œ V-ŠdÐ »UF� eO�¬ ‡‡

ö¦� ÆœuýÅv� v
dF� Ê¬ —œ œułu� ÈU¼bO*+« v�“Ë b,—œ  —u, tÐ »UF' eO�¬ ‘Ë— s¹« —œÎ

∫“« X*ð—U³Ž vðUJOKOÝ Ë —uÐ »UF' p¹ eO�¬ rO¹uÖÅv�

©v2“Ë b8—œ® —«bI�bO-6«

µ∞[±π
  
SiO2

±¥[≥∂
  
Al2O3

∂[≥πCaO

∞[≥πMgO

±∞[≤∞
  
Na2O

±∏[¥∑
  
B2O3

≥‡‡∑dÖ“ ‰u�d�  —u8 tÐ »UF� eO�¬ ‡‡

—œ v'u� ‰u�d
 kH' ÊœdÐ—U+ tÐ t+ XÝ« È—Ëd{ t²J� s¹« d+– ‘Ë— s¹« tÐ s²š«œdÄ “« gOÄ

ÈU?¼Åg?¹«—¬ Ë U?¼ÅÁËd?Ö s?O?M?Ç œułË vMF� tÐ v¹U¼Å‰u�d
 sOMÇ d+– U¹ tz«—« Ë XÝ« Èœ«œ—«de UłÅs¹«

® v?'u� ÈU¼Å‰u�d
 “« ÁœUH²Ý« UÐÆX*O� XFO³Þ —œ v'uJ'u�©ÅdÖ“ ‰u�d�ÅÈ«d?Ð v³ÝUM� ÈUM³� ¨»UF' 

“« vCFÐ t+ rOM+Åv� ÷d
 ̈ ‘Ë— s¹« —œÆr¹—Ë¬Åv� œułË tÐ nK²;� ÈU¼Å»UF' —U²
— Ë ’«uš t*¹UI�

U?¼ÅÊ¬ È—u?¾?ð ‰u?�d?
 t?¹U?Ä d?Ð «— œuš  U³ÝU×� ÈUM³� t−O²� —œ Ë bM²*¼ h'Uš ÁœUH²Ý« œ—u� œ«u�

Æœd+ rO¼«uš —«u²Ý«

È«dÐÅÅÆrO¼œÅv� Å̀ O{uð «— »UF' ©ÅdÖ“Å® v'u� ‰u�d
 t³ÝU×� ‘Ë— ÊuM+«¨bý t²HÖ tÇÅÊ¬ tÐ tłuð UÐ

∫“« bMð—U³Ž tKŠd� tÝ s¹«Æœd+ vÞ b¹UÐ «— tKŠd� tÝ —U+ s¹« ÂU−�«

±«— »U?F?�Å v�u�  X³-2 ¨Ê¬  v�uJ�u�  Ê“Ë tÐ  bO-6« d¼  v2“Ë  b8—œ  rO-Ið UÐ ‡‡

Ær¹—Ë¬Åv� XÝœÅtÐ

≤ÅÅ® È“UÐ ÈU¼bO-6« v�u� ŸuL−� ‡‡± Ë ≤Ær¹—Ë¬Åv� XÝœ tÐ «— ©Åv²O�dþ 

≥È“UÐ ÈU¼bO-6« v�u� ŸuL−� tÐ «— ‰Ë« tKŠd� —œ Ábý t³ÝU×� d¹œUI� “« p¹ d¼ ‡‡



ÅÅÅÅÅÅ∑π

 UÐ dÐ«dÐ U¼bO-6« s¹« v�u� ŸuL−� t−O²2 —œÆrOM6Åv� rO-Ið±Æbý b¼«uš 

 ‰U¦�± ∫ v?ÐU?F?' ÈÅÁb?M¼œ qOJAð ÈU¼bO*+« v�“Ë b,—œ
±

  

Å® ‰Ëbł —œ±‡‡∑Áb?ý Áœ«œ ÊUA� ©Å

ÆbOM+ t³ÝU×� «— Ê¬ dÖ“ ‰u�d
ÆXÝ«

bO-6« Ÿu2
  
SiO2  

Al2O3CaOMgO
  
Na2O

  
B2O3

v2“Ë b8—œµ∞[≤∞±¥[≥∂∂[¥∞∞[¥∞±∞[≤∞±∏[µ∞

∫qŠ

ÅÊ¬ v'uJ'u� Ê“Ë tÐ «— »UF' È«eł« “« p¹ d¼ v�“Ë b,—œ «b²Ð« ̈ bý t²HÖ t+—uÞÅÊUL¼ Å‡‡ Ån'«

ÆrOM+Åv� rO*Ið

  SiO2 : 50/ 20 ÷ 60/1=0/ 835

  
Al2O

3
:14 / 36 ÷ 102 =0/140

  CaO :6 / 40 ÷ 56 /1=0/114

MgO :0/ 40 ÷ 40/ 3 =0/0099 ~0/01

Na2O :10/ 20 ÷ 62 =0/164

B2O3 :18 / 50 ÷ 69 / 6 =0/ 265

X?Ýœ t?Ð d¹œUI� “« p¹ d¼ fáÝ Ë r¹—Ë¬Åv� XÝœ tÐ «— È“UÐ ÈU¼bO*+« v'u� ŸuL−� ‡‡Å »

 UÐ dÐ«dÐ È“UÐ ÈU¼bO*+« ŸuL−� qLŽ s¹« UÐÆrOM+Åv� rO*Ið ŸuL−� s¹« tÐ «— ©Ån'«Å® XL*e —œ Áb�¬±

Æbý b¼«uš

CaO + MgO + Na2O =0/114 +0/010+0/164 =0/ 288

SiO2 :0/ 835 ÷ 0/ 288 = 2 / 899

  Al2O3 :0/140 ÷ 0/ 288 =0/ 486

CaO :0/114 ÷ 0/ 288 =0/ 395

MgO :0/010 ÷ 0/ 288 =0/0347

±ÁœUH²Ý« œ—u� X¹d
  —u, tÐ b¹UÐ ¨bM²*¼ »¬ —œ ‰uK×� Ê¬ v�bF�  U³O+dð t+ bO*+«—uÐÅ s²ý«œ qO'œ tÐ »UF' s¹« ‡‡Å

ÆœdOÖ —«de

 ‰Ëbł±Å‡‡Å∑»UF� vŽu2 ÁbM¼œÅqOJAð ÈU¼bO-6« v2“Ë b8—œ ‡‡



ÅÅÅÅÅÅÅÅÅ∏∞

Na2O :0/164 ÷ 0/ 288 =0/ 569

B2O3 :0/ 265 ÷ 0/ 288 =0/ 920

 ‡‡ “Å®  —u, tÐ «— Áb�¬ XÝœ tÐ œ«bŽ« ‰UŠ ‡‡Å Ã±©Å
±

∫rO*¹u�Åv� 

    

CaO   0/ 395          Al2O3   0/ 486             
SiO2   2 / 899

B2O3   0/ 920





MgO   0/035     

      

Na2O   
0/ 569

0/ 999 ~1














  ‡‡ “ ®±© 

©ÅÈ“U?Ð ÈU?¼b?O?*+«Å® ‰Ë« Êu²Ý v'u� ŸuL−� ¨ UOKLŽ s¹« ÂU−�« UÐ bOM+Åv� Áb¼UA� t+—uÞÅÊUL¼

 UÐ dÐ«dÐ±ö?¦?� œ—«œ œu?łË  ËUH²� ÈU¼bO*+« ÊbOÇ È«dÐ vHK²;� ÈU¼œUNMAOÄÆœuýÅv� ÎÁbOIŽ È«ÅÁbŽ 

—œ Èb?O?Ý« ÈU?¼b?O?*+« Ë ÂËœ Êu²Ý —œ bO*+« ÂuOMO�u'¬ ¨‰Ë« Êu²Ý —œ È“UÐ ÈU¼bO*+« b¹UÐ t+ b�—«œ

všdÐ t+ v'UŠ —œ ÆœdOÖÅv� —«de fOKOÝ d¹“ ÈbOÝ« ’«uš XKŽ tÐ bO*+«Å—uÐ Æb�dOÖ —«de ÂuÝ Êu²Ý

ÂËœ Êu²Ý —œ b¹UÐ d~¹œ ÈÅÁó¹Ë  «dŁ« všdÐ Ë v²O
dþ X¼U³ý dÞUš tÐ «— bO*+«ÅÅ—uÐ t+ b�—«œ ÁbOIŽ d~¹œ

ÆXÝ« ‰Ë« t¹dE� ”UÝ«dÐ U¼bO*+« Êbý ÁbOÇ ÈÅÁu×� »U²+ s¹« —œÆœ«œ —«de ©bO*+« ÅÂuOMO�u'¬ d¹“ vMF¹Å®

 ‰U?¦�≤ ∫“« »U?F' êÐ p¹≥¥≥[¥  U?J?O?K?O?ÝÅvÐ »dÝ v�“Ë XL*e 
  
(PbO.2SiO2) ¨Åµ±[∂

 Ë s?O?'u?zU?+ v�“Ë XL*e≥∞[∞«— »U?F?' s?¹« d?Ö“ ‰u?�d?
ÆX?Ý« Áb?ý q?O?JAð fOKOÝ v�“Ë XL*e 

ÆbOM+ t³ÝU×�

∫ÅqŠ

«— Ê¬ ÈÅÁb?M?¼œÅq?O?JAð ÈU¼bO*+« v�“Ë b,—œ b¹UÐ «b²Ð« ¨»UF' s¹« dÖ“ ‰u�d
 t³ÝU×� È«dÐ

Æœ—Ë¬ XÝœÅtÐ

 —«bI�
  
SiO2 —œ œułu� ≥¥≥[¥ UJOKOÝÅvÐ »dÝ XL*e 

  
  
2SiO2       

  
PbO.2SiO2

    120/ 2              343 / 4ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ

  
  
x1                    343 / 4ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ

  
⇒ x1 =

343 / 4×120/ 2

343 / 4
=120/ 2

± ‡‡ “® “« —uEM� ‡‡Å± Á—ULý dÖ“ ‰u�d
 ©±ÆXÝ« 



ÅÅÅÅÅÅ∏±

—«bI�       PbO —œ œułu� ≥¥≥[¥ UJOKOÝÅvÐ »dÝ v�“Ë XL*e 

   PbO                
  
PbO.2SiO2

    223 / 2                    343 / 4ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ

    
  
y1                         343 / 4ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ

  
⇒ y1 =

343 / 4×223 / 2

343 / 4
= 223 / 2

 —«bI�
  
SiO2 —œ œułu� µ±[∂sO'uzU+ v�“Ë XL*e 

  
  
2SiO2     Al2O

3
.2SiO2.2H2O

  120/ 2                258 / 2ÅÅÅÅÅ           

  
x2                    51/ 6ÅÅ            

  
⇒ x2 =

51/ 6 ×120/ 2

258 / 2
= 24 /02

 —«bI�
  
Al2O

3
 —œ œułu� µ±[∂sO'uzU+ v�“Ë XL*e 

  
Al2O

3
       

  
Al2O

3
.2SiO2.2H2O

  102                    258 / 2ÅÅÅÅÅÅÅÅÅ         

  
y2                       51/ 6ÅÅÅÅ          

  
⇒ y2 =

51/ 6 ×102

258 / 2
= 20/ 38

 —«bI�
  
SiO2 —œ œułu� ≥∞[∞fOKOÝ v�“Ë XL*e 

 
  
SiO2           

  
SiO2®©fOKOÝ

  60/1                 60/1Å        

  
x

3
              ≥∞[∞

⇒ x
3

=
30/0×60/1

60/1 = 30/0

Ær¹—Ë¬Åv� XÝœ tÐ «— œułu� ÈU¼bO*+« “« p¹d¼ ŸuL−� ‰UŠ

SiO2 :120/ 2+24 /02 + 30/0=174 / 22

  Al2O3 :20/ 38

  PbO :223 / 2



ÅÅÅÅÅÅÅÅÅ∏≤

l?L?ł r?¼ UÐ «— U¼bO*+« È«dÐ Áb�¬ XÝœÅtÐ d¹œUI� «b²Ð« U¼bO*+« “« p¹ d¼ b,—œ s²
U¹ È«dÐ

ÆrOM+Åv� rO*Ið Áb�¬ XÝœÅtÐ ŸuL−� tÐ «— bO*+« d¼ —«bI� fáÝ Ë Áœd+

  174 / 22 +20/ 38 +223 / 2 = 417 / 8

  SiO2 = 41/ 69-

  Al2O3 = 4 / 87 -

  PbO = 53 / 42-

ÆrOM+Åv� t³ÝU×� «— »UF' ÅdÖ“Å ‰u�d
 ¨XÝ« Ábý t²HÖ ÊuM+Uð tÇÅÊ¬ tÐ tłuð UÐ XL*e s¹« —œ

  SiO2 : 41/ 69 ÷ 60/1=0/ 693

Al2O3 : 4 / 87 ÷ 102 =0/047

PbO : 53 / 42 ÷ 223 / 2 =0/ 239

»U?F?' s?¹« —œ œułu� È“UÐ bO*+« UNMð t+Ås¹« tÐ tłuð UÐ ÊuM+«PbOd?¹œUI� “« p¹ d¼¨XÝ« 

Å tÐ «— q³e XL*e —œ Áb�¬ XÝœÅtÐ∞[≤≥πtÐ ‰u�d
 —œ È“UÐ bO*+« v'u� ŸuL−� Uð ¨rOM+Åv� rO*Ið 

Æœuý q¹b³ð bŠ«Ë

  SiO2 :0/ 693 ÷ 0/ 239 = 2 / 899

Al2O3  :0/047 ÷ 0/ 239 =0/196

PbO :0/ 239 ÷ 0/ 239 =1/000

Å‡‡ “Å® ‰u�d
  —u, tÐ »UF' s¹« dÖ“ ‰u�d
 fÄ≤∫œuýÅv� ©

‡‡ “®≤©    SiO2  2 / 899        
Al2O3   0/196           PbO  1/000

 ‰U¦�≥ ∫ “« vÐUF' êÐ≤±[∂≥ ̈ pOÝU²Ä  UáÝbK
 v�“Ë XL*e  ≤≥[¥µ¨sO'uzU+ v�“Ë XL*e  

µ≥[∞∏ÅË eð—«u+ v�“Ë XL*e π[±∞s¹« dÖ“ ‰u�d
ÆXÝ« Ábý qOJAð   UMÐd+ rO*K+ v�“Ë XL*e 

ÆbOM+ t³ÝU×� «— »UF'

 ∫ÅqŠÆrOM+ t³ÝU×� «— »UF' s¹« ÈÅÁbM¼œÅqOJAð ÈU¼bO*+« b,—œ «b²Ð« b¹UÐ q³e ‰U¦� bM�UL¼

 —«bI�
  
SiO2ÅÅÅ—œ œułu� ≤±[∂≥∫pOÝU²Ä  UáÝbK
 v�“Ë XL*e 

  
6SiO2             K2O  .  Al2O3  .  6SiO2

  360/ 6          ÅÅ                  556 / 8ÅÅÅ          

  
x1ÅÅ      ÅÅÅ                       21/ 63ÅÅ          

⇒ x1 =
21/ 63 × 360/ 6

556 / 8
=14 /00



ÅÅÅÅÅÅ∏≥

—«bI�
  
Al2O

3
 —œ œułu� ≤±[∂≥∫pOÝU²Ä  UáÝbK
 v�“Ë XL*e 

  
Al2O

3
ÅÅ             K2O  .  Al2O3  .  6SiO2

  102                          556 / 8Å           

  
y1                           21/ 63ÅÅ           

⇒ y1 =
21/ 63 ×102

556 / 8
= 3 / 96

—«bI�
  
K2O —œ œułu� ≤±[∂≥∫pOÝU²Ä  UáÝbK
 v�“Ë XL*e 

  
K2O           K2O  .  Al2O3  .  6SiO2

  94 / 2                          556 / 8Å           

  
z1                          21/ 63Å            

⇒ z1 =
21/ 63 ×94 / 2

556 / 8
= 3 / 66

 —«bI�
  
SiO2 —œ œułu� ≤≥[¥µ∫sO'uzU+ v�“Ë XL*e 

  
2SiO2        Al2O

3  .  2SiO2   .  2H2O

  120/ 2 Å                    258 / 2Å                

  
x2Å                      23 / 45Å               

  
⇒ x2 =

23 / 45 ×120/ 2

258 / 2
=10/ 91

 —«bI�
  
Al2O

3
 —œ œułu� ≤≥[¥µ∫sO'uzU+ v�“Ë XL*e 

  
Al2O

3
        Al2O

3  .  2SiO2   .  2H2O

  102                     258 / 2Å                

                                                      
  
y2ÅÅÅÅ                       23 / 45

Å             

  
⇒ y2 =

23 / 45 ×102

258 / 2
= 9 / 26

CaO                 
  
CaCO

3

  56 /1                    100/1Å 

  
x

3
ÅÅ                     9 /10ÅÅÅ  

—«bI�CaO —œ œułu� π[±∫ UMÐd+ rO*K+ v�“Ë XL*e 

⇒ x
3

=
9 /10× 56 /1

100/1 = 5 /10



ÅÅÅÅÅÅÅÅÅ∏¥

Ær¹—Ë¬Åv� XÝœ tÐ «— U¼bO*+« “« p¹ d¼ ŸuL−� ‰UŠ

 —«bI�Å®µ≥[∞∏©ÅbýUÐÅv� eð—«u+ tÐ ◊uÐd� 

    SiO2 :14 +10/ 91+ 53 /08 +0= 77 / 99 ~ 78

  Al2O3 :3 / 96 +9 / 26 +0+0=13 / 22

  
K2O : 3 / 66 +0+0+0= 3 / 66

 —«bI�CaO —œ œułu� π[±∫ UMÐd+ rO*K+ v�“Ë XL*e 

CaO :0+0+0+ 5 /10= 5 /10

ÆrOM+Åv� rO*Ið Ê¬ v'uJ'u� Ê“Ë tÐ «— bO*+« d¼ —«bI� ̈ dÖ“ ‰u�d
 Êœ—Ë¬ XÝœ tÐ È«dÐ ÊuM+«

  SiO2 : 78 ÷ 60/1=1/ 297

Al2O3 :13 / 22 ÷ 102 =0/129

K2O :3 / 66 ÷ 94 / 2 =0/0388 ~0/039

    CaO :5 /10 ÷ 56 /1=0/0909 ~0/091

—œ Áb�¬ XÝœ tÐ œ«bŽ« “« p¹ d¼ fáÝ Ë r¹—Ë¬Åv� XÝœ tÐ «— È“UÐ ÈU¼bO*+« ŸuL−� ÊuM+«

ÆrOM+Åv� rO*Ið Ê¬ dÐ «— q³e XL*e

K2O + CaO =0/039 +0/091=0/130

SiO2 :1/ 297 ÷ 0/130= 9 / 977

Al2O3 :0/129 ÷ 0/130=0/ 992

K2O :0/039 ÷ 0/130=0/ 300

CaO :0/091 ÷ 0/130=0/ 700

∫“« X*ð—U³Ž »UF' s¹« dÖ“ ‰u�d
 fÄ

K2O     0/ 300
                             Al2O3     0/ 992     SiO2
CaO     0/ 700






  9 / 977

s¹dLð

±Å® ‰Ëbł  —u, tÐ vÐUF' ÈÅÁbM¼œÅqOJAð ÈU¼bO*+« v�“Ë b,—œ ‡‡≤ÅÅ‡‡∑dÖ“ ‰u�d
 ÆXÝ« ©Å

ÆbOM+ t³ÝU×� «— Ê¬



ÅÅÅÅÅÅ∏µ

 ‰Ëbł≤ÅÅÅÅÅ‡‡Å∑

U¼bO-6«
  
SiO2  

Al2O3CaOMgO
  
Na2O

  
B2O3

® —«bI�        --©µ∑[±∞±∞[µ≤µ[≤∞±[∞≤±±[±∞±∂[∞∂

U¼bO-6«
  
SiO2  

Al2O3PbO
  
K2O

® —«bI�    --©µ±[∂∞∏[∑∞≥≥[∂∞∂[±∞

≤‡?‡ÅÅ“Å® d?Ö“ ‰u�d
 ‡‡≥«— »U?F?' s?¹« ÈÅÁb?M?¼œÅqOJAð ÈU¼bO*+« v�“Ë b,—œ¨XÝ« œułu� ©Å

ÆbOM+ t³ÝU×�

  0/140
  
Na2O

  0/090
  
K2O

‡‡ “®≥          ©  2 / 800     
  
SiO2      0/ 300     

  
Al2O

3  0/ 625CaO

  0/145PbO

≥Å® ‰Ëbł  —u, tÐ »UF' p¹ ÈÅÁbM¼œÅqOJAð ÈU¼bO*+« v�“Ë b,—œ ‡‡≥‡‡∑ÆXÝ« ©Å

s?¹« s?O?�Q?ð È«dÐ eð—«u+ Ë pOÝU²Ä  UáÝbK
 ¨ UJOKOÝÅvÐ »dÝ ¨sO'uzU+ Â“ô d¹œUI� ‡‡ n'«

Æ©œuý t²
dÖ dE� —œ h'Uš œ«u� tOK+ eO� UłÅs¹« —œÅ® bOM+ t³ÝU×� «— eO'U�¬

ÆbOM+ t³ÝU×� «— »UF' s¹« dÖ“ ‰u�d
 ‡‡Å »

¥® Á—U?Lý »UF' Ëœ êÐ d¹œUI� ‡‡±® Ë ©≤d?~¹bJ¹ UÐ «— »UF' Ëœ s¹« dÖ“ ‰u�d
ÆXÝ« œułu� ©

ÆbOM+ t*¹UI�

kg ∏∞[±±    PbO.SiO2

® Á—ULý »UF'±©kg ¥[πµsO'uzU+         

kg ≤[∏πeð—«u+         

 ∂µ[∞∞kg                             bOHÝ »dÝ     PbO(OH)2.2PbCO
3

® Á—ULý »UF'≤©kg ±∞[∞∞sO'uzU+        

kg ≤∞[∞∞eð—«u+        

 ‰Ëbł≥‡‡∑























 UJOKOÝu�u� »dÝ



∏∂

r²A¼ qB�

vð—«dŠ ◊U�³�« V¹d{ t³ÝU×�

 ∫È—U²�— ÈU¼Å·b¼∫b�«u²Ð qB
 s¹« ÊU¹UÄ “« fÄ ułdM¼ œË—Åv� —UE²�«

‡‡ “« p¹d¼ vð—«dŠ ◊U%³�« V¹d{ Ë eO�¬ p¹ È«eł« v-u� X³%� “« ÁœUH²Ý« UÐ

ÆbM3 »U%Š «— eO�¬ q3 vð—«dŠ ◊U%³�« V¹d{ ¨U¼ÅÊ¬

t�bI�

ÊœuL� v²ý«bNÐ Ë v¹U³¹“ Ë X
«dþ ¨ÂUJ×²Ý« g¹«e
« XNł t3 XÝ« È«ÅtAOý t¹ô p¹ »UF-

¨b?ýU?ÐÅv?� r?EM� t3 t�bÐ —U²šUÝ ·öšdÐ »UF- —U²šUÝ ÆœuýÅv� ‰ULŽ« U¼ÅpO�«dÝ `DÝ ÈË— ¨t�bÐ

U?Ð Ë v?¼U?~?²?Ýœ ‘Ë— t?Ð Ëœ d?¼ ¨»U?F?- Ë t?�bÐ vð—«dŠ ◊U%³�« V¹d{ sOOFð ÆXÝ« ©·—u�¬® rEM�U�

ÊU?J?�« U?¼ÅÊ¬ Êœu?Ð ·—u?�¬ q?O?-œÅt?Ð U¼ÅtAOý Ë »UF- œ—u� —œ ÆXÝ« d¹cÄÅÊUJ�« d²�uðö¹œ “« ÁœUH²Ý«

Æœ—«œ œułË vð—«dŠ ◊U%³�« V¹d{ t³ÝU×�

±Å‡‡Å∏»UF& vð—«dŠ ◊U�³�« V¹d{ t³ÝU×� ‡‡ÅÅÅ

 U?F?D?Q ÂU?J?×?²?Ý« Ë X?O?H?O?3 —œ ¨t�bÐ Ë »UF- vð—«dŠ ◊U%³�« V¹d{ sOÐ v~M¼UL¼ Ë oÐUDð

◊U?%?³?�« V?¹d?{ ¨—«b?ÐUF- ÈU¼Åt�bÐ bO-uð ÂU~M¼ÅtÐ t3 XÝ« d3cð tÐ Â“ô Æœ—«œ ÈdŁR� gI� vJO�«dÝ

t?3Åv?ð—u?V —œ ÆœuýÅv� t²
dÖ dE�—œ t�bÐ vð—«dŠ ◊U%³�« V¹d{ “« dðÅpÇu3 v3b�« »UF- vð—«dŠ

ÈU?�œ U?ð X?Y?Ä ÈU?�œ “« t?F?D?Q ÊbýÅÅÅœdÝ ÂU~M¼ ¨býUÐ t�bÐ “« dðÅ¯—eÐ »UF- vð—«dŠ ◊U%³�« V¹d{

“« d?ðÅr?3 —U?O?%?Ð »U?F?- v?ð—«d?Š ◊U%³�« V¹d{ dÖ« d~¹œ ·dÞ “« Æœ—uš b¼«uš „dð »UF- ¨jO×�

qJý oÐUD�® Xý«œ b¼«uš œułË eO� »UF- Êbý È«Åt²ÝuÄ ‰UL²Š« ̈ býUÐ t�bÐ vð—«dŠ ◊U%³�« V¹d{

±Å‡‡∏n¹dFð tÐ ̈ ÁbýÅ t²YÄ ‰uB×� XOHO3 —œ vð—«dŠ ◊U%³�« V¹d{ gI� Ë XOL¼« tÐ tłuð UÐ ‰UŠ Æ©

Ær¹“«œdÄÅv� Ê¬ ÈÅt³ÝU×� v~�u~Ç Ë XOVUš s¹«



∏∑

Å® ÁœU?� v?³�� ‰uÞ dOOGð —«bI� ¨n¹dFð dÐUMÐ

  

∆ L
L1

Å©p?¹ Á“«b?�«ÅtÐ U�œ dOOGð È«“«Å tÐ «— 

ÆbM¹uÖ ÁœU� Ê¬ vð—«dŠ ◊U�³�« V¹d{ ¨s¹uK= tł—œÅ«— ÂU%ł« vDš vð—«dŠ ◊U%³�« t3 rO�«œÅv� 

Å® tDÐ«— UÐ±ÅÅ‡Å‡Å∏ÆbM¼œÅv� g¹UL� ©Å

Å®±ÅÅÅ‡Å‡Å∏©Å
  
L

2
= L

1
1+ α (T

2
− T

1
)[ ]

 tDÐ«— s¹« —œ
  
L2  —«dŠ tł—œ —œ tFDQ ‰uÞ 

  
T2ÅÅ¨

  
L1  —«dŠÅtł—œ —œ tFDQ ‰uÞ 

  
T1 Ë α

Å® tDÐ«—ÆXÝ« r%ł vDš vð—«dŠ ◊U%³�« V¹d{±ÅÅÅ‡Å‡Å∏∫Xýu� Èd~¹œ  —uVÅtÐ Ê«uðÅv� «— ©Å

  
L2 − L1 = L1α (T2 − T1)

  
⇒ ∆ L = L1α  ∆ T   ⇒ α =

∆ L
L1∆ T

d²�uðö¹œ ÁU~²Ýœ “« ÁœUH²Ý« UÐ vð—«dŠ ◊U%³�« V¹d{ v¼U~²Ýœ ÈdOÖÅÁ“«b�« ÈUM³� ̈ tDÐ«— s¹«
±

ö¦� ‡‡ bO-uð jš —œ ‰uLF� ‘Ë— UÐ «— tFDQ «b²Ð« t3 XÝ«  —uV s¹« tÐ d²�uðö¹œ UÐ —U3 ‘Ë— ÆXÝ«Î

‡‡ÅÅÅ”dÄ pL3 tÐ býUÐ ”dÄ bO-uð ‘Ë— dÖ« Ë vÐUžËœ  —uV tÐ býUÐ vÐUžËœ ÈdÖÅt²Y¹— bO-uð ‘Ë— dÖ«

“« f?Ä ¨b?ýU?Ð ÂU?š X-UŠ —œ vð—«dŠ —U²
— sOOFð ·b¼ dÖ« ‰UŠ ¨Áœd3 v¼œÅqJý œ—«b�U²Ý« œUFÐ« tÐ

s?ýË— Êœd?3 r?O?EMð “« fÄ «— ÁU~²Ýœ Á—u3 Ë Áœ«œ —«dQ ÁU~²Ýœ qš«œ —œ «—ÅÊ¬ ¨t�uL� Êœd3ÅpAš

 V%ŠdÐ «— vð—«dŠ vM×M� ÁU~²Ýœ t�U¹«— r²%OÝ ̈ rOM3Åv�® v³%� ‰uÞ  «dOOGð

  

∆ L
L1

© —«dŠÅÅÅÅtÐ X³%�  

ÈË— “« «— v?ð—«d?Š ◊U?%³�« V¹d{ ¨t³ÝU×� o¹dÞ “« Ê«uðÅv� tAOý Ë »UF- œ—u� —œ ÆbM3Åv� rÝ—

Æœ—Ë¬ XÝœÅtÐ V¹dIð tÐ ÅÁbM¼œÅqOJAð ÈU¼bO%3« eO-U�¬

—œ ¨v?J?O?�«dÝ ÈU¼Å»UF- —œ ‰Ë«b²� ÈU¼bO%3« È«dÐ V¹d{ tz«—« Ë tONð UÐ sOII×� “« všdÐ

±ÆbM3Åv� rÝ— Ë ÈdOÖÅÁ“«b�« «—  —«dŠ tł—œ  «dOOGð “« výU� ‰uÞ  «dOOGð t3 XÝ« v¼ÅU~²Ýœ d²�uðö¹œ ‡‡Å

 ‡‡ n&«±ÅÅ‡‡∏»UF& Êœ—uš „dð VOŽ ‡‡ÅÅ

‡‡ »±ÅÅ‡‡∏»UF& Êœd=Åt²ÝuÄ VOŽ ‡‡ÅÅ

»UF&

t�bÐ

 qJý±ÅÅ‡‡∏»UF& Ë t�bÐ ◊U�³�« V¹d{ œU¹“  ËUHð XKŽ tÐ »UF& —œ Ábý œU−¹« »uOŽ ‡‡ÅÅ

»UF&

t�bÐ
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∏π

ÈU¼Å‘Ë— —œ Æb�«ÅÁœd3 v¹U¼Å‘öð ¨Ê¬ VO3dð ÈË— “« »UF- vð—«dŠ ◊U%³�« V¹d{ ÈÅt³ÝU×� XNł

v-uJ-u� bV—œ —œ »UF- ÈbO%3« §eł d¼ tÐ ◊uÐd� V¹d{ Êœd3Å»d{ UÐ œ«d
« s¹« ÈuÝ “« Ábý tz«—«

‰Ëb?ł ÆœuýÅv� t³ÝU×� »UF- vð—«dŠ ◊U%³�« V¹d{ ¨d¹œUI� s¹« ŸuL−� Êœ—Ë¬ XÝœÅtÐ Ë ¡eł Ê¬

Å®±Å‡Å‡Å∏U?Ð Æb¼œÅv� ÊUA� «—  ËUH²� v¹U�œ j¹«dý Ë nK²Y� sOII×� ÈuÝ “« Ábý œUNMAOÄ V¹«d{ ©Å

Å® tDÐ«— —œ V¹«d{ s¹« Êœ«œ —«dQ≤ÅÅÅ‡Å‡Å∏Æœd3 t³ÝU×� «— vð—«dŠ ◊U%³�« V¹d{ Ê«uðÅv� ©Å

Å®≤ÅÅ‡Å‡Å∏©Å

  
106 ×

∆ L
L1∆ T

= f1p1 + f2p2 + f 3p3 +...+f npn

 ¨tDÐ«— s¹« —œf Ë bO%3« d¼ V¹d{pÆXÝ« ©ÅtAOý U¹Å® »UF- —œ Ê¬ v-u� bV—œ 

œ—u?� —œ Ê¬ “« ÁœU?H?²?Ý« t3 XÝ« Áœ«œ ÊUA� ¨V¹«d{ s¹« ÈdOÖ—U3 tÐ “« qVUŠ vÐd−ð Z¹U²�

UÐ j¹«dý “« vCFÐ —œ ‰UŠÅs¹« UÐ ÆX%O� d¹cÄÅÊUJ�« v
U3 X×V UÐ ¨ —«dŠ  Uł—œ Ë U¼Å»UF- v�ULð

U¹ Ë œ«œ ÂU−�« »UF- vð—«dŠ ◊U%³�« V¹d{  Êu�«dOÄ «— v¹U¼ÅsOLYð Ê«uðÅv�  U³ÝU×� s¹« “« ÁœUH²Ý«

Æœd3 t%¹UI� d~¹bJ¹ UÐ vð—«dŠ ◊U%³�« V¹d{ dE� “« «— nK²Y� »UF- Ëœ

 ‰U?¦�± ∫ÅÅ® ‰Ëb?ł —œ vÐUF- eO�¬≤Å‡Å‡Å∏¨ u?ý Ë s?L?K?J?M¹Ë V¹«d{ “« ÁœUH²Ý« UÐ ÆXÝ« Áb�¬ ©Å

ÆbOM3 t³ÝU×� «— »UF- s¹« vð—«dŠ ◊U%³�« V¹d{

 ‰Ëbł≤ÅÅ‡‡Å∏

bO�=« Ÿu�
  
SiO2  

Al2O3CaOMgO
  
Na2O

  
B2O3

v�“Ë bR—œµ∞[µ±¥[±∂[¥∞[¥±∞[≤±∏[¥

Å∫qŠ

∫œuýÅv� ÁœUH²Ý« d¹“ ÈÅtDÐ«— “« ‰u� œ«bFð ÈÅt³ÝU×� È«dÐ

v�“Ë bV—œ                                                                        

=
                       

‰u� œ«bFð 

v-uJ-u� Ê“Ë                                                                         

∫r¹—Ë¬Åv� XÝœÅtÐ VOðdðÅs¹bÐ «— œułu� ÈU¼bO%3« ‰u� œ«bFð s¹«dÐUMÐ

  SiO2 : 50/ 5 ÷ 60/1=0/ 840

  
Al2O

3
:14 /1 ÷ 102 =0/138

  CaO :6 / 4 ÷ 56 /1=0/114

  MgO :0/ 4 ÷ 40/ 3 =0/009

  
Na2O :10/ 2 ÷ 62 =0/164



π∞

B2O3 :18 / 4 ÷ 69 / 6 =0/ 264

∫ÅrOM3Åv� rO%Ið U¼Å‰u� œ«bFð ŸuL−� tÐ «— ¡eł d¼ ‰u� œ«bFð ̈ v-u� bV—œ t³ÝU×� È«dÐ fáÝ

  0/ 840+0/138 +0/114 +0/009 +0/164 +0/ 264 =1/ 529

©ÅU¼Å‰u� œ«bFð ŸuL−�Å®

  SiO2 :0/ 840 ÷ 1/ 529 =0/ 5493

  Al2O3 :0/138 ÷ 1/ 529 =0/0902

  CaO :0/114 ÷ 1/ 529 =0/0745

  MgO :0/009 ÷ 1/ 529 =0/0058

  Na2O :0/164 ÷ 1/ 529 =0/1072

  B2O3 :0/ 264 ÷ 1/ 529 =0/1726

Å® tDÐ«— “« ÁœUH²Ý« UÐ ‰UŠ≤ÅÅÅ‡Å‡Å∏ ‰Ëbł —œ œułu�Å®  uý Å‡‡ sLKJM¹Ë V¹«d{ Ë ©Å±ÅÅ‡Å‡Å∏rO�«uðÅv� ̈ ©Å

ÆrOM3 t³ÝU×� «— vð—«dŠ ◊U%³�« V¹d{

          0/ 8788                   1/ 5334                   0/ 6928

  
106 ×

∆ L
L1 ∆ T

= (0/ 5493 ×1/ 60) + (0/0902×17 /0) + (0/0745 ×9 / 3) +

            0/00075                   2 / 2190                0/0396

  (0/0058 ×0/13) + (0/1072×20/ 7) + (0/1726 ×0/ 23)ÅÅÅÅ                   

  
⇒106 ×

∆ L
L1 ∆ T

= 5 / 36

∆ L
L1 ∆ T

= α ⇒ 106 × α = 5 / 36

  
⇒ α =

5 / 36

106
⇒ α = 5 / 36 ×10−6 (

1
K )

 ‰U¦�≤ ∫ Å® ‰Ëbł—œ vÐUF- eO�¬≥ÅÅÅ‡Å‡Å∏ÆXÝ« œułu�Å ©Å

 ‰Ëbł≥ÅÅ‡‡Å∏

bO�=« Ÿu�
  
SiO2  

Al2O3CaOMgO
  
Na2O

  
B2O3

v�“Ë bR—œµ≤±¥[±∂[¥∞[¥∏[∑±∏[¥



π±

ÆbOM3 t³ÝU×� «— »UF- s‡¹« vð—«dŠ ◊U%³�« V‡¹d{  uýÅ Ë ÅsLKJM¹Ë V¹«d{ “« ÁœUH²Ý« UÐ ‡‡ n-«

‰Ëb?ł —œ œu?łu?� »U?F?- v?ð—«d?Š ◊U?%³�« V¹d{ UÐ «— Áb�¬ XÝœÅtÐ vð—«dŠ ◊U%³�« V¹d{ ‡‡ »

Å®≤ÅÅÅ‡Å‡Å∏vð—«dŠ ◊U%³�« V¹d{ UÐ È«Åt�bÐ t3Åvð—uV —œ Æb¹dOÖÅv� È«Åt−O²� tÇ t%¹UI� s¹« “« ÆbOM3 t%¹UI� ©Å

  
5 / 45 ×10−6(

1
K )øœuÐ b¼«uš dðÅgOÐ »UF- ËœÅ s¹« “« p¹ÅÅÂ«b3 t²ÝuÄ ‰UL²Š« ¨bOýUÐ t²ý«œ 

Å∫qŠ

ÅÆrOM3Åv� t³ÝU×� «— ¡eł d¼ ‰u� œ«bFð «b²Ð« ¨q³Q ‰U¦� bM�UL¼ ‡‡ n-«

  SiO2 : 52 /0 ÷ 60/1=0/ 865

Al2O
3

:14 /1 ÷ 102 =0/138

CaO :6 / 4 ÷ 56 /1=0/114

  MgO :0/ 4 ÷ 40/ 3 =0/009

Na2O : 8 / 7 ÷ 62 =0/140

B2O3 :18 / 4 ÷ 69 / 6 =0/ 264

∫rOM3Åv� rO%Ið U¼Å‰u� œ«bFð ŸuL−� tÐ «— ¡eł d¼ ‰u� œ«bFð ̈ v-u� bV—œ t³ÝU×� È«dÐ fáÝ

  0/ 866 +0/138 +0/114 +0/009 +0/140+0/ 264 =1/ 531

SiO2 :0/ 865 ÷ 1/ 531=0/ 565

Al2O3 :0/138 ÷ 1/ 531=0/0901

  CaO :0/114 ÷ 1/ 531=0/0745

MgO :0/009 ÷ 1/ 531=0/0058

Na2O :0/140 ÷ 1/ 531=0/0915

  B2O3 :0/ 264 ÷ 1/ 531=0/1725

∫rOM3Åv� t³ÝU×� «— vð—«dŠ ◊U%³�« V¹d{ ‰UŠ

  
106 ×

∆ L
L∆ T

= (0/ 565 ×1/ 60) + (0/0901×17 /00) + (0/0745 ×9 / 3) +

        

   0/ 9040               1/ 5317                      0/ 6928

  (0/0058 ×0/13) + (0/0915 ×20/ 70) + (0/1725 ×0/ 23)Å ÅÅÅ                  

      
     0/0007                1/ 894                    0/0396

⇒106 ×
∆ L

L∆ T
= 5 /06



π≤

  

∆ L
L∆ T

= α ⇒ 106 × α = 5 /06

  
α = 5 /06 ×10−6 (

1
K )

ôË« t?3 r?¹uýÅv� tłu²� »UF- Ëœ Ås¹« vð—«dŠ ◊U%³�« V¹d{ t%¹UI� “« ‡‡ »Î◊U%³�« V¹d{ 

 ‰U¦� »UF- vð—«dŠ≤ ‰U?¦� »UF- “« dðÅr3 ±UO�UŁ Ë XÝ« Î bV—œ g¹«e
« 
  
SiO2b?V—œ g¼U3 È«“«ÅtÐ 

  
Na2Oö?³?Q t?â�¬ tÐ tłuð UÐ ÆXÝ« Ábý  «dOOGð s¹« Vłu� ¨Î‰U?L?²Š« t3 r¹dOÖÅv� t−O²� ¨bý t²HÖ 

 ‰U¦� »UF-  ÊbýÅt²ÝuÄ≤Å® ‰Ëbł —œ œułu� »UF- “« d²AOÐ ≤ÅÅ‡Å‡Å∏ÆXÝ« ©Å

s¹dLð

±Å® ‰Ëbł —œ vÐUF- eO�¬ ‡Å‡Å¥ÅÅÅ‡Å‡Å∏V¹d{  uýÅ Ë ÅsLKJM¹Ë V¹«d{ “« ÁœUH²Ý« UÐ ÆXÝ« œułu� ©Å

ÆbOM3 t³ÝU×� «— »UF- s¹« vð—«dŠ ◊U%³�«

≤d?�d?ð Ë g?OK~�« V¹«d{ “« ÁœUH²Ý« UÐ «— q³Q s¹dLð —œ »UF- eO�¬ vð—«dŠ ◊U%³�« V¹d{ ‡Å‡Å

øbOÝ—Åv� È«Åt−O²� tÇ tÐ t%¹UI� s¹« “« ÆbOM3 t³ÝU×�

≥Å® ‰Ëb?ł—œ v?ÐU?F- eO�¬ ‡Å‡ÅµÅÅÅ‡Å‡ÅÅ∏Ë  u?ýÅÅÅËÅÅÅÅs?L?K?J?M?¹Ë V?¹«d?{ “« ÁœU?H²Ý« UÐ ÆXÝ« œułu� ©Å

È«Åt−O²� tÇ tÐ tKVUŠ Z¹U²� t%¹UI� “« ÆbOM3 t³ÝU×� «— »UF- vð—«dŠ ◊U%³�« V¹«d{ d�dð Ë gOK~�«

s?¹d?L?ð »U?F?- eO�¬ Ë eO�¬ s¹« È«dÐ d�dð Ë gOK~�« V¹«d{ “« Áb�¬ XÝœÅtÐ t−O²� t%¹UI� “« øbOÝ—Åv�

Å® Á—ULý±È«dÐ  uýÅÅÅÅËÅÅÅÅsLKJM¹Ë V¹«d{ “« Áb�¬ XÝœÅtÐ t−O²� t%¹UI� “« øbOÝ—Åv� È«Åt−O²� tÇ tÐ ©Å

Å® s¹dLð »UF- eO�¬ Ë eO�¬ s¹«±“« ÁœUH²Ý«  —uV —œ t3 XHÖ Ê«uðÅv� U¹¬ øbOÝ—Åv� È«Åt−O²� tÇ tÐ ©Å

Å® ‰Ëbł —œ œułu� V¹«d{ “« p¹d¼±ÅÅÅ‡Å‡Å∏vð—«dŠ ◊U%³�« V¹«d{ Ê«uðÅv� ¨nK²Y� »UF- Ëœ È«dÐ ©Å

øœd3 t%¹UI� d~¹bJ¹ UÐ v³%� —uÞÅtÐ «— »UF- Ëœ Ê¬

 ‰Ëbł¥Å‡‡Å∏

bO�=« Ÿu�
  
SiO2  

Al2O3CaOBaO
  
Na2O

  
K2O

  
B2O3

v�“Ë bR—œ∂∞[∏∞∏[∞∞∑[∏∂≤[≥∏∂[±≤≤[∞±±≤[∏¥

 ‰ËbłµÅÅ‡‡ÅÅÅÅ∏

bO�=« Ÿu�
  
SiO2  

Al2O3CaO
  
Na2O

  
K2O

  
B2O3PbOZnO

v�“Ë bR—œ≥µ[πµ[∞‡‡≤[∑∞[≥µ[∞¥≥[µ∑[∂



π≥

rN� qB�

Ê¬ tÐ ◊uÐd�  U³ÝU×� Ë È«Åt�uKÖ »UOÝ¬

 ∫È—U²�— ÈU¼Å·b¼∫Åb�«u²Ð qB� s¹« ÊU¹UÄ “« fÄ ułÅdM¼ œË—Åv� —UE²�«

±ÆbM" t³ÝU×� «— qO�Å‰UÐ Ë qO�—Uł Ÿ«u�« r−Š ‡‡

≤pAš Ë dð g¹UÝ —œ qO�Å‰UÐ Ë qO�Å—Uł —œ ÈdOÖ—UÐ qÐU6 œ«u� r−Š X³8� ‡‡

ÆbM" ÊUOÐ «—

≥—œ tO9Ë« œ«u� ’uB;� Ê“Ë ÊœuÐ h;A� UÐ «— g¹UÝ qÐU6 tO9Ë« œ«u� Ê“Ë ‡‡

ÆbM" t³ÝU×� ¨qO�—Uł Ë qO�ÅÅÅ‰UÐ

¥ÆbM" t³ÝU×� «— qO�—Uł Ë qO�Å‰UÐ v�«d×Ð Ë VÝUM� XŽdÝ ‡‡

µh;A� t²O8�«œ tÐ ÊbOÝ— Ë »UžËœ t²O8�«œ g¼U" XNł«— Â“ô »¬ —«bI� ‡‡ÅÅ

Æb¹UL� t³ÝU×�

∂t²O8�«œ tÐ ÊbOÝ— Uð »UžËœ t²O8�«œ g¹«e�« XNł «— Â“ô tO9Ë« ÁœU� —«bI� ‡‡ÅÅ

ÆbM" t³ÝU×� h;A�

t�bI�

ÂU?� Êœd?"ÅÅÅ»ÅU?O?Ý¬ t?" r?O?Ý—Åv?� v?�U¹UÄ tKŠd� tÐ pO�«dÝ tO9Ë« œ«u� g¹«œdš tKŠd� t�«œ« —œ

XOL¼« UÐ —UO8Ð tKŠd� s¹« ÆœdOÖÅv�  —uP g¹UÝ Ë tÐd{ “« výU� —UA� dŁ« —œ Êœd" Å»UOÝ¬ Æœ—«œ

Á—«uL¼ Ë XÝ« t²8Ð«Ë `O×P Êœd"Å»UOÝ¬ Ë U¼ÅÊ¬ È—Ë¬d� tÐ tO9Ë« œ«u� XOHO" XHÖ Ê«uðÅv� Ë XÝ«

µ∞ôuLF� pO�«dÝ l¹UMP —œ ÆœuýÅv� Êœd"ÅÅÅÅ»ÅUOÝ¬ ·dP g¹«œdš tKŠd� —œ È˛d�« •ÎÊœd"Å»UOÝ¬ 

ôuLF� ÆœdOÖÅv�  —uP »UÝÅÅdð Ë »UÝÅpAš ‘Ë— Ëœ tÐÎÁUÖ—U" —œ v9Ë ¨qO�—Uł “« ÁU~A¹U�“¬ —œ 

ÆœuýÅv� t²�dÖ ÁdNÐ qO� ‰UÐ “« l¹UMP Ë

U¼ÅqO�ÅÅ‰UÐ Ë ìÅÅË ÁœdA� pO²ÝöÄ Ë X;Ý vMOÇ “« U¼ÅqO�Å—Uł vł—Uš Ë vKš«œ Á—«bł fMł

v?M?O?Ç “« Áb?ý t?²?šU?Ý ÈU?‡?¼d?‡ł¬ “« U‡¼ÅqO� ‰UÐ ©@MOM¹ô® v‡Kš«œ gýuÄ È«dÐ ÆbýUÐÅv‡� œôu‡�



π¥

ÆœuýÅv� ÁœUH²Ý« vJO²Ýô  UFD6 U¹ Ë XOðU²Ý« ¨UMO�u9¬ ¨X;Ý

t?" b?MýUÐÅv� VÝUM� vKš«œ gýuÄ È«—«œ Èœôu� t�«u²Ý« p¹ pO�«dÝ l¹UMP ÈU¼ÅqO�Å‰UÐ

œ«u?� Æœu?ýÅv?� ÁœU?H?²?Ý« nK²;� œUFÐ« —œ XOMOK� U¹ UMO�u9¬ ¨X;Ý vMOÇ fMł “« t9uKÖ U¼ÅÊ¬ ÊË—œ

výö²� U¼Åt9uKÖ ◊uIÝ Ë ÊbO²Kž ¨œuš Ê“Ë “« výU� —UA� dŁ«—œ qO�ÅÅ‰UÐ ÊbOšdÇ sOŠ —œ v�bO¹UÝ

¨X?Ý« Êœd?" »U?O?Ý¬ “« ·b?¼ t?"  «—– d?ðe?¹— Èb?MÐÅt�«œ t−O²�—œ Ë b�œdÖÅv� q¹b³ð dðe¹—  «—– tÐ Ë

ÆœuýÅv� qPUŠ

±‡‡πqO�Å‰UÐ Ë qO�Å—Uł r−Š sOOFð ‡‡

v?K?š«œ œU?F?Ð« s?²?ý«œ U?Ð X?Ý« t�«u²Ý« qO�Å‰UÐ Ë qO�—Uł vÝbM¼ qJý bý t²HÖ t"—uÞÅÊUL¼

«— r−Š Ê«uðÅv� Ê¬ vKš«œ ŸUHð—« Ë t�«u²Ý« ÁbŽU6 ̀ DÝ s²ý«œ UÐ ÆœuýÅv� t³ÝU×� Ê¬ r−Š t�«u²Ý«

V?F?J?�d?²?� U¹ Ë VFJ�d²�ÅvÝœ ¨VFJ�d²�Åv²�UÝ ¨d²O9 V8ŠdÐ Ê«uðÅv� «— r−Š bŠ«Ë Æœd" t³ÝU×�

ÆœuýÅv� ÁœUH²Ý« d¹“ tDÐ«— “« t�«u²Ý« p¹ r−Š t³ÝU×� È«dÐ Æœd" »U;²�« ìÅË

  V = π . r2.h

t�«u²Ý« r−Š V =

 qO�Å‰UÐ vKš«œ ÁbŽU6 ŸUFýr =

 qO�Å‰UÐ vKš«œ ŸUHð—«h =

 ‰U?¦�±∫® v?K?š«œ d?D?6 t?" È«Åt?�«u²Ý« r−Š d Ê¬ ©±≤∞∞v?K?š«œ ŸU?H?ð—« È«—«œ Ë d?²�ÅvKO� 

≤≤∞ÆbO¹UL� t³ÝU×� d²O9 Ë VFJ�d²� V8ŠdÐ «— býUÐÅv� d²�Åv²�UÝÅÅÅ

  h = 220 ÷ 100= 2 / 2m     
  d =1200 ÷ 1000=1/ 2m

r =
d
2

=
1/ 2

2
=0/ 6m

  V = π . r2.h = 3 /14× (0/ 6)2 ×2 / 2 = 2 / 48m3

  
2 / 48 ×1000= 2480l

 VFJ�d²� d¼ ÊuÇ±∞∞∞ ‰œUF� t�«u²Ý« r−Š fÄ býUÐÅv� d²O9 ≤¥∏∞ÆXÝ« d²O9 

 ‰U¦�≤∫® qO� ‰UÐ p¹ vł—Uš dD6 dÖ« DÅÅÅ©±±∞ vKš«œ gýuÄ X�U;{ ̈ d²�Åv²�UÝ µ¨d²�Åv²�UÝ 

 ÈeK� ‚—Ë t�bÐ X�U;{≤ qO�Å‰UÐ ©‰uÞ® ŸUHð—« d²�Åv²�UÝ ±µ∞©bOH�® vKš«œ r−Š ¨býUÐ d²�Åv²�UÝ 

øbO¹UL� t³ÝU×� d²O9 V8ŠdÐ «— qO�Å‰UÐ



πµ

ÆXÝ« “UO� Ê¬ vKš«œ dD� tÐ qO�Å‰UÐ vKš«œ r−Š t³ÝU×� È«dÐ

 d²�Åv²�UÝ  = D =110vł—Uš dD� 

 d²�Åv²�UÝ= d =110− [ ∗
2× (5 + 2) ] = 96vKš«œ dD� 

 d²�  =0/ 48 d²�Åv²�UÝ =
d
2

=
96

2
= 48vKš«œ ŸUFý 

 d²�  =1/ 5 d²�Åv²�UÝ   = H =150vł—Uš ŸUHð—« 

 d²�  =1/ 36 d²�Åv²�UÝ 

  
= h =150− **2× (5 + 2)[ ] =136vKš«œ ŸUHð—«

 d²O)  = 984 VFJ�d²�
    V = π . r2.h    V = 3 /14× (0/ 48)2 ×1/ 36 ~0/ 984

œ«u� tOK	ð dOý

œ«u� ÈdOÖ—UÐ ÈÅtâ¹—œ

È«Åt�uKÖ ÈU¼UOÝ¬ qš«œ ÈÅÁ—«bł 

UOÝ¬ qš«œ ÈÅÁ—«bł  

vł—Uš ÈÅÁ—«bł          

tO�Ë« œ«u�

È—«œdÐÅt uL  ÈÅt�u�  

—UA# X×ð È«u¼ t�u�    

UOÝ¬ ÈU¼Åt�uKÖ 

UOÝ¬ ÈU¼Åt�uKÖ 

¿
 ÅÅÅ

®œbŽ X0¹UÐÅv� œ—«œ œułË »UOÝ¬ ÈÅÁbŽU� ·dÞ Ëœ —œ @MOM¹ôË vł—Uš ÈÅÁ—«bł ÊuÇ ̈ qO�Å‰UÐ vKš«œ dD� ÈÅt³ÝU×� È«dÐ≤©

Æœuý »d{ @MOM¹ôË vł—Uš Á—«bł X�U@{ ŸuL−� —œ

 ¿ ¿ÆXÝ« ‚œUC eO� vKš«œ ŸUHð—« ÈÅt³ÝU×� —œ ôUÐ `O{uð 

vł—Uš Á—«bł X�U	{

@MOM¹ô X�U	{

D

d



π∂

≤‡‡πvÐUÝÅdð Ë vÐUÝÅpAš —œ qO�Å‰UÐ vL−Š ÈbMÐÅrO2Ið ‡‡

ôu?LF� »UÝÅpAš ‘Ë— —œÎ t?Ð qO�Å‰UÐ vKš«œ r−Š ≥ Æœu?ýÅv� rO0Ið ÈËU0� XL0� 

  

1

3

 Ë U¼Åt)uKÖ È«dÐ r−Š

  

1

3
 Ë tO)Ë« œ«u� È«dÐ r−Š 

  

1

3
Æb�U�Åv� v)Uš ÈUCQ ¨Áb�U�Åv�UÐ r−Š 

 tÐ qO�Å‰UÐ vKš«œ r−Š ¨vÐUÝ dð —œ¥ ÆœœdÖÅv� rO0Ið ÈËU0� XL0� 

  

1

4

r−Š ® •≤µÈ«dÐ ©ÅÅ

 ̈ »¬

  

1

4
 ̈ tO)Ë« œ«u� È«dÐ r−Š 

  

1

4
 Ë t)uKÖ È«dÐ r−Š 

  

1

4

◊uK@� ÊuÇ ÆXÝ« v)Uš ÈUCQ Áb�U� v�UÐ 

 fÄ b¼œÅv� qOJAð «— »UžËœ tO)Ë« œ«u� Ë »¬

  

1

2

ÆXÝ« »UžËœ qO� ‰UÐ r−Š 

 ‰U¦�≥∫ v?ÐUÝÅdð qO�Å‰UÐ bOH� r−Š µ∞∞• ÆbýUÐÅv� d²O) ≤µh@A� «— qO�Å‰UÐ bOH� r−Š 

ÆbO¹UL�

 d²O)500×
25

100
=125

 ‰U¦�¥∫ tZ vð—uC—œ 

  

1

3
 »UÝÅpAš qO�—Uł bOH� r−Š ≤qO�—Uł bOH� r−Š ¨býUÐ d²O) 

øXÝ« d²O) bMÇ

 d²O)        x = 2 ÷ 1
3

= 2× 3
1

= 6
ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ   

q?O?�Å‰U?Ð Ë qO�—Uł ©v)Uš ÈUCQ Ë t)uKÖ ¨tO)Ë« ÁœU� ¨»¬® t�UÖ—UNÇ v�“Ë tOLNÝ sOOFð È«dÐ

 tDÐ«— “« Ê«uðÅv� U¼ÅÊ¬ r−Š ÊœuÐÅh@A� UÐ »UÝdðρ =
m
V

 Ê¬ —œ tZ œdZ ÁœUH²Ý« m ̈ Âdł Vr−Š 

 ËρÆXÝ« ’uB@� Ê“Ë 

 ‰U¦�µ∫ »UÝ dðÅ qO�ÅÅ‰UÐ p¹ ©bOH�® vKš«œ r−Š ∂∞∞Ê“Ë UÐ »¬ v�“Ë —«bI� tÇ ÆbýUÐÅv� d²O) 

 ’uB@�± ’uB@� Ê“Ë sO~�UO� UÐ tO)Ë« œ«u� ̈ VFJ�d²�Åv²�UÝ dÐ ÂdÖ ≤[µ¨VFJ�d²�Åv²�UÝ dÐ ÂdÖ 

 ’uB@� Ê“Ë UÐ t)uKÖ≥øXÝ« “UO� œ—u� qO�Å‰UÐ s¹« ÈdOÖ—UÐ È«dÐ VFJ� d²�Åv²�UÝ dÐ ÂdÖ 

  
V =

600×25

100
=150 l =0/150m3

qO� ‰UÐ qš«œ §eł d¼ vL−Š ÈÅtOLNÝ

©qO�—Uł bOH� r−Š®



π∑

»¬ v�“Ë ÈÅtOLNÝ t³ÝU×�

 
  
ρ = 1×1000=1000kg m3

ÅÅ»¬ÅÅÅÅ  ρ = 1 g cm3 ⇒»¬ 

 

  
ρ = 1000 kg m3  ρ =

m
v

     1000=
m

0/15
⇒ m =150kg»¬ 

 t³ÝU×� ÈÅtOLNÝ∫t9uKÖ v�“Ë

t9uKÖ

  
ρ = 3000

kg
m3

⇒ 3000=
m

0/150
⇒ m =0/150× 3000= 450kgt9uKÖ 

∫tO9Ë«Åœ«u� ÈÅtOLNÝ t³ÝU×� 

 

  

ρ = 2500
kg
m3

⇒ 2500=
m

0/150
⇒ m =0/150×2500= 375kg

∫t²J�d?E?�—œ d?Ð«d?Ð r−Š tO9Ë« ÁœU� Ë »¬ È«dÐ  U³ÝU×� s¹« —œ ÊuÇ t" bOýUÐ t²ý«œ tłuð 

œ«u?� ’u?B?;?� Ê“Ë sO~�UO� ÊœdJ�ÅdOOGð  —uP —œ »UžËœ ’uB;� Ê“Ë fÄ XÝ« Ábý t²�dÖ

Æb�U� b¼«uš XÐUŁ Á—«uL¼ tO9Ë«

Ê“Ë ÊœuÐ ÂuKF� UÐ qO�Å—Uł Ë qO�Å‰UÐ —œ tO9Ë« œ«u� “« p¹ d¼ jÝuð ÁbýÅ‰UGý« r−Š bP—œ

r−Š “« ÈbP—œ Ë tO9Ë« œ«u� r−Š t³ÝU×� sOMâL¼ Æœd" t³ÝU×� Ê«uðÅv� «— tO9Ë« œ«u� “« p¹ d¼

‘Ë— UÐ v¹UMý¬ È«dÐ ÆbýUÐÅv� sJL� ¨XÝ« Ábý ‰UGý« tO9Ë« œ«u� “« p¹ÅÅÅd¼ jÝuð  t" qO�Å‰UÐ q"

ÆœuýÅv� Áœ—Ë¬ v9U¦� t³ÝU×�

 ‰U¦�∂∫  vÐUÝÅÅÅdð qO�Å‰UÐ tÐ Ábý ÁœËe�« tO9Ë« œ«u� Ê“Ë ¥µ∞kgÆbýUÐÅv� 

 pOJHð tÐ qO� ‰UÐ tÐ Ábý ÁœËe�« tO9Ë« œ«u� Ê“Ë dÖ«≤µ∞kg  e²O9œ“ sO9uzU" ±∞∞kgfOKOÝ 

 Ë Ê«b?L¼±∞∞kg q?O?�Å‰U?Ð q?" r−Š Ë ÁœuÐ v¹UGÇ  UáÝbK� ∑≤∞lÁb?ýÅ ‰U?Gý« r−Š bP—œ ¨býUÐ 

 tO9Ë« œ«u� ’uB;� Ê“Ë sO~�UO�® ÆbO¹UL� t³ÝU×� «— tO9Ë« ÁœU� “« p¹ d¼ jÝuð≤[µ  g cm3
©

tO9Ë« œ«u� q" r−Š  

  

ρ =
m
V ⇒ V =

m
ρ =

450000

2 / 5
=180000cm3 =180l

  
450kg ×1000= 450/000g



π∏

v9Uš ÈUC� Ë t9uKÖ ¨»¬ XNł qO� ‰UÐ Áb�U�Åv6UÐ r−Š bP—œ

  100− (13 / 9+ 5 / 6 + 5 / 6) =100−25 /1= 74 / 9- ≅ 75 -

≥‡‡πU¼ÅqO� ‰UÐ v�«—Ëœ XŽdÝ t³ÝU×� ‡‡

 »U?ÝÅÅÅdð qO�Å‰UÐ —œ VÝUM� v�«—Ëœ XŽdÝ  60- Uð   70-XŽdÝ ÆbýUÐÅv� Ê¬ v�«d×Ð XŽdÝ 

 t?DÐ«— “« v�«d×Ð

  

NC =
42

d
 Ê¬ —œ t" NC V?8ŠdÐ v�«d×Ð XŽdÝ rpm ËÅÅ©tIO6œ dÐ —Ëœ®  ddD6 

»UÝÅdð “« dðÅsOzUÄ »UÝ pAš qO�Å‰UÐ —œ VÝUM� v�«—Ëœ XŽdÝ ÆXÝ« d²� V8ŠdÐ qO�Å‰UÐ vKš«œ

 œËbŠ Ë∏∞Å • Uð•π∞ÆXÝ« v�«d×Ð XŽdÝ 

 ‰U?¦�∑∫ v?ł—U?š d?D?6 UÐ »UÝÅÅÅdð qO�Å‰UÐ v�«—Ëœ XŽdÝ ±µµ∞Á—«u?¹œ X?�U?;{ Ë d²�ÅvKO� 

 ©ÈeK� ÈÅÁ—«bł Ë @MOM¹ô X�U;{ ŸuL−�®≤∞∞VÝUM� v�«—Ëœ XŽdÝ® ÆbOM" t³ÝU×� «— d²�ÅvKO� 

 «—∂µÆ©b¹dO~Ð v�«d×Ð XŽdÝ bP—œ 

tO�Ë« œ«u� qJ r−Šœ«u� qJ Ê“Ë

  
180l

  
450kg

 e²O9œ“ sO9uzU" r−Š
  
x =100l  250

  
180l

  
450kg

Ê«bL¼ fOKOÝ r−Š 

  
y = 40l  100

  
180l

  
450kg

v¹UGÇ  UáÝbK� r−Š 

  
x = 40l  100

e²O9œ“ sO9uzU" r−Š tÐ qO�ÅÅ‰UÐ r−ŠLit

 

  
100l∑≤∞

• e²O9œ“ sO9uzU" r−Š bP—œ  Z =13 / 9  100

 Ê«bL¼ fOKOÝ r−Š
  
40l  720Lit

• Ê«bL¼ fOKOÝ r−Š bP—œ  x = 5 / 6  100

 v¹UGÇ  UáÝbK� r−Š
  
40l  720Lit

•  K = 5 / 6  100

v¹UGÇ  UáÝbK� r−Š bP—œ



ππ

 d²�ÅvKO�
  =1550− (200×2) =1150vKš«œ dD6

 d²�
  d =1150 ÷ 1000=1/15vKš«œ dD6 

NC = 42

1/15
= 42

1/072
= 39rpm

»UÝÅÅÅdð qO�Å‰UÐ È«dÐ VÝUM� v�«—Ëœ XŽdÝrpm  =
65

100
× 39 = 25ÅÅÅÅÅÅÅÅÅÅÅÅÅÅVÝUM� v�«—Ëœ XŽdÝ

 ‰U¦�∏∫ vKO� ‰UÐ v�«d×Ð XŽdÝ ¥∞rpm Ê¬ @MOM¹ô X�U;{ t" vð—uP—œ XÝ« ±µ∞d²�ÅvKO�Å

 ÈeK� ‚—Ë X�U;{ Ë±∞ V8ŠdÐ «— qO� ‰UÐ vł—Uš dD6 býUÐ d²�ÅvKO� mmÆbO¹UL� t³ÝU×� 

  
40=

42

d
⇒ d =

42

40
=1/05 ⇒ d =1/052

 qO� ‰UÐ vKš«œ dD6  d =1/1m =1100mm

 qO�Å ‰UÐ vł—Uš dD6  1100+2×150+2×10=1420mm

¥‡‡π»UžËœ t²OB�«œ `O×Bð XNł Â“ô »¬ —«bI� sOOFð ‡‡

d?²?O?9 Ê“Ë U?Ð vÐUžËœ ¨Ê¬ tÐ tO9Ë« œ«u� U¹ »¬ ÊœËe�« UÐ Ê«uðÅv� »UžËœ d²O9 Ê“Ë ÊœuÐÅÂuKF� UÐ

ÆXšUÝ dðÅgOÐ U¹ dðÅr"

DÐ«— t

  

m = ρ 1

ρ 1 − ρ 2

(Lg − V)∫Ê¬ —œ t" œË—Åv� —U"ÅtÐ —uEM� s¹« È«dÐ 

  
ρ 1

 tÐ »UžËœ —œ œułu� tO9Ë« œ«u� ’uB;� Ê“Ë sO~�UO� ∫
  
g cm3

  
ρ 2

 tÐ »UžËœ —œ œułu� l¹U� ’uB;� Ê“Ë ∫
  
g cm3

Lg r−Š UÐ »UžËœ Ê“Ë ∫VÂdÖ V8ŠdÐ 

V r−Š ∫Lg V8ŠdÐ »UžËœ ÂdÖ 
  cm3

m —œ œułu� pAš ÁœU� —«bI� ∫LgÂdÖ V8ŠdÐ »UžËœ ÂdÖ 

 ‰U¦�π∫ ’uB;� Ê“Ë UÐ vÐUžËœ s²šUÝ È«dÐ »¬ —«bI� tÇ ±[∂µ
  
g cm3

ÊœËe�« XNł 

 tÐ≤∞∞∞ ’uB;� Ê“Ë UÐ pAš »UF9 ÂdÖ ≤[∏
  
g cm3

øXÝ« Â“ô 

 VOðdðÅtÐ «— Â“ô »¬ r−Š Ë Ê“Ë t"Åvð—uP—œx Ë y∫rO8¹uMÐ rO�«uðÅv� ¨rOM" ÷d� 

                                         
»UžËœ eO�¬  È«eł« Âdł ŸuL−�

    =
                                            

»UžËœ v9U~Ç 

                                         
»UžËœ eO�¬ È«eł« r−Š ŸuL−�



±∞∞

  
=

2000

2 / 8
= 714 / 2cm3

»UžËœ eO�¬ r−Š 

  
1/ 65 =

2000+ x
714 / 2+ y

 »¬ v9U~Ç ÊuÇ±È«dÐ fÄ ÆbýUÐÅv� vJ¹ ÈœbŽ dE� “« Ê¬ r−Š Ë Ê“Ë r¹dOÖÅv� t−O²� XÝ« 

∫r¹—«œ “UO� œ—u� »¬ r−Š sOOFð

 

  

1/ 65 =
2000+ y

714 / 2+ y

“UO� œ—u� »¬ r−Š
  
y =1264  cm3

 ‰U¦�±∞∫ tÐ b¹UÐ t"  vKJ9« —«bI� ±∞∞∞g’uB;� Ê“Ë Uð œuý ÁœËe�« bMKðdÄ ÊULOÝ —œuÄ 

 »UžËœ±∑µ∞ g lÂU?~?M?¼ —œ »¬ UÐ bMKðdÄ ÊULOÝ  Èd¹cÄÅgM"«Ë qO9œ tÐÅ® ÆbO¹UL� t³ÝU×� «— ¨œœdÖ 

©œuýÅv� t�U{« qJ9« Ê¬ tÐ ’uB;� Ê“Ë ÈdOÖÅÁ“«b�«Æ

  =0/ 8g cm3
qJ9«

ρ

  = 3 / 3g cm3
bMKðdÄ ÊULOÝ

ρ

  

m = ρ 1

ρ 1 − ρ 2

(Lg − V)

 ÊULOÝ —œuÄ

  
m =

3 / 3

3 / 3 −0/ 8
(1750−1000) =

3 / 3

2 / 5
× 750= 990g

 »UžËœ d²O9 p¹ —œ œułu� qJ9«  1750−990= 760

ÊULOÝ —œuÄ             qJ9« 

  990g

  x = 767 / 67g  1000

 tÐ ÊœËe�« È«dÐ Â“ô qJ9« —«bI�  1000gÊULOÝ —œuÄ 

ρ 2 =
m
V =

767 / 67

V =0/ 8

  
V =

767 / 67

0/ 8
= 959 / 6cm3

 tÐ ÊœËe�« È«dÐ “UO� œ—u� qJ9« r−Š s¹«dÐUMÐ±∞∞∞tÐ ÊbOÝ— XNł bMKðdÄ ÊULOÝ —œuÄ ÂdÖ 

 Èd²O9 Ê“Ë±∑µ∞ gr Lit UÐ dÐ«dÐÅπµπ[∂ÆXÝ« VFJ�d²�Åv²�UÝ 

  760g



±∞±

s¹dLð

± v?ł—U?š d?D?6 qO� ‰UÐ p¹ —œ dÖ« ‡‡≥¥∞∞—œ Áb?ý t?²?�d?Ö —U?"Åt?Ð d?ł¬ X�U;{ ¨d²�ÅvKO� 

 v?K?š«œ gýuÄ≤∞ q?O?�Å‰U?Ð v?�Ëd?O?Ð ÅŸU?Hð—« ¨d²�Åv²�UÝ µ[±∞v?ł—U?š Èe?K?� —«b?ł X�U;{ Ë d²� 

≤∞ÆbOM" »U8Š d²O9 Ë VFJ�d²� V8ŠdÐ «— qO�Å‰UÐ s¹« bOH� r−Š ÆbýUÐ d²�ÅvKO�ÅÅ

≤ q" r−Š UÐ X;Ý vMOÇ fMł “« vKO� —Uł ‡‡µŸUHð—« dÖ« XÝ« dE� œ—u� ©bOH�dOž® d²O9 

 Ê¬∂∞ ‘«ÅÁ—«u¹œ X�U;{ Ë d²�Åv²�UÝ ≤∞Æb¹—Ë¬ XÝœÅtÐ «—ÅÊ¬ vKš«œ dD6 býUÐ d²�ÅvKO� 

≥ ‡‡±µq?O� ‰UÐ p¹ vKš«œ r−Š •∞∞Å,∞Åµ∞∞«— q?O�Å ‰UÐ vKš«œ r−Š XÝ« VFJ�d²�ÅvKO� 

ÆbOM" »U8Š

¥b?O?H?� r?−?Š UÐ v¼U~A¹U�“¬ qO�Å‰UÐ p¹ ÈdOÖ—UÐ È«dÐ t9uKÖ Ë tO9Ë« œ«u� ¨»¬ —«bI� tÇ ‡‡

≥∞∞ t?O?9Ë« œ«u� ’uB;� Ê“Ë sO~�UO� t"Åvð—uP—œ XÝ« Â“ô d²O9ÅÅÅÅ≤[µ¨V?F?J�d²�Åv²�UÝ dÐ ÂdÖ 

 t9uKÖ≤[∏ »¬ Ë VFJ�d²�Åv²�UÝ dÐ ÂdÖ ± v?L−Š X³8�® býUÐ VFJ�d²�Åv²�UÝ dÐ ÂdÖ ≤µÅ  -X¹UŽ— 

Æ©œœdÖ

µXÝœÅtÐ ◊uK;� —œ «—©d²O9 V8ŠdÐ® tO9Ë« œ«u� “« p¹ d¼ jÝuð ÁbýÅ‰UGý« r−Š —«bI� ‡‡ÅÅ

 v¹UGÇ  UáÝbK� ∫“« bMð—U³Ž tO9Ë« œ«u� v�“Ë —«bI� dÖ« b¹—Ë¬∂≤[µ Ê«bL¼ fOKOÝ ¨ÂdÖuKO" µ∞∞∞

 t²8ý “u�“ Ë ÂdÖ±¥∞ qO� ‰UÐ q" r−Š dÖ« ÆÂdÖuKO" ≥∞∞—«bI� tÇ bO¼œ ÊUA� t³ÝU×� UÐ býUÐ d²O9 

 Uð œuý ÁœËe�« qO� ‰UÐ tÐ b¹UÐ »¬µ∞Å  - œœdÖ ‰UGý« »UžËœ jÝuð qO� ‰UÐ bOH� r−Š ®Ê“Ë sO~�UO�

 tO9Ë« œ«u� ’uB;�
  
g cm3

≤[µÆ©œuý t²�dÖ dE� —œ 

∂ V?8?ŠdÐ v�«d×Ð XŽdÝ ‡‡ÅÅrpmv?ł—U?š d?D?6 U?Ð vÐUÝÅÅÅdð qO�Å‰UÐ p¹ È«dÐ ©tIO6œ dÐ —Ëœ® 

±≤∞∞ vJO²Ýô Á—«bł t�dÞ p¹ X�U;{ Ë d²�ÅvKO� ∑∞ qO� ‰UÐ ÈeK� ‚—Ë X�U;{ Ë d²�ÅvKO� ±[µ

ÆbOM" »U8Š «— d²�Åv²�UÝ

∑ tÐ ÊœËe�« È«dÐ “UO� œ—u� »¬ —«bI� ‡‡±∞,∞∞∞ ’uB;� Ê“Ë UÐ pAš t�bÐ —œuÄ ÂdÖ ≤[∑

 d?²O9 Ê“Ë tÐ ÊbOÝ— XNł VFJ�d²�Åv²�UÝ dÐ ÂdÖg Lit±∏µ∞Ê“Ë® b¹—Ë¬ XÝœÅtÐ d²O9 V8ŠdÐ «— 

 »¬ ’uB;�±
  
g cm3

Æ©œuý t²�dÖ dE� —œ 



±∞≤

® tLOL{ ‰Ëbł±tO�Ë« œ«u� —œ œułu� ÈU¼bOBJ« Ë U¼Å‰«dMO� v�uJ�u� ‰u�d� ‡‡ ©

® v�uJ�u� Ê“Ë     g©v�uJ�u� ‰u�d�ÁœU� ÂU�      

Albite (soda spar) Na2O.Al2O3.6SiO2 524.6
Alumina Al2O3 102
Anatase (see titania)
Andalusite Al2SiO5 162.1
Anhydrite CaSO4 136.2
Anorthite CaO.Al2O3.2SiO2 278.3
Antimony oxide Sb2O3 291.6
Aragonite (see calcium carbonate)
Arsenious oxide As2O3 197.8
Barium carbonate BaCO3 197.3
Barium chloride BaCl2 .2H2O 244.3
Barium chromate BaCrO4 253.3
Barium hydroxide Ba(OH)2 .8H2O 315.3
Barium oxide BaO 153.3
Barium sulfate (barite) BaSO4 233.4
Bismuth oxide Bi2O3 466.0
Bone ash 13CaO.4P2O5.CO2 (approx) 1341.3
Borax Na2B4O7 .10H2O 381.2
Boric acid H3BO3 61.8
Boric oxide B2O3 69.6
Calcite (see calcium carbonate)
Calcium borate (colemanite) Ca(BO2 )2 .2H2O 161.7
Calcium carbonate (whiting) CaCO3 100.1
Calcium chloride CaCl2 .6H2O 219.1
Calcium chloride (anhydrous) CaCl2 111.1
Calcium fluoride (fluorspar) CaF2 78.1
Calcium hydroxide Ca(OH)2 74.1
Calcium orthophosphate Ca3 (PO4 )2 310.3
Calcium oxide (lime) CaO 56.1
Calcium sulfate (gypsum) CaSO4 .2H2O 172.2
Carbon dioxide CO2 44.0
Chromium oxide Cr2O3 152.0
Clay (kaolinite, china clay) Al2Si2O5 (OH)4 258.2
Cobaltic chloride CoCl3 165.4
Cobalt (II, III) oxide Co3O4 240.7
Cobalt (III) oxide Co2O3 165.8
Cobaltous carbonate CoCO3 118.9
Cobaltous chloride CoCl2 .6H2O 237.9
Cobaltous nitrate Co(NO3 )2 .6H2O 290.9
Cobaltous oxide CoO 74.9
Cobaltous phosphate CO3 (PO4 )2 .3H2O 420.7
Cordierite Mg2Al4Si5O18 585.1
Corundum (see alumina)
Cryolite Na3AlF6 210
Cupric carbonate (basic) CuCO3.Cu(OH)2 221
Cupric chloride CuCl2 .2H2O 170.5
Cupric hydroxide Cu(OH)2 97.5



±∞≥

® tLOL{ ‰Ëbł±tO�Ë« œ«u� —œ œułu� ÈU¼bOBJ« Ë U¼Å‰«dMO� v�uJ�u� ‰u�d� ‡‡ ©

® v�uJ�u� Ê“Ë        g©v�uJ�u� ‰u�d�ÁœU� ÂU�      

Cupric nitrate Cu(NO3 )2 .6H2O 295.5
Cupric oxide CuO 79.5
Cupric sulfate CuSO4 .5H2O 249.6
Cuprous chloride CuCl 99.0
Cuprous hydroxide Cu(OH) 80.5
Cuprous oxide Cu2O 143
Cuprous sulfate Cu2SO4 .H2O 241.1
Diopside CaSiO3.MgSiO3 216.6
Dolomite CaCO3.MgCO3 184.4
Feldspar (see albite. anorthite. orthoclase)
Ferric chloride FeCl3 162.3
Ferric hydroxide Fe(OH)3 106.8
Ferric oxide (hematite) Fe2O3 159.6
Ferric sulfate Fe2 (SO4 )3 .9H2O 561.9
Ferro -terric oxide (magnetite) Fe3O4 231.4
Ferrous carbonate (siderite) FeCO3 115.8
Ferrous oxide (wustite) FeO 71.8
Ferrous sulfate FeSO4 .7H2O 277.9
Ferrous sulfit FeS 87.9
Flint (see silica)
Gypsum (see Calcium sulfate)
Ilmenite FeTiO3 151.7
Kaolinite (see clay)
Kyanite

  
Al2SiO3 130.1

Lead borate
  
Pb(BO2 )2.H2O 310.8

Lead carbonate PbCO3 267.2
Lead carbonate basic (white lead) 2PbCO3.Pb(OH)2 775.6
Lead chloride PbCl2 278.2
Lead dioxide PbO2 239.2
Lead oxide (litharge) PbO 223.2
Lead oxide (red lead) Pb3O4 685.6
Lithium carbonate Li2CO3 73.8
Magnesium carbonate (magnesite) MgCO3 84.3
Magnesium chloride MgCl2 .6H2O 203.3
Magnesium oxide MgO 40.3
    (magnesia, periclase)
Manganese dioxide MnO2 86.9
Manganous carbonate MnCO3 114.9
Manganous oxide MnO 70.9
Microcline (see orthoclase)
Mullite Al6Si2O13 426.2
Nickel chloride NiCl2 129.7
Nickel oxide NiO 74.7
Niter (saltpeter)(see potassium nitrate)
Orthoclase (potash spar) K2O.Al2O3.6SiO2 556.8
Potash spar (see orthoclase)
Potassium carbonate K2CO3 138.2



±∞¥

® tLOL{ ‰Ëbł±tO�Ë« œ«u� —œ œułu� ÈU¼bOBJ« Ë U¼Å‰«dMO� v�uJ�u� ‰u�d� ‡‡ ©

  ® v�uJ�u� Ê“Ë     g©v�uJ�u� ‰u�d�ÁœU� ÂU�      

74.5KClPotassium chloride
194.2K2CrO4Potassium chromate
294.2K2Cr2O7Potassium dichromate
422.2K4Fe(CN)6 .3H2OPotassium ferrocyanide
56.1KOHPotassium hydroxide

796.8K2O.3Al2O3.6SiO2 .2H2OPotassium mica
101.1KNO3Potassium nitrate (niter)
94.2K2OPotassium oxide (potash)

158.1KMnO4Potassium permanganate
360.4Al2Si4O10 (OH)2Pyrophyllite

Quartz (sce silica)
60.1SiO2Silica (quartz, flint)
78.1H2SiO3Silicic acid

162.1Al2SiO3Sillimanite
Soda ash (see sodium
     carbonate)
Soda spar (see albite)

84.0NaHCO3Sodium bicarbonate
106.0Na2CO3Sodium carbonate

    (anhydrous)
286Na2CO3.10H2OSodium carbonate (hydrated)

    (soda ash)
58.4NaClSodium chloride (salt)
342Na2CrO4 .10H2OSodium chromate

298.0Na2Cr2O7 .2H2OSodium dichromate
40.0NaOHSodium hydroxide (caustic, lye)

764.6Na2O.3Al2O3.6SiO2 .2H2OSodium mica
85.0NaNO3Sodium nitrate (soda niter)
62.0Na2OSodium oxide (soda)

variable Na2O:SiO2ratiosSodium silicate
322Na2SO4 .10H2OSodium sulfate (salt cake)

142.3MgAl2O4Spinel
147.6SrCO3Strontium carbonate
103.6SrOStrontium oxide
64.1SO2Sulfur dioxide
80.1SO3Sulfur trioxide

379.3Mg3Si4O10 (OH)2Talc
260.3SnCl4Tin chloride (stannic)
189.5SnCl2Tin chloride (stannous)
150.7SnO2Tin oxide (stannic)
134.7SnOTin oxide (stannous)
79.9TiO2Titania (rutile, anatase)

270.0UO2Uranium dioxide
842.0U3O8Uranium oxide
286.0UO3Uranium trioxide
116.2CaSiO3Wollastonite
125.4ZnCO3Zinc carbonate
81.4ZnOZinc oxide

287.5ZnSO4 .7H2OZinc sulfate
123.0ZrO2Zirconia
183.1ZrSiO4Zirconium silicate (zircon)
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ÅÅÅ±∞∂

výU� UMOÝ tK−� ∫lłd� ¿

U¼Å”UOI� q¹b³ð
¿

v�“Ë ‡‡ vL−Š ‡‡ v×DÝ ‡‡ v�uÞ

±ÂdÖ uKO� ±∞∞∞ÂdÖ ±VFJ� d²� ±[≥∞∏VFJ� œ—U¹ 

±e¹d³ð s� ≥ÂdÖuKO� ±VFJ� œ—U¹ ∞[∑∂¥VFJ� d²� 

±vÝË— œuÄ  ±∂[≥∏∞ÂdÖuKO� ±VFJ� œ—U¹ ∞[∏≥∂lÐd� d²� 

±ÂdÖuKO� ∞[∞∂±vÝË— —œuÄ ±œ—U¹ π±[¥¥d²�Åv²-UÝ 

±È— ¥e¹d³ð s� ±lÐd� d²� ±[±π∂lÐd� œ—U¹ 

±È— ±≤ÂdÖuKO� ±lÐd� d²� ±∞[∑∂¥lÐd�  u1 

±—«Ëdš ≥∞∞ÂdÖuKO� lÐd�  u1∞[∞π≥lÐd� d²� 

±sð ±∞∞∞ÂdÖuKO� ±d�« ∞[¥∞¥—U²J¼ 

±—«Ëdš ±∞∞e¹d³ð s� ÅÅ±d²�uKO� ∞[∂≤±q¹U� 

±„—UÇ ±∂∞‰UI¦� ±—U²J¼ ≤[¥∑±d�« 

±‰UI¦� ¥[∂∏∑µÂdÖ ±q¹U� ±[∂∞πd²�uKO� 

±dOÝ  ±∂‰UI¦� ±q¹U�  ±∂∞π[≥d²� 

±œu<- ∞[±πµ≥ÂdÖ ±lÐd� d²�Åv²-UÝ ∞[±µµlÐd� êM¹« 

±b-UÄ ∞[¥µ≥ÂdÖuKO� ±lÐd� êM¹« ∂[¥µ≤lÐd� d²�Åv²-UÝ 

±e¹d³ð s� ∂¥∞‰UI¦� ±d²�ÅvKO� ∞[∞≥πêM¹« 

±„—UÇ ±∞dOÝ ±êM¹« ≤µ[¥∞∞d²�ÅvKO� 

±„—UÇ ∑µ∞ÂdÖ ±êM¹« ≤[µ¥d²�Åv²-UÝ 

±f-Ë« ≤∏[≥µ∞ÂdÖ ±d²� ±[∞π≥œ—U¹ 

±ÂdÖ ∞[∞≥µf-Ë« ±œ—U¹ ∞[π±¥d²� 

±ÂdÖuKO� ≤[≤∞≤b-UÄ ±d²�Åv²-UÝ ∞[≥π≥êM¹« 

±dOÝ ∑µÂdÖ ±d²O@ ±[∑µπ∏XMOÄ 

±ÂbMÖ ∞[∞¥∏∏ÂdÖ ±XMOÄ ∞[µ∂∏d²O@ 

±—«Ëdš ¥∂∞∞∞‰UI¦� ±s@UÖ ¥[µ¥∂d²O@ 

±È— ≤µ∂∞‰UI¦� ±‰U¹dá�« s@UÖ ¥[µ¥π≤d²O@ 

±‰UI¦� ≤¥œu<- ±—U²J¼ ≤[¥∑±V¹dł 

±œu<- ¥ÂbMÖ ±V¹dł ∞[¥∞µ—U²J¼ 

±b-UÄ ¥µ≥[µπÂdÖ ±lÐd� œ—U¹ ∏≥∂∞lÐd� d²�Åv²-UÝ 

±lÐd� q¹U� ≤[µπ∞lÐd� d²�uKO� ±—U²J¼ ∞[∞±lÐd� d²�uKO� 

±lÐd� d²�ÅuKO� ∞[≥∏∂lÐd� q¹U� ±v¹U¹—œ q¹U� ∂∞∏∞ u1 

±VFJ� d²� ≥µ[≥±µVFJ�  u1 ±v¹U¹—œ q¹U� ±[µ±µ≤q¹U� 

±VFJ�  u1 ∞[∞≤∏≥VFJ�d²� ± u1 ±≤êM¹« 



ÅÅ±∞∑

t�U�ÅÁ˛«Ë

g¹UÝAbrasion

©p¹bÝ  UáÝbK1® XO³@¬Albite

qJ@«Alcohol

v¹UOKH ÈU¼bOI�«Alkaline oxides

©bOI�« rOMO�u@¬® UMO�u@¬Alumina

—«bI�Amount

©pOIK�  UáÝbK1® XOð—u-¬Anorthite

Èd¼Uþ ©v@U~Ç® t²OI-«œApparent density

`DÝArea

vK� ‰UÐBall clay

©êÐ® eO�¬Batch

XO-u²MÐBentonite

f�«—uÐBorax

K� ©v@U~Ç® t²OI-«œÒvBulk density

t³ÝU×�Calculation

fO@u�Caliper

ÊULOÝCement

pO�«dÝ l¹UMSCeramic industries

ÈdOÖ—UÐCharging

v¹UOLOý eO@U-¬Chemical analysis

©sO@uzU�® vMOÇ „UšChina clay

v-«d×Ð XŽdÝCiritical velocity

X@U³�Cobalte



ÅÅÅ±∞∏

V¹d{Coefficient

tI¹UI�Comparison

¡ełComponent

ÐÔbFDimension

XO�u@ËœDolomite

s�ÅpAšDryer

pAš ÷U³I-«Drying shrinkage

tFDH pAš ‰uÞDry length of test piece

dÐ«dÐ ¨ÈËUI�Equal

◊UI³-«Expansion

vł—Uš dDHExternal diameter

vł—Uš ©ÈÅt¹ô® Á—«błExternal lining

V¹d{Factor

 UáÝbK1Feldspar

X<Ä ÷U³I-«Firing shrinkage

XšuÝFluid

tAOýGlass

b� t-«u²Ý«ÒÃ—Graduated cylinder

 —«dŠHeat

ŸUHð—«Height

È—ËÅtÞužImmersion

tÐd{Impact

vKš«œ dDHInternal diameter

vKš«œ ©ÈÅt¹ô® Á—«błInternal lining

qO�—UłJar mill

‰uÞLength

Á—«błLining

d²O@Litre

vð—«dŠ X1«Loss on  ignition

ÈdOÖÅÁ“«b-«Measurment

d²�Meter



ÅÅ±∞π

UJO�Mica

v-U� ¨‰«dMO�Mineral

v@«dMO� eO@U-¬Mineral analysis

◊uK<�Mixture

XÐuÞ—Moisture

»¬ bS—œ ¨XÐuÞ— —«bI�Moisture content

v@uJ@u� ‰u�d1Molecular formula

v@uJ@u� Ê“ËMolecular weight

U¼bŠ«Ë ·UF{«Multiples of units

tMONÐOptimal

©pOÝU²Ä  UáÝbK1® “ö�uð—«Orthoclase

bS—œPercent

vâÖ V@UHPlaster mould

vMOÇPorcelain

b-uAOÄPrefix

—UA1Pressure

tO@Ë« Ê“ËPrimary weight

d²�uMJOÄPycnometer

OL�ÒXQuantity

X³I-Ratio

Èd¹cÄÅgM�«ËReactivity

qOD²I�Rectangle

v³I- v@U~ÇRelative density

v-«—Ëœ XŽdÝRotation velocity

g�ÅjšRuler

t¹u-UŁ Ê“ËSecondery weight

dÖ“ ‰u�d1Seger formula

fOKOÝSilica

»UžËœ Êe<�Slip tank

r¹bÝ  UMÐd�Sodium carbonate (soda ash.)

b�Uł œ«u�Solid materials



ÅÅÅ±±∞

�ÔÁdSphere

lÐd�Square

Èœôu1 ‚—ËSteel sheet

U¼bŠ«Ë ¡«eł«Submultiples of units

b-uIÄSuffix

r²IOÝSystem

p@UðTalc

q� ÷U³I-«Total shrinkage

YK¦�Triangle

vIOIŠ v@U~ÇTrue density

bŠ«ËUnit

bOH� ÈUC1Useful space

dOOGðVariation

r−ŠVolume

Á˛Ë˛ s@UÐVolumetric flask

»UžËœ d²O@ Ê“ËWeight of a litre of slip

tFDH Ê“ËWeight of test piece

v-“Ë bS—œWeight percent

tFDH dð ‰uÞWet  length of test piece

÷dŽWidth

fJ¹« tFý« ‘«dÄX ray diffraction (XRD)



ÅÅ±±±

»U²" ÈU¼ÅqB% dš¬  UM¹dLð »«uł

‰Ë« qB%

U¼Ås¹dLð »«uł

± n@« ‡‡ 

  

4

3
r  ‡‡ »  

  

2r
1+ r

≤ ‡‡Å  a = 2 π3 × r

≥ ‡‡Å  2000 mm Ë 
  
2,000,000 µ m

¥ ‡‡Å  7 / 536 ×10
8mm3

 Ë   7 / 536 ×10
−1m3

µ ‡‡Å  1420/ 25  cm2

ÂËœ qB%

U¼Ås¹dLð »«uł

± ‡‡Å
  
39 / 8kgÅ• Ë ∞[µ

≤•  ‡‡ n@« ‡‡Å∑∂‡‡ »    ≥[±∂∂

≥‡‡Å

ÁœU� ÂU�bO0"« »dÝf"«—uÐfOKOÝ©“ö"uð—«® pOÝU²Ä  UáÝbK%      

v-“Ë •µ∑[±¥±¥[≤π≤±[¥≥              ∑[±¥

¥• ‡‡Å∞[¥∑

µ‡‡Å  37 /08g

∂ÆXÝ« d²AOÐ »  »UF@  UJOKOÝ »dÝÅ‡‡Å

ÁœU� Ÿu�           UJOKOÝ »dÝvðUJOKOÝË—uÐÅÅX¹d%  fOKOÝsO�uzU"

n@« »UF@ v-“Ë bS—œ±π[¥¥µ≤[≥∑±¥[∏π±≥[≥

» »UF@ v-“Ë bS—œ≤±[±π∂∂[∏¥∑[∞¥¥[π≤

∑• ‡‡Å∑¥[≤±



ÅÅÅ±±≤

ÂuÝ qB%

U¼Ås¹dLð »«uł

±• ‡‡ n@« ‡‡Å¥SD =

• ‡‡ »π[≥∑SF =

• ‡‡ Ã±≥St =

≤ ‡‡ n@« ‡‡Å
  
LW =10/ 65cm

 ‡‡ »
  
LD =10/05cm

• ‡‡ Ã  St =13 / 61

≥ ‡‡ n@« ‡‡Å  mm3
ÅÅ±µ∞[∞≤¥

 »

  

a = 3 / 9mm
b = 3 / 53mm
c = 8 / 7mm







Â—UNÇ qB%

U¼Ås¹dLð »«uł

± tAOý v@U~Ç ‡‡Å
  
2 / 48gr cm3

 ÂuOMO�u@¬ bOI�« r−Š          22 / 48cm3

 sO1«—UÄ v@U~Ç
  
0/ 784gr cm3

 »¬ ÂdłÅ    ¥∞∞∞gr

 sO@uzU� ÂdłgrÅ±µ∂

 œôu1 r−Š  1/ 29×10_4m3

≤‡‡Å

 ‡‡ n@«µ[∞∂

 ‡‡ »≤[∏≥

 ‡‡ Ã≤[π

 ‡‡ œ≤[µ

≥ ‡‡Å  0/ 25cm3

¥ ‡‡Å  106 / 81cm3



ÅÅ±±≥

µ• ‡‡Å≥≤[±≤

∂ ‡‡Å
  
1/ 48gr cm3

∑• ‡‡Å±≤[¥

∏ ‡‡Å
  
1/16gr cm3

π ‡‡Å  36 / 6cm3

r−MÄ qB%

U¼Ås¹dLð »«uł

±‡‡Å

≤‡‡Å

≥‡‡Å

bO0"« ÂU�
  
SiO2  

Al2O3CaO

XOð—u-¬ ‰«dMO�ÅÅÅÅÅÅÅ¥≥[±π≥∂[∂µ≤∞[±∂

U¼bO0"«           

  
SiO2  

Al2O3MgO
  
Na2OCaO

  
CO2  

H2O
ÁœU� Ÿu�

 tO@Ë« ÁœU�       A¥∑[≥∂≥±[∑≤[±∏∞[∂π≥[∞¥
¥[∑∑±∞[≤∏

 vð—«dŠ  dÄ±µ[∞µ

U¼bO0"«           

  
SiO2  

Al2O3  
K2OCaO

  
CO2  

H2O
ÁœU� Ÿu�

 tO@Ë« ÁœU�      Bµ∂[∑∞≤∑[µ∞±[∑≤[∏
≤[≤π[±

 vð—«dŠ  dÄ±±[≥

ÁœU� Ÿu� Å UáÝbK%vð—«dŠ X%«

©‰«dMO�®Å sO�uzU"pOÝU²Äeð—«u"
  
TiO2  

Fe2O3MgOCaO(L.O.I)lLł

©“ö"uð—«®

v-“Ë bS—œ¥∂[∂∂[µ¥≤[¥≤±[≥∞[≤∞[≤∞[∏±∞∞



ÅÅÅ±±¥

UJO� ´sO�uzU" UáÝbK%eð—«u"lLł

        µ≥[≥±∞≥∂[∑±∞∞

tO�Ë« ÁœU�UJO� ´ sO�uzU" UáÝbK%eð—«u"lLł

          A≥∂[≥±π[∏¥≥[π±∞∞

   ÅÅÅÅ   B‡‡∏µ±µ±∞∞

 ÅÅÅÅ ÅÅÅÅ   C±¥µ∞[µ≥µ[µ±∞∞

sO�uzU"    UáÝbK%eð—«u"lLł

   ¥µ[±π±∞[π≥¥≥[∏∏±∞∞

ÁœU� Ÿu�ÅÅÅÅÅÅÅÅÅÅ UáÝbK% UáÝbK%vð—«dŠ X%«

©‰«dMO�®ÅÅÅÅÅÅÅÅÅÅÅpOÝU²Äp¹dÝsO�uzU"eð—«u"
  
TiO2  

Fe2O3MgOCaO(L.O.I)lLł

©“ö"uð—«®©XO³�¬®

v-“Ë bS—œ≤≥[¥±≤∑[∏¥±µ[π¥≥∞[≥µ∞[±∞[±µ∞[±∑±[∏∂∞[±∏±∞∞

¥‡‡Å

rAý qB%

U¼Ås¹dLð »«uł

± ÁœU� ‡‡ÅA ¥∑kg ÁœU�    B ¥∞[≥kg ÁœU�      C ±∏[∂kg

≤ÆbýUÐÅv� vJ¼¬ vMOÇ ‰bÐ U¹ vðUáÝbK1 vMOÇ ‰bÐ t-bÐ ‡‡Å

≥ ∫n@« ‡‡Å

  
WW =

100wd
100− MW

 tO�dð vK�ÅÅÅ‰UÐ —«bI� ∫»¥≤[±ÆbýUÐÅv� h<A� bŠ«Ë UÐ 

 œdłËdÐ  UáÝbK1 —«bI�      ±[∂ÆbýUÐÅv� h<A� bŠ«Ë UÐ 

¥‡‡Å

µ tÐ ◊uÐd� œbŽ                     ËÅÅ              ¨                     ‡‡Åz Ë vHM� ¨ u³H qÐUHÅdOžÆXÝ« ‰

∂ Á—ULý vK�Å‰UÐ dÖ« ‡‡Å± Ë ≤• Â«b�d¼ v1dB� bS—œ ÊuÇ b-uý UłÅÅtÐUł ≥∞vKJA� s¹«dÐUMÐ XÝ« 

Æœd� bM¼«u<- dOOGð œ«bŽ« Ë bý b¼«u<- œU−¹«

z = −13 / 9-   y = 87 -    x =152 / 3 -



ÅÅ±±µ

∑ ‡‡Å  c = 28 / 22    b = 42 /01     a = 29 / 68

r²H¼ qB%

U¼Ås¹dLð »«uł

±‡‡Å  SiO2 3 / 2       Al2O3 0/ 347  CaO0/ 312

  B2O3 0/ 777  MgO0/085

  Na2O0/ 603

≤‡‡Å

≥∫n@« ‡‡Å

∫»  SiO2 3 / 972       Al2O3 0/ 393  K2O0/ 301

  PbO0/ 699

¥‡‡Å  PbO1  Al2O3 0/067    SiO21/ 304 Á—ULý »UF@ dÖ“ ‰u�d1      ±

       
  
PbO1  Al2O3 0/147    SiO21/ 541 Á—ULý »UF@ dÖ“ ‰u�d1      ≤

 Á—ULý »UF@ œ—u� —œ≤ r¼ 
  
Al

2
O

3
 r¼ Ë 

  
SiO2Ë »Ë– tDI- ÂËœ »UF@ s¹«dÐUMÐ ¨b-—«œ ÈdðôUÐ ÂUH—« 

Æœ—«œ ÈdðôUÐ ÂUJ×²Ý«

r²A¼ qB%

U¼Ås¹dLð »«uł

± ‡‡Å

  
α = 4 / 57 ×10−6( 1

K
)

U¼bO0"«    
  
SiO2  

Al2O3PbOCaO
  
K2O

  
Na2O

v-“Ë • —«bI�µπ[≥∂±∞[∏±±[¥≤±≤[≥∑≤[ππ≥[∞∂

ÁœU� ÂU�      sO�uzU" UJOKOÝÅÅvÐ »dÝpOÝU²Ä  UáÝbK%eð—«u"lLł

“UO- œ—u� —«bI�µ[≥≤µ±[∑≥∂[∞µ∑[∂∑±∞∞[∑¥



ÅÅÅ±±∂

≤ ‡‡Å

  
α = 2 / 8 × 10−6( 1

K
)“« d²L� d
dð Ë gOK~
« V¹«d{ “« q�UŠ vð—«dŠ ◊U�³
« V¹d{ —«bI" 

ÆXÝ«  uý Ë sLKJM¹Ë “« Ábý q�UŠ V¹«d{

≥Å‡‡  u???ý Ë ÅÅs???L???K???J???M???¹Ë ”U???Ý«d??Ð α = 11/113 × 10−6( 1

K
)d???
d???ð Ë g???O???K???~???
« ”U???Ý«d??ÐÅÅÅÅ

  
α = 10/ 486 × 10−6( 1

K
)

rN� qB�

U¼Ås¹dLð »«uł

± ‡‡Å
  
32 /05m3

 Ë   32050l

≤ ‡‡Å  d = 6 / 3cm

≥ ‡‡Å  3333 / 3l

¥ œ«u" ‡‡Å±∏∑[µkg t8uKÖ         ≤±∞kg »¬           ∑µkg

µ“u
“ ‡‡Ål  ≤µ fOKOÝ ¨lÅ¥  UáÝbK@ Å¨lÅµ∂ “UO
 œ—u" »¬ —«bI" ¨∑µl

∂ ‡‡Å    NC = 41/ 38 ~ 41/ 4rpm

∑“UO
 œ—u" »¬ —«bI" ‡‡Å
  
3 / 7 l
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lÐUM� XÝdN%
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